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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Comprehension:
Study the following table carefully and answer the questions given below:

YEAR | TYPE | TYPE TYPE TYPE | TYPEY
I 1| 11 v

2000 26 G4 232 153 340
2001 45 &0 242 172 336
2002 72 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
TOTAL | 331 408 12468 1011 1033

fArfaf@a afesr &1 aaaeEiydes sreaaa 1 3 AT e
T gal & Il &

ay Y | ll |TEg lll|e=T IV| e=T V
I
2000 26 64 232 153 340
2001 45 60 242 172 336
2002 12 79 248 210 404
2003 81 93 280 247 411
2004 107 112 266 235 442
& 331 408 1268 1011 1933

SubQuestion No : 1

Q.1 Ifthe same percentage increase in the sales of Type I vehicles in 2004
Question ID :9888374361

Status : Answered
will be sold in 20057 Chosen Option :2

afe 9 gu esd | agal 1 FEam 7 2004 ¥ 2005 # g$
gi& T FEAad iaerd dg1 § S 2003 ¥ 2004 7 g5 g

1 gfderd &, ar 2005 & e fohdel @189 | aigeT 9 STdar?
Ans

over 2003 1s expected in 2005, approximately how manv Tvpe I vehicles




&1

- ¥ 2

< 3.
> 4

Comprehension:
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Study the following table carefully and answer the questions given below:

YEAR | TYPE | TYPE TYPE TYPE | TYPEYV
I 1| 11 v

2000 26 64 232 153 340
2001 45 &0 242 172 336
2002 72 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
TOTAL | 331 408 1268 1011 1033

fArfaf@a afesr &1 aaaeEiydes sreaaa 1 3 AT e
T gal & Il &

ay Y | ll |TEg lll|e=T IV| e=T V
I
2000 26 64 232 153 340
2001 45 60 242 172 336
2002 12 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
& 331 408 1268 1011 1933

SubQuestion No : 2

Q.2 The percentage increase m sales in 2003 over the previous year was

maximum for which Type of vehicles.

8 €59 & agal & v fOoer av T ge=r & av 2003
gs foshr b1 gfaerd 9 sifdsaa o

Ans

<1

X 2

Type III

el
Type V

SR

Type Il
3.
' HEENI

x

Typel
4.
MEEN

Comprehension:

Question ID : 9888374359
Status : Answered

Chosen Option : 3




Study the following table ca:eﬁ;ll}mﬁﬂgv

YEAR TYPE | TYPE TYPE TYP

I 1 118 IV
2000 26 64 232 153 340
2001 45 60 242 172 336
2002 72 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
TOTAL 331 408 1268 1011 1033

fArafafaa afee &1 aeaEgds sreaaa &1 3 A9 o

T YAl &I Icad &

PR aieEcTh
E TYPEV

a¥ ey | g ll |eEev lll|e=T IV| e=q V
I

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 12 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
& 331 408 1268 1011 1933

SubQuestion No : 3

approximately 25% of the Type V vehicles?
8 ay 99 91T 8T || agell & AT oY AU 239 Vo agal
I TEAT & I 25% off?

Ans o 1 2004

x 2. 2000
x 3. 2002

* 4. 2003

Comprehension:

Q.3 In which of the following years was the Sales of Type II vehicles

Question ID : 9888374358

Status : Answered

Chosen Option :1




Study the following table careful

YEAR TYPE | TYPE
I 1 118 IV

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 72 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
TOTAL 331 408 1268 1011 1033

RN (SRMT R WL (REEI[S ORI
TYPE | TYPE | IYPEV

fArafafaa afee &1 aeaEgds sreaaa &1 3 A9 o
AT gl & Icca &

a¥ ey | g ll |eEev lll|e=T IV| e=q V
I

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 12 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
& 331 408 1268 1011 1933

SubQuestion No : 4

Q.4 The number of Type I vehicles sold in 2003 was approximately what

Ans K 1. 10

Q5

percentage of the total number of vehicles sold 1n 20027

2003 & 99 10 <189 | digat $T Ear 2002 & $° 1T dgar
T Fol TEAT T oA b wicerd 2f?

X 2 11
X 3.9
o 48

A question and two statements labeled (I), (IT) are given. You have to

decide which statement(s) 1s/are sufficient to answer the question.

Gowtham ranks eighteenth in a class. What is his rank from the last?

I There are 47 students i the class.
II. Jegan who ranks 10t in the same class. ranks 38 from the last.

AT e g 3T g Fua--(1) AR ()T 1w §) 31 7%
ol o § 6 99 &7 3 ¢l & folv Sla-anslaa Fua

e 3

Fitgsw $r e Fam A7 ongdi g1 fS T 3adr & Far g7
I. e 3 47 ©rT g
II. S9re @ A 1047 ¥ W g, 3 3k 3 9 @ 384

2l

Question ID : 9888374360
Status : Answered
Chosen Option : 4

Question ID : 9888374363
Status : Answered
Chosen Option :3




Ans

Statement II alone is suffids ps//haryanaJObS|n

1.
o 3Thelr e || At gl
Statement I alone 1s sufficient.

xzaﬁf»rrwlqa‘rvcr?ﬂ

5 Either I or II alone 1s sufficient.
T oograr | ar Il e 9 g

Both the statements together are needed.

x4'drrﬁ FUAA IETF L

Q.6

Arrange the given English words in alphabetical order and choose the one that comes first.
few gu sirs weel &1 3 aviarer & w1 7 =Eiad = gad & a9 ggel
e arer Uusg |

Question ID : 9888374334
Status : Answered

Ans x 1. Actuate Chosen Option : 2
- Actua
W 2. Account
< 3. Accumulate
/< 4. Achieve
Q.7 As per the Constitution of India. who 1s authorized to transfer the Judge of one High Court to another?
AT ¥ TR ¥ IAEN, 39 SOReR F Rl s 1 e ok @ Question ID : 9888374266
Al S9TE Fa & e Ple aEa gar §7 Status : Answered
Ans x The Chief Justice of India Chosen Option :2
1.
AR & HETI =grareier
v The President of India
2.
T AR & yeedfd
x 5 The Prime Mimster of India
T & THTTHAT
x Any of the Judges of the Supreme Court
4.
3Tadd AT & $is oft =amarefer
@8 UNITAR stands for - Question ID : 9888374289
{[\T\’Hmﬁﬁiﬂl ﬁﬁ b P Hi&l C Fq;f"r? Status : Answered
Ans x 1. Chosen Option :3
United Nations Initiative for Total Agricultural Readiness
geArses ey sfafRiufed o ded valemeddel B
52
United Nations Initiative for Transport Readiness
qATSes Aled SeifRiufed B giEdie Eed
v 3.
United Nations Institute for Training and Research
Ielges w2+ iEccde B ¢l Us Rad
X 4
United Nations Institute for Transport and Agriculture Research
IATSCE o2y SfEeede B giaue Us vdfidedt Ry
Q.9 Choose the most apt option. Question ID : 9883374253
Fruits preserved in cold storage last longer, because — uestion ID -
Status : Answered
98 I9gFd [qhed T .
L E) Chosen Option : 3
Fles TR A T wel o« THT d ddd o FAIh -
Ans

exposure to humidity 1s increased

R et S e ¥ wTE A




X2 f’“‘“‘em‘i’”mﬁﬁp% //haryanajobs.in

el 3E ST A W@ g

t.he rate of respiration of Fruits 1s decreased

more oxygen is available %.

#a 3ifers 3RS 39esy gidl &

Q.10 Who among the following was conferred the 2015 Sanctuary Legend Award?

Fafafad # & & dagd ofiels [WErR-2015 A gFATfd R arr?
Ans Ashok Kumar

Question ID :9888374262
Status : Answered
Chosen Option :1

Y teits B
Varad Giri
e Al
Viral Joshi
faer Sref
Anurag Kumar
F 3 HeRT BAR

X2
K3

Q.11 Which of the following is equivalent to 056 ? (the bar indicates repeating decimal)

fAefaf@a & @ Fla-ar 056 & TR &7 (IR ceed B gk # aufdr #1)

Ans ‘,1%

99

Question ID : 9888374297
Status : Answered
Chosen Option :1

xz 56

1000

Ks@

S0

X4E

100

Q.12 Rearranging the letters “AKBLU™, we get the capital of

“AKBLU" & 31aRT & qaedaieed adel W I§ ger &r
TAYTeT doT 1T g1

Question ID : 9888374353
Status : Answered
Chosen Option :1

Ans o Afghamistan
HHMEEd=

Bahrain

Q.13 In2015. a special semi-luxury train covering Jaisalmer, Jodhpur & Jaipur was launched by the IRCTC.
What 1s the name of this train?

FEHRAERT e@mr av 2015 # SHeL, gyl HR Fa9L gl A= arell U a9y
FHT-AE & oF T S off) 3 ST F A A §

Question ID : 9888374280
Status : Answered
Chosen Option :3

Ans Desert Circuit

V' s afie
Desert Queen
2T T
Rajasthan Darshan
qreTEATe geed
x 4 Fajasthan Queen
STl Fdled

K2

X3




Question ID : 9888374300
Status : Answered

3341 gur 3328 &1 HAeFe AT FIfdT|

Ans X" 1 257 Chosen Option :2

Q14 Find the HCF of 3341 and 3328. https://haryanT'obs.h '

v 213
< 3.337
X 4.31

Q15 Hema takes a total of 9 hours 55 min to walk a certain distance and then cycling back to the same place

from where she had started. She could walk both ways in 12 hours 30 min. The time she will take to cycle Question ID : 9888374309
both ways is:
T T gl 1 e o7 w0 S wEfee @ 9w aesm T O 3 & g 9 Status : Answered
W 55 fAme #1 o ¥ o et A @ g doe 12 6 30 e & aw aw Chosen Option :1
el §1 AT W Gl AR F1 AEA TF FE 7 3 Pl el TAT FII?

Ans 7 hour 20 min

1.
v 7 Her 20 @ec
x 7 hour 15 min

2.
7 der 15 @ac
x 7 hour 45 min

3.
7 Her 45 @eac
x 7 hour 35 min

4,
7 HeT 35 @ee

Q.16 Inafood chain, what is the difference between primary consumers and secondary consumers?

TS Wie ATen § wAHEG Iusiaani s gfadae susieanit # Far e 32 Question ID : 9888374273

Ans x 1 Status : Answered
Primary consumers eat plants and other consumers; secondary consumers eat plants and decomposed Chosen Opthn 2
matter
grerfe Iqeiiear dter 3R sew susieant @ @ §; efadee Iusier dter s
Fuefed wert @ §

52

Primary consumers eat plants and decomposed matter; secondary consumers eat plants and other
COonswmers

g susiiedr dlel H smafed gerd @ § afade 3usiear 9t st s
UAFATHT B @ §

53

Primary consumers eat other consumers; secondary consumers eat only plants

qIAfAF IUAFAT ey IuMFaH H @id §; gadad ITHFD haa die @

v &

Primary consumers eat only plants; secondary consumers eat primary consumers

grafas Iqsiear dad Ot @t & gfadae sosiedr wafEas sgsEdast & @ §

Q17 Who discov 2
o discovered Electron? Question ID : 9888374278

sﬁaﬁ?r 1 @ g &1 of? Status : Answered

Ans Ernest Rutherford Chosen Option :3

R e TS
Niels Bohr

* otew A
J. I Thomson

3. "
i I [ PaPar
Albert Einstein

F 3 5 -

x
v

Q.18 Which Schedule of the Constitution of India lists the States and Union Territories of India?

ARd & "faud & Fa-8 g ARa F Todt 3 Fu afda gl w1 gdee Question ID : 9888374265

Eznidd
Ans Third Schedule

x1'?ﬁﬂﬁ3ﬂ?ﬁﬁ

Status : Answered
Chosen Option :3




Fourth Schedule
X 2 Hefr 3reerer

First Schedule
Vs el SR

Second Schedule
7 G s

https://haryanajobs.in

Q.19 Which of the following 1s a device designed to protect electrical devices from voltage spikes?

T F @ Fla-ar sueor 39 & 39 FF dlees H 3OS gl a gedl o

Ans

F R

Heat protector

G [ol* | I ek

‘oltage unloader

Za’lﬁaaﬁﬁﬂﬁ

Current unloader

" Fte IR

Surge protector

e o

<
<
v

Question ID :9888374274
Status : Answered
Chosen Option : 1

Q.20 Each exterior angle of a regular polygon measures 9°. How many sides does the polygon have?

U wHEgHS A Yold S R0 9° B 34 WeEges A el f dear fhaed @7

Ans

X136
< 230
X 3 45
W 4 40

Question ID : 9888374320
Status : Answered
Chosen Option : 4

Q21 Vishnu travelled equal distances at speeds of 10 km/hr._ 30 ki/hr. and 8 km/hr._ and took a total of 15.5
minutes to complete. Find the total distance he travelled, in km_

Tasop waen 10 fEeieer, 30 freiveer aun 8 fasiger 1 arer & auet gl ag w4
gU &el 15.5 fAde & e wtar §1 36% c@mn qu F g wo gl Rl A aa

Ans

]
X 12
X 21
Vi3
X 44

Question ID : 9888374310
Status : Answered
Chosen Option : 3

Q.22 Abhinav Bharat Society of revolutionaries was organized by -
AT 1 Fee AT qIRT FT TS S calT FAT 137 o0 -

Ans

Mahatma Gandhi
Bhagat Singh
2.

T e
, Vinavak Savarkar
BCCicak:icrery
. Jawaharlal Nehm
ECIRGIGEGRES

F

x

v
x

Question ID : 9888374290
Status : Answered
Chosen Option : 3

Q.23 Mr Kiran sold a bus for Rs. 18.700 at a loss of 15%. At what price should the bus be sold to get a profit

Ans

of 15%7?

foptoT & 15% @Il 9X 18,700 9 # U= oF 91 15% @y 9 & fov 38 3§ a9

F forw Aeg T =T AR
Es 25300
Y & 25300

Question ID : 9888374314
Status : Answered
Chosen Option : 1




) Es 25523
'®. 25,523

Rs 253522
" & 95599
>

x

, Rs.25.521
& 25,521

https://haryanajobs.in

Q24 In October 2015, more than 350 landmarks in more than 90 countries were lit blue, the official colour of
the United Nations. What was the occasion?

FagaR 2015 F 90 ¥ 3T gaf #r 350 & ¥ FAgcaqel e #r @gFd U5g H/E
& INfERE el T | geifd far mar an a8 5 3ee W fEar = ar?

Ans 90t Anniversary of United Nations

Question ID :9888374244
Status : Answered
Chosen Option : 2

o HgFd g ST 90dT avares
70t Anniversary of United Nations
Hgerd T FH1 7041 aueis
60t Anniversary of United Nations
HgFd g &1 60dT avans
50t Anniversary of United Nations
HgFd g @1 50dT avans

Y &3

F 43

54

Q.25 ‘Which of the following countries launched the World’s most powerful GEO Spy Satellite — the “Gaofen
47

et & & R v & g % aad afFaue o § 3 T 3T A
4" & gagor fmar?
Ans

Question ID : 9888374263
Status : Answered
Chosen Option :1

Bussia
1.
x *H

United States of America
2. .

TgFd T AR
China
i

India

4.

x HN A

Q.26 Complete the analogy
3:11::7:

TTET Bl I

Question ID : 9888374330
Status : Answered
Chosen Option :1

117
Ans  of 151

X 2.29

X318

X424

Q.27 Who among the following is the current Lokavukta of Delhi?
et & & e & adae diergad $ia &2

Ans Justice Reva Khetrapal

Question ID : 9888374288
Status : Answered
Chosen Option :1

v A a1 @AdTe
Justice Manmohan Sarin

Xz “ORIHIA AHg Gl
Justice Mohd. Shamim

xg'mmﬁaﬁﬂ’r. T




4 Tustice Rajendra Nath Aegiipt) s //haryanajobs.in

F AT [olg A1 JIAare

o

Q.28 A shopkeeper cheats to the extent of 10 % while buying and selling fruits, by using tampered weights.
His total gain, in percentage, is:

afE & gHEEER B WG 3 dEe F FA dta & I aE 10% @
& &, o 3@ For amy giowd § -

Question ID : 9888374315
Status : Answered
Chosen Option : 3

Ans 1.2
X224
V321
X423

Q.29 A woman invests Rs. 2000 at the start of each year at 5% compound interest per annum. How much will
her investments be at the end of the 22 year?

e AR yodd a¥ H1 gwd A 5% aifiis &1 wehgfe sare X W 2000 F9A 1
e &l 1 @y af & 37F F 37 For Waer fhden gome

Ans

Question ID :9888374321
Status : Answered
Chosen Option : 2

4355
. 4355
4305
&, 4305
430

& 430

4350
& 4350

Q.30 Ifa Panchayat 1s dissolved, elections are to be held within -
afe; @I gerad #191 g1 e ot g gl Silel 9ifgu -

Ans Two months from the date of dissolution

Question ID : 9888374254
Status : Answered
Chosen Option : 4

X g g A @ @ TR ¥ R
Twelve months from the date of dissolution

ST gle T ali@ ¥ IR Al & 3ol
One month from the date of dissolution

U st 9 A @ UF TR ¥ s

vy S1x months from the date of dissolution

#9T gl Y Al § ©F #@Gl & el

K2
x

Q.31 In 2013, the United Nations Climate Change Conference was held at -
¥ 2015 3 FYFT US¢ Faarg TRacs FEere Jgf smnfea fmar g e -

Ans Pans

Y e

Question ID :9888374287
Status : Answered
Chosen Option :1

Doha

Montreal
K3

HifeTeT

Copenhagen
4.

PRI

Q.32 Who among the following 1s the current CEOQ of NITT Aayog?

AT 3T & adaT O § 31 Faefaa F a w9 g7
Ans Arvind Panagariya

Question ID : 9888374261
Status : Answered
Chosen Option : 2

F R . -




x o, Arvind Svbramanian - hitg://haryanajobs.in

3Rfde

e

. Amitabh Kant
W 3. Sindhushree Khullar

x4'ﬁgﬂﬁw

Q.33 Which of the following 1s the first country to become Carbon-Negative?
o & & Sla-ar & UgeT FEA-Hafed &er 941 82
Ans x ] Canada
chellsT
United States of America
* wgwa wsw G

Bhutan
v e

K4

Poland
qrels

Question ID : 9888374257
Status : Answered
Chosen Option : 3

Q.34 Mr. Mike borrowed Rs. 8500 at 4% per annum compound mnterest. The compound interest compounded
annually for 2 years 1s:

AEH AwGRE ST B 4% AMGH et 9 8500 FIY FUR AT F1 2 a9 F awdrE
STl T BN AT =rel arfiish @Afora ghar 87

Ans
K o036
s a0
s 6o
Ko 1306

Question ID :9888374312
Status : Answered
Chosen Option : 3

0.55x4.5,
081

T AT FAT &7

Q.35 .
What 15 the value of

0.55 =45
0.8

Ans : 55
1. =
v =
X 2,305
55
3. =
< S

X 43555

Question ID :9888374296
Status : Answered
Chosen Option : 4

O Simplify: (2x)° ~(2p)" —(4x
Fe BT (20 —(29) —(4x)
Ans X 112074y

X2 120714y
<3 1200yt
Y AE e

Question ID : 9888374318
Status : Answered
Chosen Option : 4

Q.37

Question ID : 9888374351
Status : Answered
Chosen Option : 4




Ans

Below are given statements followed by sﬁtf gv?ﬁfélfzach aJ (@) bS . I n

take the given statements to be true even 1f they eem to be at vart

with the commonly known facts and then decide which of the given
conclusions logically follow(s) from the given statements.

Statements :

All poets are readers. No reader i1s wise.

Conclusions:

I : No poet 1s wise.

II : All readers are poets.

A F@ wUd IR 3o fAved QU aw §) 3T 59w
H T AAAT § e & d WHAIA: Al a2l § e e
gl, 3 X ¥ aa @ § & U av #la-d s sa
FAT & difehed T T Irelel HLd gl

YA

A3 Ff Only conclusion IT follows.

sk et IS 1| it el

| - @IS Both conclusions I and TI follow.

i | 3 11 2t arer @ E
Neither conclusion I nor 1T follows.

KPS'HFﬁﬁEF‘Gr[I&ﬂTHg’IIIWWTﬁI

Only conclusion I follows.
i, -

Fael sy | grere wear 2

Q.38

Mr. Murthy invested Rs 16,000 in a scheme. How much will he get on matunity, if he invested it at 20%
per annum compound interest for 9 months, compounded quarterly?

Afd w dretar 7 16,000 T A AT 81 9NEFEar g 9t 3 Fel e ufar
gred gl I 36+ W% o= 9 AE! & v 20% aiffF wRgfy sae 1 g W
T #r ¥ iR s e gafeia gar g7

Question ID : 9888374313
Status : Answered
Chosen Option : 2

Ans - Rs 18521
~< 1
& 18,521
Es. 18,322
v ’
- % 18,522
- Rs 18523
3.
" w. 18,023
. Rs. 18524
Xe o7
. 18,524
Q.39 A question and two statements labeled (I), (I) are given. You have to

decide which statement(s) 1s/are sufficient to answer the question.

What is Guna’s age?

Question ID : 9888374362
Status : Answered
Chosen Option : 1

I Guna, Vinay and Keshav are all of the same age.

II. Sum of ages of Vinay, Keshav and Arjun 1s 32; also Arjun 1s as old as
Vinay and Keshav together.

AT e g 3N g Fud-—(1) 3R (I)-w v &1 31+ 78
Aol der & @ 3@ 9ed &1 3o o & fov slaansiaa

Fod AT B/l

AT T I FAT §?

I. 377, faea 3R Fea A=t @A 3T & E

. Taerr, sherd 3T 3rele T 33T &1 AET 32 §, 3R I
#1 3 @eTT v FAT T I F AT F R/ L




Are g Both the statements mg*‘-ﬁ’fﬁp@ﬁharyanajobs. in

eIl elel 3aed® g
Statement IT alone 1s sufficient.

ne2 3iehell e || gaed gl
x3 Either I or II alone are sufficient.
T gt | ar |l 3 9aTd g

Statement I alone 1s sufficient.

X4'3ﬁf»rrwlw‘rvcrﬁl

Q.40 In2004, NASA launched the Messenger Spacecraft to study -
af 2004 #F Hrar & T T A el & forw Sdeg siaiere gaifg
T am)

Ans Pluto

X1'L—c~|t°r

T

Jupiter

JeEdid

, Mercury
qY

=

X4.S
2

X 2.

v

aturn

et

Question ID : 9888374281
Status : Answered
Chosen Option :3

Q.41 The Ajanta Cave Paintings are a testimony to the golden age of in India.

ST T & A ARG/ F F@O G & FAHT gl
Ans X1 Va.ishnm:ism
dSuTg-HYe
ZShaivism
a-gugH
3Buddhism
dlg e

Jainism
F 3 N

x
v

Question ID :9888374271
Status : Answered
Chosen Option : 3

Q42 A mobile plan costs Rs 32 for 6 minutes. What is the approximate cost. in rupees, for 4 minutes?

A v AEEd e & 6 B & few 32 w9 §, o 4 fAee f Fog v #
wraTsTer T ghef?

Ans o 12130
X 2.21.50
X 3.21.20
X 42140

Question ID : 9888374304
Status : Answered
Chosen Option :1

Q.43 Type of afile in a computer can be identified by the

Fo 3 R BIEA FT IFR 58S ¥ UEEIET ST HWehall g

Ans x 1 File size

Misel sl

File path
IS 9T

Folder name

3.
qi'lo‘ﬁ{ adlH
File extension

v g

IS TFHCer

X2
x

Question ID : 9888374275
Status : Answered
Chosen Option : 4

Q.44




‘The Mahabodhi Temple Complex, which 1s one of the four joly gijes related life of the Lord . . i -
B g Come Attps./Tharyanajobs.in =5l
Ter

SETEl g8 & Sftael @ Haiid an ofdT et # F ue AgEife
Ans = x  Tamil Nadu

x1'a1ﬁflﬂ?|1§

x 5 Deltu
Karnataka

F 3

Status : Answered
Chosen Option : 2

Q.45 A water tank has two holes. The 1% hole alone empties the tank in 9 minutes and 27 hole alone empties
the tank in 6 minutes. If water leaks out at a constant rate, how many minutes does it take if both the
holes together empty the tank?

el & v & A 2 g €1 ugen By ¥ 1 Fher 9 e 7 @relr war g AR
cau g EF #1 arbar 6 Aae A @l Far g1 afg 9l & g fr o R
ar gt Bt ¥ v @y e g W iF frad e 7 @l g swen?

Ans x1_3i
3
'}(2.3‘;‘_

4 3
3.2

X3 2

\f4.3%

Question ID : 9888374306
Status : Answered
Chosen Option : 4

Q46 In which coast was the World’s largest Marine Protected Area (MPA) created in October 20167
FHeFgat 2016 3 glaar &1 a3t asT WAA WET &7 (W1 9 v) a de woaEmr
IJAT AT?

Ans w Antarctica
1.7
Herhfear

Question ID : 9888374258
Status : Answered
Chosen Option :1

Q47 What is 15% of 34?
34 FT 15% F41 §7
Ans x 1.5
V251
X349
X452

Question ID : 9888374319
Status : Answered
Chosen Option : 2

Q.48 How many Indian States and Union Territories share the Indian coastline?
frcat R Tl i T AR SRe & wE-ae I 82
Ans x 1 12 States and 3 Union Territories
12 T R 3 T enfad uger
) 9 States and 5 Umion Ternitories
9 7o 3R 5 @w enfad ugEr

5 States and 3 Umion Territories

3'5m3ﬂ13#€ranﬁm9ﬁ¥r

v
x

Question ID :9888374292
Status : Answered
Chosen Option : 2
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7 U= 3R 5 §@9

Q.49 Find the similarity among the following:
Makar Sankranti, Pongal, Lohr, Baisakhi
[Ferfof@d & &g gaAEar ge:

Ans x There 1s no similanty at all
1.
3T TF F P FAWAT AL &

All are names of harvest festivals

(2'1?51"[%«?1 $Tr FeE & ddfad ER €

K3 All are festivals of North India
@sf 3cat 9RA & AR ¥
X 4

All are festivals celebrated 1n the month of January
Tl SeAadl & HAgl H AAT oA dlel Al &

Question ID : 9888374343
Status : Answered
Chosen Option : 2

Q.50 Which team won the 2015 Pro Wrestling League title?
fohe & = 2015 o Feclr offer 1 f@dE Siar?

Ans Haryana Hammers

x Bengaluru Yodhas
3.
el TG
X 4 F{unjab Itoya_ls
Talld 1™ ed

Question ID : 9888374248
Status : Answered
Chosen Option :1

Q.51 If the signs “+’ and‘+"and the numbers “2° and ‘4" are mnterchanged, which one of the following four
equations would be correct?

Ifg feer '+ 3T+ F g TEar 2 ud ‘4 F T WEH g6l 61 Srar g, dr

TrAfafEd 9R T # ¥ Fia-ar a8 e
Ans o 1.2+4+6=8
X24:2+3=6
X3 4+42+6=15
XKa2+4+3=3

Question ID : 9888374340
Status : Answered
Chosen Option :1

Q.52 Which is the correct ascending order of the given numbers?

& Y dEmst F e A O #la-ar 3y s agr 87

A
ns F R l, 0.33 ,i
15

3
x 2. % A o3

Question ID : 9888374295
Status : Answered
Chosen Option : 4

15
& 3.0.33 ,i, !
15 3
W 4 i 0.33 l
15 3
Q53 ional mum
All rational bers are - numbers. Question ID : 9888374299
st ufer deard &g gl Status : Answered

Ans

Chosen Option : 2
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Q.54 IFENTRY is coded as 98462 and STEADY is coded as 749312, then how is NEATNESS written in that
code?

afg o FE T # ENTRY &1 98462 wa STEADY &I 749312 & w7 & fomr
SITar g, af 38 @18 # NEATNESS & && fer@r smean?

Ans  of 1. 89348977
X 2. 89349877
X 3. 89648977
X 4. 89438977

Question ID : 9888374338
Status : Answered
Chosen Option :1

Q55 In 2015, which of the following banks was the first bank to tie up with Indian Railways to sell rail tickets
through their website?

2015 & ol & @ Fia-ar 36 A9 d9uEe & Aegd U i@ The S99 F v
AN 3T & I 3 arell gel d 417

Ans X 1 HDFC Bank
Ug 2 U O I
ICICI Bank
Y s @ s s g
x s Punjab National Bank
GSTg STeT dh
State Bank of India

x4'ﬁf§$3ﬁmgﬁm

Question ID :9888374267
Status : Answered
Chosen Option : 2

Q.56 Two numbers are in the ratio 3:3 and their HCF is 20. Their LCM is
IiE &1 TEATHT & U 3:5 AT Ho Fe 20 §, TT 3T ol Ho §:

Ans X 1. 60
v 2300
< 330
X 410

Question ID :9888374302
Status : Answered
Chosen Option : 2

Q.57 QOptical fiber works on the principle of -
JHifCeeher wIsat 3T fAgid W T FLdr § -
Ans Diffusion
F R
IGESEU]
Refraction

qade

w Total Internal Reflection
3. .

quT HidRe® 9ade
X 4 Scattering

gehrofe

K2

Question ID :9888374252
Status : Answered
Chosen Option : 3

Q.58 If A denotes +, B denotes x, C denotes + and D denotes —, then which of the following statements is
true?

afg A @I +, B @@ %, C & + duf D &N — Hehfad ¢, df 304 & Fher-ar
FAT TH 7

Ans o 1. 9CO9A9D9BO=—_T1

Question ID :9888374339
Status : Answered
Chosen Option :1
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. 173
X3 6BIBD26AI3CT= -

5 3
X a 32C8A16D4=—"

Q.59 1 1 1 101 7
Which of the following 1s the religious text of the Jews? Question ID : 9888374284
fAr & @ agfeat 1 arfds frae Sla-dr g7 Status : Answered
Chosen Option :1
Ans J 1 Torah
. Tripitaka
X2
X3 Dhammapada
HFHYG
. Guru Granth Sahib
X 4. T Ter Triar
Q.60
. Question ID : 9888374305
Ans x . uestion
Status : Answered
x 2. Chosen Option : 4
X 3.7
v 3
Q.61
. Question ID :9888374365
Ans x . uestion
Status : Answered
“ 2. Chosen Option :3
X 3.
X 4.
Q.62
tion ID : 9888374259
Ans “ . Question
Status : Answered
x 2. Chosen Option :1
X s
X 4.
Q.63
; tion ID : 9888374272
Ans x N Question
Status : Answered
X 2. Chosen Option :2
v
F 3
Q.64
) tion ID : 9888374255
Ans x N Question
Status : Answered
v Chosen Option :2
X s
F 3
Q.65
Question ID :9888374333
Ans

“ 1. Status : Answered
X 2. Chosen Option :1
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Q.66 Question ID :9888374301
estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option : 3
v
F
Q.67 Question ID :9888374250
estion ID :
Ans X 1. -
Status : Answered
{ 9 Chosen Option : 2
X
F
Q.68 Question ID :9888374329
A « . uestion ID :
Status : Answered
X 2 Chosen Option :1
X
F 3
Q.69 Question ID : 9888374251
s X . uestion ID :
Status : Answered
X 2 Chosen Option : 4
X
(4.
Q.70 Question ID :9888374282
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option :3
v &
X
Q.71 Question ID : 9888374316
estion ID :
Ans { 1. -
Status : Answered
x 2. Chosen Option :1
X
x4
Q.72 Question ID :9888374308
estion ID :
Ans X 1. -
Status : Answered
x 2. Chosen Option : 3
s
x4
Q.73 Question ID :9888374328
estion ID :
Ans « 1. -
Status : Answered
X 2. Chosen Option : 1




Q.74 .
httpS//haryan Question ID :9888374341
Ans X 1.
Status : Answered
x 2. Chosen Option :3
Vs
X
Q.75 Question ID :9888374303
e x . uestion ID :
Status : Answered
x 2. Chosen Option : 3
s
X
Q.76 Question ID :9888374345
e ( . uestion ID :
Status : Answered
X 2. Chosen Option :1
X
F
Q.77
e X . Question ID :9888374342
Status : Answered
X 2. Chosen Option :3
X
{4.
Q.78 Question ID : 9888374326
o X . uestion ID :
Status : Answered
« 2 Chosen Option : 2
X
>~ 4.
Q.79 Question ID :9888374298
- X . uestion ID :
Status : Answered
X 2. Chosen Option :3
&
F.
Q.80 Question ID :9888374364
o { . uestion ID :
Status : Answered
X 2. Chosen Option : 1
X3
X
Q.81 Question ID :9888374325
ol X . uestion ID :
Status : Answered
x 2. Chosen Option :1
x s
v
Q.82 Question ID :9888374243
. ( . uestion ID :
Status : Answered
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X 3.

54
Q83 Question ID :9888374291
Ans x 1. Status : Answered

( 2. Chosen Option : 3

X 3.

54

Comprehension:

SubQuestion No : 84

Q.8
4

Ans x1.
v 2
53
54

Question ID : 9888374348
Status : Answered
Chosen Option : 2

Comprehension:

SubQuestion No : 85

Q.8
5

Ans of 1.
52
53
54

Question ID : 9888374350
Status : Answered
Chosen Option :1

Comprehension:

SubQuestion No : 86

Q.8
6 Question ID :9888374349
Ans x 1. Status : Answered
) Chosen Option :4
X2
X s
¥4.
Q.87
Ans J Question ID :9888374249
t Status : Answered
x 2. Chosen Option : 1
X s.
54
Q.88
Ans J Question ID : 9888374346
t Status : Answered
x 2. Chosen Option :1
X s
54
Q.89
Ans Question ID :9888374245
X Status : Answered
x 2. Chosen Option : 4
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Q.90 Question ID :9888374311
estion ID :
Ans ( 1. -
Status : Answered
x 2. Chosen Option : 1
X
F
Q.91
e « . Question ID : 9888374285
Status : Answered
X 2 Chosen Option : 2
X
F
Q.92 Question ID :9888374337
e « . uestion ID :
Status : Answered
X 2 Chosen Option :1
X
F 3
Q.93 Question ID :9888374246
. X . uestion ID :
Status : Answered
X 2 Chosen Option : 4
X
(4.
Q.94 Question ID :9888374276
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option :3
&
F.
Q.95 Question ID : 9888374336
estion ID :
Ans X 1. .
Status : Answered
x 2. Chosen Option : 4
X
«4.
Q.96 Question ID :9888374264
estion ID :
Ans ( 1. -
Status : Answered
x 2. Chosen Option :2
~ s
F
Q.97 Question ID :9888374317
estion ID :
Ans x 1. -
Status : Answered
X 2. Chosen Option :3




Q.98 -
: httpS//haryan JObSIn Question ID : 9888374269
Ans x 1.
Status : Answered
x 2. Chosen Option : 3
v
X 4
699 Question ID :9888374247
estion ID :
Ans ( 1. uest
Status : Answered
x 2. Chosen Option :1
X 3.
X 4.
Q.10
0 Question ID :9888374322
Ans x 1. Status : Answered
. Chosen Option : 3
X2
&
54
Q.10
1 Question ID :9888374327
Ans ( 1. Status : Answered
. Chosen Option : 1
X2
X s
F 3
Q10
2 Question ID : 9888374307
Ans x 1. Status : Answered
Chosen Option : 2
v
X s
X 4.
Q.10
3 Question ID :9888374294
Ans x 1. Status : Answered
. Chosen Option : 3
X2
V&
F 3
Q.10
4 Question ID :9888374279
Ans  of 1 Status : Answered
. Chosen Option : 4
X2
X 3.
X 4.
Q.10
5 Question ID :9888374335
Ans  of 1. Status : Answered
Chosen Option :1
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Q.10
6 Question ID :9888374277
Ans “ 1. Status : Answered
. Chosen Option : 1
X2
Xs.
X 4.
Q.10
7 Question ID :9888374332
Ans J 1. Status : Answered
; Chosen Option : 1
X2
X 3.
54
Q.10
8 Question ID : 9888374286
Ans X1 Status : Answered
. Chosen Option :1
X2
X s.

Comprehension:

SubQuestion No : 109

Q1
09

Question ID :9888374355
Status : Answered
Chosen Option :4

Comprehension:

SubQuestion No : 110

Q1
10 Question ID :9888374356
Ans “ 1. Status : Answered
) Chosen Option :1
X2
X s
X 4
Q.11
1 Question ID :9888374323
Ans x 1. Status : Answered
Chosen Option : 2
v
X 3.
54
Q11
2 Question ID : 9888374344
Ans x 1. Status : Answered

Chosen Option : 3
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Q11
3 Question ID :9888374283
Ans « 1. Status : Answered
Chosen Option :1
X2
X
X 4.
Q.11
4 Question ID :9888374324
Ans ( 1. Status : Answered
Chosen Option :1
X2
X s
~ 4
Q11
5 Question ID : 9888374256
Ans X1 Status : Answered
Chosen Option : 4
X2
X s
(4.
Q11
6 Question ID : 9888374352
Ans x 1. Status : Answered
Chosen Option : 2
" &
X s
X 4
Q11
7 Question ID :9888374331
Ans ( 1. Status : Answered
Chosen Option : 1
X2
X
X 4
Q11
8 Question ID :9888374293
Ans X 1. Status : Answered
Chosen Option : 2
v
X
X 4
Q.11
9 Question ID :9888374270
Ans x 1. Status : Answered
Chosen Option : 1
X2
X
4
Q.12
0 Question ID :9888374268
Ans  of 1. Status : Answered

Chosen Option : 2
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53
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 entered the Guinness World Records for recording the highest number of songs in several
languages. Question ID : 9888374390

Ans X 1. Shankar Mahadevan Status : Answered
: ; Chosen Option :3
/5 2. Sameer Anjaan osen Option

W 3 P Susheela
75 4. Kavita Krishnamurthy

Q.2 1 izcinli
Space research does NOT include the discipline i Question ID - 5683374409

Ans  of 1. Human culture Status : Answered
K' 2. Physics Chosen Option :1
75 3. Biology

/< 4. Earth science

Q.3 A question and three statements labeled (I), (I) and (III) are given. You

have to decide which statement(s) 1s/are sufficient to answer the question. Question ID : 9888374487

Status : Answered
Chosen Option : 4

Question: How many people are in the queue?
Statements:

I. A man is 3 from the beginning of the queue.
II. A manis 20% from the center of the queue.
II. A man is 7% from the end and 14% from the beginning.

Select the right option from the following.
Ans X' 1. Ounly statement II is sufficient.

75 2. Only statement [ is sufficient.
75 3. Data inadequate.
Qf 4. Only statement I11 iz sufficient.

Q4 Chlorefluorocarbons are not used in Question ID : 9888374382

Ans X' 1. Refrigerators Status : Answered




MW : . 1 1¥ishosen Option :2
W/ 2 Mixer and grinders https://haryanajobs.ifi"="
7 3. Air conditioners
75 4. Packing materials
Q.5
Coplete thie gy Question ID : 9888374451
Illiterate : Educated :- Flood : Status : Answered
Ans x 1. Ramn Chosen Option :2
o 2. Drought
X 3 Well
X 4. River
Q.6 Archery is the national sport of which one of the following countries? Question ID - 8888374379
uestion .
A 4
ns X 1. Turkey Status : Answered
5 2. China Chosen Option : 4
+ 3 Bhutan
75 4. Japan
Q.7 Choose the best option and fill up the blank: )
‘Ethnic” group of people, more appropriately, refers to people with a Question ID : 9888374388
. Status : Answered
Ans X 1. same behavior ,
Chosen Option : 3
o 2. shared culture
75 3. same genetic identity
75 4. same nationality
Q.8 Which one of the following statements is incorrect? Question ID - 9888374418
Ans l’ 1. Rational numbers do not include fractions. Status : Answered
x 2. Chosen Option :1
Eeal numbers which are not rational must be wrrational.
75 3. A real number is unique.
>~ 4
Real numbers can be added, subtracted, multiplied or divided.
Q9 } : -
M5 Word 1s an exanple. of Question ID : 9888374406
Ans o 1. Application Software Status : Answered
> 2. Compiler Chosen Option :1
75 3. Operating System
75 4. System Software
Q10 Arrange the numbers in descending order: 345, 248, 46 Question ID : 9888374416
Ans X1 4alg =345 <248 Status : Answered
x i | £ Chosen Option : 3
2. 248 =446 =345
W 3 446 =345 248
K 4248345 <446
Q.11 X 15 the son of W and W 1s the brother of V. V 1s the sister of U. How 1s U )
okt e Question ID : 9888374468
Status : Answered

Ans




V1. Cannot be determined  Wittps://naryanajobs. ifies" %wn !

v 2. nannhi'::r
< 3 Mother

7 4. Sister

Q12 5t Peter’s Square 1s located in which of the following places?
Ans X 1. Athens

# 2. Berlin

75 3. Washington

o 4 Vatican City

Question ID : 9888374393
Status : Answered
Chosen Option :1

Q.13 FDI stands for:
Ans 5 1. Federal Department of Investment

75 2. Forest Development Index
75 3. Federal Department of Investigation
o 4. Foreign Direct Investment

Question ID : 9888374410
Status : Answered
Chosen Option : 4

Q.14 17" Summit of the Non-Aligned Movement (NAM) was held in Venezuela with the slogan:
Ans 3 1 United for Peace and Harmony

!’ 2. United on the Path for Peace
#< 3. United on the Path of Global Peace
75 4. United on the Path for Sustainable Peace

Question ID : 9888374368
Status : Answered
Chosen Option : 3

Q.15 A statement followed by some conclusions are given below.

Statement: All drugs have side effects. So, there 1s always a built-in nsk
while taking medicines.

Conclusions:

I.  No medicine 1s without the risk of side effects.
II.  Drugs make things worse than the disease itself
Find which of the given conclusions logically follows from the given
statement.

Ans o 1. Only conclusion I follows
> 2 Only conclusion IT follows
#< 3. Neither I nor II follows
#X 4. Both I and II follow

Question ID :9888374474
Status : Answered
Chosen Option :1

Q.16 Which one of the following has a terminating decimal expansion?
Ans - 1
P
&

2 Y

25

¥ 3 22
.?{'4.i

11

Question ID :9888374420
Status : Answered
Chosen Option : 2

Q.17 In science, which of the following 1s NOT the property of a mixture?
Ans

Question ID :9888374398




V6

75 1. The constituents of a mixtmhtcttp'sﬂ#.fpa:py@ﬂ JObS in Status : Answered
x 5 ’ " Chosen Option :3
Ty 1?91 pessiet ! iy mnds.
75 51t can be separated by physical methods.
o 4. Tts composition is fixed.
Q.18 If LOGIC is written as IGCOL, then FRUIT i1s written as Question ID : 9888374461
uestion ID :
A
ns x 1. TRFIU Status : Answered
< 2. RETIU Chosen Option :4
< 3. UTRFI
o 4 TUTRF
Q.19 Replace the * signs i 25*5*35*20*2 with mathematical signs and find out which of the following |
options will give a balanced equation: Question ID :9888374462
Ans 1 — =4 Status : Answered
Chosen Option : 3
x 2. +=x =
« 3.4 ==
x 4, % =4 =
Q.20 was the recipient of the Nobel Prize in Literature 2015 | Question ID : 9888374392
uestion ID :
Ans X 1. Paul Modrich Status : Answered
¥ 2. Svetlana Alexievich Chosen Option :2
/A 3. William C. Campbell
X 4. Takaaki Kajita
Q21 3 1
S‘mp]’?" . Question ID : 9888374446
g [{p “"(p + 6}} i {ﬁp : {p + 6)}] Status : Answered
Ans « 1 E Chosen Option :1
P
1
X 2
(p+6)
X 3. pt6
X 4p
Q22 [(169 x 121) = (11 x 13)] -3 =7 Question ID : 9888374417
Ans X 1. 135 Status : Answered
( 2. 140 Chosen Option : 2
X 3.137
X 4143
Q.23 1
If tanb = —. cosec’f =7 Question ID :9888374448
Ans x 15 Status : Answered
Chosen Option : 4
X 2. 45
X 3413

Q24




iosvrar (thet 15 an Indian . tt //h H 11 Question ID :9888374380
Ans — https://haryanajobs.in
X1 Wrestler p y J Status : Answered
x 2. Boxer Chosen Option :3
W 3 Golfer
75 4. Badminton player
Q.25 i 1 T i .
The Indian Railway Board Act was passed in the year: Question ID : 9888374415
Ans \’ 1.1903 Status : Answered
x 2. 1890 Chosen Option :1
< 3.1937
X 4. 1966
Q.26 Choose the most appropriate description : )
- - . Question ID : 9888374366
WNational Bank for Agriculture and Rural Development is a .
A Status : Answered
ns x 1. Self Help Group Chosen Option : 4
< 2. Commercial Bank
75 3. Small and Medium Enterprise
W 4. Supervisory Institution
Q.27 ; { hail
LalaLagutRayharled fiim Question ID :9888374378
Ans X' 1. Uttar Pradesh Status : Answered
/< 2. Andhra Pradesh Chosen Option :3
o 3. Punjab
75 4. West Bengal
Q.28 i i i i
BenKEingaley ismssaciatedwith_ « Question ID : 9888374391
Ans X 1. Pop Music Status : Not Attempted
~ 2. Space travel Chosen Option : -
< 3. Scientific research
o 4. Motion pictures
Q.29 G and H can do a work 1n 30 days. If H alone can do it in 50 days, then G alone candoitin __ days.
Question ID : 9888374433
Ans J 1. 75
. Status : Answered
2~ 2.70 Chosen Option :1
< 3. 60
X 465
Q.30 Two varieties of rice, A and B, costing Rs.210 and Rs 280 per kg respectively are mixed in the ratio of
3:4. The maxed variety is sold at Rs 260 per kg. What 15 the profit percentage? Question ID : 9888374444
Ans X' 1 g0, Status : Answered
x 2. 50 Chosen Option : 4
< 3.32%
W 4 49
Q.31 B 1s the only son of C who has no daughter. K 1s the wife of the grandson of
C WhatisBtoK? Question ID : 9888374469
Ans 3 1. Brother Status : Answered




. 1 1ishosen Option : 3
X 2. Father https://haryanajobs.ifi""
o . Father-in-law
X 4. Son
Q.32 ! by
Alkhas. scat of Governmicnt wis Question ID : 9888374376
Ans 3 1. Allahabad Status : Answered
x 2. T iscknoiw Chosen Option : 4
< 3. Delhi
~f4- Agra
Q.33 4 circular ground of radius 7 m is surrounded by a path of width 3.5 m. Find the area of the path. (T= =) | )
7 Question ID : 9888374430
Ans 1 202 sq.m Status : Answered
x 2. 154 sqm Chosen Option : 3
W 3.192.5sqm
75 43465 sqm
Q.34 P.QandR cando awork in 10, 15 and 30 days respectively. P works daily. Q and R together join P on |
alternate days starting the first day. In how many days will the work be done? Question ID :9888374434
Ans x 1.6 1 Status : Answered
3 Chosen Option : 3
X262
4
VN
2
X 46
Q.35 Find the missing letter (7) in the series: Question ID : 9888374456
T f" :
B’ Z" “" S’ N’ = Status : Answered
Ans 1T Chosen Option :3
X2G
v:3H
X4
@38 What is the fourth proportional to 14. 6,28 7 Question ID : 9888374426
Ans  of 1. 12 Status : Answered
X 2.3 Chosen Option :1
X 37
X 46
Q.37
Complets the aﬂﬂl??gy' Question ID : 9888374460
CD:GA:: PQ B Status : Answered
Ans 1 SM Chosen Option : 4
X 2.SN
X 3.US
W 4 TN
Q.38 species are NOT in the TUCN classification of threatened species. | a D 4
uestion ID :9888374383




Ans . 1 1 Status : Answered
v . Harmful https://haryanajobs.in |
. Chosen Option :1
X 2. Extinct
& 3. Vulnerable
75 4. Endangered
Q.39 The simple interest on a sum deposited at 8% p.a. for § years is Rs. 16,000. What will be the compound
interest on the same sum at one fourth of the above rate of interest for 2 vears? Question ID :9888374440
Ans X' 1 Rs. 1.020 Status : Answered
Chosen Option : 3
X 2. Rs. 980 P
o 3. Rs. 1,010
X 4. Rs. 1015
Q.40 Study the given statements and select the appropriate answer option ) .
based o theim: Question ID : 9888374486
Status : Answered
St Chosen Option :2
I. Vs not shorter than A
II. D isshorter than V.
III. A is shorter than D.
Ans X 1. D is shorter than A
W 2. A is shorter than V and D
< 3. Ais taller than V.
/< 4. D is shorter than A and V
Q.41 Which one of the following best describes the term “capital gains tax’ in India?
Ans x P - Question ID : 9888374411
1. Tax on dividend received from corporate bonds. Status - Answered
_J’ 2. Chosen Option :2
Tax on profit from sale of a capital asset during a year.
#< 3. Tax on interest received from bank fixed deposits.
& 4
Tax on profit from sale of shares held for more than 12 months.
Q.42 D candoaworkin 18 days and E can do the same work in half that time. How many days will they take
1o finish the work, doing it together? Question ID :9888374432
Ans 1 5 Status : Answered
x 2.4 Chosen Option : 4
X 37
v N
Q.43 15 laptops were purchased at Rs. 15,000 each and all of them were sold for Rs. 2.97 Lakh. Find the profit
percentage. Question ID : 9888374442
Ans & 1 980, Status : Answered
Chosen Option : 4
< 2. 40%
< 3.3333%
W 4 32%
Q.44 In which vear, did Mahatma Gandhi return to India from South Africa? .
A Question ID :9888374377
ns X' 1.1905 Status : Answered
X 2. 1920 Chosen Option :3




o 31915
X 4.1910

https://haryanajobs.in

Q.45 Anamount is dey

ted at & % p.a comp

d interest. If the first vear interest 1s Rs .72, find the mnterest

amount for the 2 year. Question ID : 9888374441
Ans X' 1 Rs 77.56 Status : Answered
x 2. Rs. 77.64 Chosen Option :3
W 3. Rs. 7776
X 4 Rs.85.77
Q.46
Complete thasmaligy:. Question ID : 9888374453
Grief : Happiness :: Diffidence : Status - Answered
Ans & 1. Ignorance Chosen Option :3
2 2. Sorrow
(3- Confidence
< 4. Cowardice
Q.47 Nhas Rs. p more than K. The total amount available with N and K together is Rs. g. How much does K |
have? Question ID :9888374445
Ans x 1. By P Status : Answered
2 Chosen Option : 4
K2 2p+q)
x 3 (p+ql
2
v (a-p)
2
Q48 _. . 3 7.5
Find the value of ‘x'mn X : % = 3 i e Question ID :9888374424
Status : Answered
Ans 4
<1 5 Chosen Option : 3
3
X 2=
2
2
W3
5
9
7
Q.49 Fi i -
Find the mode of the following data: Question ID : 9888374449
70, 80, 65,90, 70,90 80, 70, 75, 65 St :
atus : Answered
Ans x 1. 90 Chosen Option : 3
X 2.80
W 3 70
X 465
Q.50 Fj jssi i i ies-
Find the mmsn:;g term (7) in the alphabetical series: Question ID : 9888374457
AC, DG, HL, 7, 8Y,......... Status : Answered
Ans & 1. NQ Chosen Option :4
< 2. NR

5 3. MQ
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Q51 (1+2/3) = [(1+1/3) = (2/3 +1)] =2

Question ID : 9888374419
Ans x 1. 4 Status : Answered
3 Chosen Option : 4
a3
N2~
4
¢ 3.2
a5
25
W 4 =
Q.52 Whi T AR
‘Whtch one of the following 1s NOT an Omnivore] Question ID - 9888374400
Ans X 1. Rat Status : Answered
x‘" 2. Ant Chosen Option : 3
#< 3. Bear
o 4 Snake
Q53 SO iR 1A =5 —R=7
pr_- Qeiisdn 20 bt e =00, then B R = Question ID : 9888374425
Ans X 1. 3 Status : Answered
x" 2.8 Chosen Option : 4
X 36
W 47
Q54 Nfissi e : ith-
M?Slﬂﬂ Raftaar” project is associated with: Question ID : 9888374413
Ans 3 1. Ajir transport Status : Not Attempted
?{' 2. Road t port Chosen Option :--
75 3. Water transport
W 4. Rail transport
Q.55 1
" cannot be corrected with spectacles. Question ID 9888374403
Ans X 1. Presbyopia Status : Answered
x" 2. Hypermetropia Chosen Option :3
o 3 Cataract
75 4. Myopia

Comprehension:
In a district, there are four electoral constituencies. Four political parties put

up their candidates. The number of votes polled by each party, in
thousands, 1s given below.

Constituency | Party | Party | Party | Party
I II 111 v
East 180 | 74 56 34
South § 70 108 | 210
North 72 275 | 44 2125
West 19 23 101 191

SubQuestion No : 56




Qés nB;f E;:?E::? ek ety K dhft‘ﬁg' VVW aJ 0 bS . I n Question ID :9888374482
Ans X 1 Status : Answered
ALk Chosen Option :2
W 2102 Lakh
/< 3.1.08 Lakh
7 4.2.10 Lakh

Comprehension:

In a district, there are four electoral constituencies. Four political parties put

up their candidates. The number of votes polled by each party, in
thousands, 1s given below.

Constituency | Party | Party | Party | Party
I 11 111 v
East 150 | 74 56 34
South 8 70 108 | 210
North 72 275 44 225
West 19 23 101 191

SubQuestion No : 57

Q.5 i W i ri iatrict?
¥ Which party won more than one constituency in the district’ Question ID : 9888374484

Ans X' 1. Party I Status : Answered
. Chosen Option :4
#5 2. Party III
75 3. Party II
o 4 Party IV

Comprehension:

In a district, there are four electoral constituencies. Four political parties put
up their candidates. The number of votes polled by each party, in
thousands, 18 given below.

Constitnency | Party | Party | Party | Party
I 1I 111 v
East 150 | 74 56 34
South 8 70 108 | 210
North 72 275 44 225
West 19 23 101 191

SubQuestion No : 58

Q.5 Which tituency has the hi t total ber of vot lled?
. ich constituency has the highest total number of votes po Question ID : 9888374483

: Status : Answered
Ans X 1. West ! w

Chosen Option :2
v 2. North

/< 3. East
75 4. South

Comprehension:



In a district, there are four electoral :h:t écrugg)ﬁai@bgsmt

up their candidates. The number of votes pclled by party, in
thousands, 1s given below.

Constituency | Party | Party | Party | Party
I II 111 v
East 180 | 74 56 34
South § 70 108 | 210
North 72 275 44 2125
West 19 23 101 191

SubQuestion No : 59
Q.5 Which party polled the highest number of votes in the district as a whole?

9 Question ID :9888374481
Ans X' 1. Party II Status : Answered
. Chosen Option :4
/5 2. Party I
75 3. Party III
W 4 Party IV

Comprehension:

P, Q. R, 5, T and U follow different professions. There is a politician, an
actor, a banker. an ex-serviceman, a nurse and a housewife. Consider the
following information and answer the questions based on it

1. R isthe ex-serviceman married to a housewife.
2. 1z an actor whose brother T 1s not a politician.
3. U 1z neither a banker nor a politician.
4. P is the wife of B

SubQuestion No : 60

Q.6 Who i anker?
0 o thie nilers: Question ID :9888374473

Ans X' 1 R Status : Answered
voT
X< 3Q
X4p

Chosen Option :2

Comprehension:

P, Q.R. 5, T and U follow different professions. There 1s a politician, an
actor, a banker. an ex-serviceman, a nurse and a housewife. Consider the
following information and answer the questions based on it

1. R isthe ex-serviceman married to a housewife.
2. Q 1s an actor whose brother T 1s not a politician.
3. U 1z neither a banker nor a politician.
4. P is the wife of B

SubQuestion No : 61

Q6 Who i T
1 o thie; pikitician? Question ID : 9888374471

Ans o 1 g Status : Answered

X2U
X 3T

Chosen Option :1
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Comprehension:
P, Q.R. 5, T and U follow different professions. There 1s a politician, an

actor, a banker. an ex-serviceman, a nurse and a housewife. Consider the
following information and answer the questions based on it

1. R isthe ex-serviceman married to a housewife.
2. Q 1s an actor whose brother T 1s not a politician.
3. U 1z neither a banker nor a politician.

4. P is the wife of B

SubQuestion No : 62

QZ-G Who is the nurse?

Question ID :9888374472
Ans X' 1 p Status : Answered
) Chosen Option :3
X2T
ViU
X4
Q.63 The first pair of words has a certain relation. Find the word with the same relation to complete the next
pair. Question ID : 9888374465
River: Bank:: Sea:?
Ans J Status : Answered
¥ 1. Shore Chosen Option :1
X 2. Creek
/< 3. Bay
X 4 Sand

Q.64 Which one of the following 1s NOT a children welfare scheme?
F

Inclusive education for the disabled at secondary stage

Ans

Question ID
Status
Chosen Option

19888374369
:Answered
:3

75 2. Sarva Shiksha Abhiyan
Qf 3. Swayamsiddha
75 4. Right to Education

Q.65 A man buys a refrigerator at Rs. 22,000 and pays an additional Rs. 1,000 for transport and Rs. 2,000 for

installation. What should be the selling price to get a profit of 15% on the whole transaction? Question ID : 9888374443
Ans x 1. Rs. 27,250 Status : Answered
K' 2. Rs. 28,500 Chosen Option : 3
o 3. Rs. 28,750
X 4. Rs. 29250
Q.66 What do we call those who study the Earth and its land, features and inhabitants, as?
Ans K ) ) Question ID : 9888374373
! Historians Status : Answered
75 2. Farmers Chosen Option : 3
W 3. Geographers
75 4. Biographers
Q.67 Fi and
Fl.ﬂ.d the HEF of 143,77 121. Question ID :9888374422
Ans K 1.6 Status : Answered
Chosen Option : 2
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e
3.4
X 47
Q.68 Fi 1 i jes:
Find the incorrect number in the series: Question ID : 9888374454
6,11,16,20,26 ...... Status : Answered
Ans « 1.20 Chosen Option : 1
X 26
X 326
X 416
Q.69 - S . —
Which one of the following 1s NOT an energv converter’ Question ID : 9888374401
Ans 3 1. Solar panel Status : Answered
x 2. Steam engine Chosen Option : 3
o 3. Plain glass
75 4. Electric iron
Q.70 Fj :
Find the LCM of 24, 96 and 36. Question ID : 9888374421
Ans X' 1. 576 Status : Answered
x 2. 716 Chosen Option :3
W 3 288
X 4144
Q.71 i i
CD:ROMsa_ . Question ID : 9888374405
Ans 5 1. MP3 file Status : Answered
x 2. Microprocessor Chosen Option :4
75 3. Magnetic disk
o 4. Storage medium
Q.72 A lady said, “Somia 1s the daughter of the only daughter of my father " How )
is the 1ady related to Sonia? Question ID : 9888374467
Status : Answered
Ans 1.
« Mother Chosen Option :1
75 2. Daughter
X 3. Sister
/X 4. Grandmother
Q73 was NOT declared a World Henitage site by UNESCO. .
A - _ ] Question ID : 9888374414
ns ( 1. Matheran Hill Ratlway Status : Not Attempted
75 2. Darjeeling Himalayan Railways Chosen Option :--
75 3. Kalka Shimla Railway line
~ 4 Wilgir: Mountain Rail
Q.74 Ifapolitical party is treated as a recognised political party in or more States, it shall be knownasa
"National Party” throughout the whole of India Question ID : 9888374389
Ans 4’ 1.4 Status : Answered

x 2.9 Chosen Option

1
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X 41
Q75 : ke :
An assertion (A) and a reason (R) are given below. Question ID : 9838374485
Status : Answered
Chosen Option :3
Assertion (A) : Nowadavs, more people opt for fast food.
Reason (R): Fast food is always inexpensive.
Choose the correct option.
Ans & 1.
Both A and E_ are true, but R is not the correct explanation of A
K2 As false. but R 1s true
o 3. A s true, but R is false
& 4
Both A and R are true and R 1s the correct explanation of A
Q.76 Who was selected as the captain for the Men's ICC World T20 X1 20167 .
A Question ID :9888374381
ns x 1. M 'S Dhom Status : Answered
x 2. Darren Saﬂ]_m}r Chosen Option : 4
75 3. Shane Watson
W 4 Virat Kohli
Q.77
Camplct themnalogy. Question ID : 9888374459
IfADC =12 BEC="7 st .
atus : Answered
Ans ‘, 1.30 Chosen Option :1
X 2 28
X 324
< 418
Q.78 Rearrange the jumbled letters to make a meaningful English word and then )
select the word which 1s different from the rest. Question ID :9888374476
Ans ' 1 AFMER Status : Answered
Chosen Option : 3
X 2. NDAL
W 3 PLCA
& 4 TLPNA
Q79 The simple interest at R % p.a on a certat incipal Pis ()2 of P If R is aqual to the number of years
e G e ’ Question ID : 9888374438
Status : Answered
Ans X185
’ Chosen Option :3
X 27
VAN
X 46
Q.80 ; 3
What 1s 40% of = th of 247 Question ID :9888374428
Status : Answered
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W2 576
X372

X 496

Q.81 The World Heritage Site having the architectural work of Le Corbusier 1 located in:

Ans

< 1. Kochi

o 2. Chandigarh
X 3 Goa

75 4. Puducherry

Question ID
Status

19888374394
:Not Attempted
Chosen Option :

Q.82 Which one of the following states does NOT have the Indian Elephant as its State animal?

Ans

o 1. Assam
& 2. Karnataka
X 3. Kerala
#< 4. Tharkhand

Question ID
Status
Chosen Option

19888374371
:Answered
1

Q.83

Ans

A statement followed by some conclusions are given below.

Statement: Nowadays, life has become very difficult without a mobile
phone.

Conclusions:

I.  Total number of mobile subscribers 1s increasing.
II.  Mobile has become an integral part of life.
Find which of the given conclusions logically follows from the given
statement.

X Only conclusion I follows

/< 2. Neither I nor II follows
# 3. Both I and II follow
o 4. Only conclusion II follows

Question ID :

Status
Chosen Option

9888374475

:Marked For Review
:3

Q.84

Ans

A question and three statements labeled (I). (I[) and (III) are given. You
have to decide which statement(s) 1s/are sufficient to answer the question.

Question: Find the present age of Y.
Statements:

I.  Atpresent. Xis3timesasoldas Y.
II. XandY started schooling in the same year.
III.  After 5 vears, the age of X will be 2% times that of Y.

Select the right option from the following.
/< 1. Both statements I and II are sufficient.
#< 2. Both statements II and I1I are sufficient.
75 3. Only statement I 1s sufficient.

o 4. Both statements I and III are sufficient.

Question ID
Status
Chosen Option

19888374488
:Answered
4

Q.85

Question ID :
Status :

9888374466
Marked For Review




An

"

The first nair of words has a certain relatio wffh\" H 1i5hosen Option :4
xaﬁ'iApﬂl}at&&m next pair. m élrvé[ﬁéJObS iy ﬁ

Xeg-:sutlnpa :: Earth : ?
# 3. Phobos
o 4 Moon

Q.86 Car I covers a distance in a certain time. Car II takes double the fime to cover half the same distance.

Find the ratio of their respective speeds. Question ID : 9888374436
Ans X' 1.1-2 Status : Answered
Chosen Option : 4
X21:4
X32:1
W41
Q.87
Complete ﬂl‘; analogy. Question ID : 9888374452
B:8::C:7 Status : Answered
Ans  of 1.27 Chosen Option :1
X 210
X 324
X 411
Q.88 Whi fiei = ?
Which of the following 1s NOT an environmental problem? Question ID : 9888374385
Ans X 1. Genetic modification of food Status : Answered
( 2. AR Chosen Option :2
# 3. Acid Rain
75 4. Loss of Biodiversity
Q.89 Speed: ter than th d of d 1n a1 kn 3
pecds grealer 31-1 £ Specd O 30UMd 11 air are W11 as Question ID : 9888374402
Ans o 1. Supersonic Status : Answered
< 2. 8olar Chosen Option :1
/< 3. Infrasonic
X 4. Ultrasonic
Q.90 i i 1 i 1857
What is the next term uia t'];lﬂ following alphabetical series’ Question ID : 9888374458
ACBD’ FHGI-" KMLN A Status : Answered
Ans & 1. OQPR Chosen Option : 2
« 2 PRQS
75 3. PQRS
& 4. OPQR
Q.91 i i 1 7
Which one 1s NOT true with electromagnets’ Question ID : 9888374395
Ans 3 1. Tt is a temporary magnet. Status : Marked For Review
75 2. Tts strength varies with the air gap between its poles. Chosen Option :3
o 3. Polarity cannot be changed.
75 4. Its strength can be changed.
Q.92
Question ID : 9888374384




Ans ‘18311?}:)1; -~ ]:?;l;t}:i:: -v statement with thmﬂmrvgn ?J o) b S. | n Status : Answered

i Alecr cornn v wn mmnesls help in re-creating Chosen Option :4

X 2. our wealth.
/5 3. outer space.

!f 4. the air we breathe.

Q.93 The areas of two similar triangles are 169 sq.cm and 121 sq.cm. If the longest side of larger triangle 13 26

cm, then the length of the longest side of the other triangle is . Question ID :9888374447
Ans x 1. 9% Status : Answered
Chosen Option : 4
X 2 18 cm
X 3 28cem
W4 2em
Q.94 Ifastudent’s marks were increased by 25%, he would have scored 75 m his test. How much did he
actually score? Question ID :9888374429
Ans 4’ 1. 60 Status : Answered
Chosen Option :1
X 2.50
K315
X 4.25
Q.95 i i
A formula in MS Excel starts with a symbol. Question ID - 9888374404
Ans B 1. 4 Status : Not Attempted
4’ 2 — Chosen Option : -
X34
X 4@
Q.96 If the mean of distribution 10, 8, 15, 12, K25 15 12, find the value of K. .
A Question ID : 9888374450
ns
« 1.2 Status : Answered
X 2.1 Chosen Option : 1
X34
K43
Q.97 Fi 1551 i 1 i
Fmdqthe mmsTg n:mber (7) in the following series. Question ID : 9888374455
1,115,254, 7 85,115, ... Status - Answered
Ans  of 1 6 Chosen Option :1
X25
X345
K455
Q.98 i 1110 1 i 7
Which of the following is a non-food crop? Question ID - 9888374370
Ans  of 1. Fiber crops Status : Answered
x 2. Coffes Chosen Option :1
X 3. Ol seeds
75 4. Sugarcane
Q.99 Find the least square number which is exactly divisible by 4. 9 and 14. .
A Question ID : 9888374423
ns X' 1.1008 Status : Answered




. 1 11i§hosen Option : 3
X 2252 https://haryanajobs.ifi"="
W 3 1764
X 4504
Q.10 One of the conditions for recognition of a political party as a State party in India is that it secures at least
0 % of the valid votes polled at the last general election in the State to the Legislative Assembly. Question ID : 9888374387
Ans "1 4 Status : Marked For Review
Chosen Option : 4
X 25
< 33
Wvie
Q.10 The source of the Sanskrit phrase “Satyameva Jayate’ lies in the
1 Question ID :9888374375
Ans « 1. Mundaka 17 cihad Status : Answered
. Chosen Option :1
~ 2 Agam Literature
75 3. Tripitaka
& 4 Bible
Q.10 States Reorganization Commission was constituted in the vear .
2 Question ID : 9888374386
Status : Answered
Ans X 1.1956
Chosen Option :1
< 21954
W 31953
< 4.1955
Q.10 If the mathematical operators —, =+, * and + are represented by A, B, C and D respectively, then find the |
value of Question ID :9888374463
9B20C12D6AS.
Ans x Status : Answered
140 Chosen Option :4
X 2. 49
X 3.57
441
Q10 * 7
o0 Bl ang St pedecio Question ID : 9888374399
: a Status : Answered
Ans 1. birds and animals . W
Chosen Option :3
7 2. mountains and rivers
W 3. plants and animals
75 4. humans and animals
Q.10 In general, physical classification of states of matter does not include the state.
5 Question ID : 9888374397
; Status : Answered
Ans  of 1. Colloidal
Chosen Option :1
X 2. Gaseous
75 3. Liguid
< 4. Solid

Comprehension:




Consider the following infnrmaﬁuhﬂﬂ)g?ﬁﬁ grwﬁiajw I:H
it.

130 people from a locality commute daily for worle. Out of them 25 travel
only by bus, 40 only by train. 20 take both taxi and train, 30 use only
private cars, 25 take bus and taxa and the remaining travel only by taxi.
SubQuestion No : 106

Q.1 What 1s the percentage of people who use only one mode of transport?

06 Question ID : 9888374479
Ans x 1. 75 04 Status : Answered
' Chosen Option :2
X 2632%
X 350 %
W 4 70%
Comprehension:
Consider the following information and answer the questions based on
it.
130 people from a locality commute daily for worle. Out of them 25 travel
only by bus, 40 only by train, 20 take both taxi and train, 30 use only
private cars, 25 take bus and taxi and the remaining travel only by taxi.
SubQuestion No : 107
Q1 ; i 2
pok In all, how many people use taxi to commute? Question ID : 9888374478
Ans of | 55 Status : Answered
» Chosen Option :1
X 2.30
X 345
X 4.35
Q.10 NASA’s JUNO unmanned spacecraft successfully executed first stage of its mission by orbiting
8 Question ID : 9888374408
Ans o 1 Tupiter Status : Marked For Review
» Chosen Option :1
< 2. Moon
3. Mars
75 4. Neptune
Q.10 i i r
o GEEmREIA R camoonly uic) Question ID : 9888374396
Ans x 1. Mot Status : Answered
) Chosen Option :2
W 2. Semi-conductor
75 3. Conductor
< 4. Insulator
Q.11 A person walks through a distance of 600 m in 5 minutes. What 1s his speed in kmph?
0 Question ID :9888374435
Ans x 1. 8.6 kmph Status : Answered
) Chosen Option :4
5284 kmph
75 3. 6.8 kmph

o 4. 7.2 kmph




Q.11 A pack of chocolates 1s divided between three friends, m apig3ds " H : .
1 respectively. If Akbar gets 50 chocolates more thm&um \y‘é ﬁ JObS . I n Question ID : 9888374427
Ans 4’ 1.250 Status : Answered
Chosen Option :1
X 2.100
X 3.150
X 4.200
Q.11 A portion nside a rectangle of length 5 m and breadth 2 m 15 shaded 1n the form of a square of side 2 m.
2 What is the ratio of the area of the shaded square to the unshaded portion of the rectangle? Question ID : 9888374431
Ans x 1.3:9 Status : Answered
) Chosen Option : 2
w223
K35:2
X 42:5
Q11 - * in NITI tand :
3 LU Anyog s o Question ID : 9888374412
Ans ' 1 National Index of Transcending Indian Status : Answered
) . ) . Chosen Option :4
#< 2. National Institute of Transforming India
/5 3. National Institution for Tracking Indians
o 4. National Institution for Transforming India
Q11 i =g 1 i (
; The Kingdom of Bhutan lies in the Himalayas. Question ID : 9888374372
Ans x 1. Noithern Status : Marked For Review
Chosen Option : 2
o 2. Eastern
X 3. Western
/< 4. Central
Q.11 A car covers a certain distance in 45 minutes at a speed of 60 kmph. What should be the speed in kmph, if |
5 ithas o cover the same distance 5 minutes earlier? Question ID :9888374437
Ans x 1. 62 Status : Answered
Chosen Option : 4
X 2. 5825
X 355
675
Q.11 In September 2016, WHO (World Health Organisation) certified that is malaria-free.
6 Question ID : 9888374367
Ans x 1. Malaysia Status : Marked For Review
Chosen Option :1
o 2. Sri Lanka
/< 3. Singapore
X 4. China
Q.11 What will be the value of the expression if the signs “+" and “*’ are interchanged? |
7 45+04-21%x3+1 Question ID :9888374464
Ans 1 _ 3 Status : Answered

212
X 3.7
X 411

Chosen Option :

2




Q.11 Which f the following 1s not 1 } 1 I
21 Whichone ofthe fllowing s notconsiseffty e 1513 @JODS..iN auesion

19888374374
Ans & 1 Child marriage Status : Answered
Chosen Option :4
75 2. Dowry system
7< 3. Untouchability
' 4. Adult franchise
Q.11 Fj I % p. i :
t Find the compound interest on Rs. 6400 at 25% p.a. for 3 years Question ID - 9888374439
Ans X' 1 Rs 6.050 Status : Answered
S Chosen Option :4
X 2.Rs. 6,150
# 3. Rs. 6,000
v 4 Rs. 6,100
Q12 VS stands -
0 DNS < i Question ID : 9888374407
Ans o 1 Domain Name System Status : Not Attempted

75 2. Data Net Service
75 3. Data Net System

/< 4. Domain Name Setup

Chosen Option :
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 entered the Guinness World Records for recording the highest number of songs in several
languages. Question ID : 9888374390

Ans X 1. Shankar Mahadevan Status : Answered
: ; Chosen Option :3
/5 2. Sameer Anjaan osen Option

W 3 P Susheela
75 4. Kavita Krishnamurthy

Q.2 1 izcinli
Space research does NOT include the discipline i Question ID - 5683374409

Ans  of 1. Human culture Status : Answered
K' 2. Physics Chosen Option :1
75 3. Biology

/< 4. Earth science

Q.3 A question and three statements labeled (I), (I) and (III) are given. You

have to decide which statement(s) 1s/are sufficient to answer the question. Question ID : 9888374487

Status : Answered
Chosen Option : 4

Question: How many people are in the queue?
Statements:

I. A man is 3 from the beginning of the queue.
II. A manis 20% from the center of the queue.
II. A man is 7% from the end and 14% from the beginning.

Select the right option from the following.
Ans X' 1. Ounly statement II is sufficient.

75 2. Only statement [ is sufficient.
75 3. Data inadequate.
Qf 4. Only statement I11 iz sufficient.

Q4 Chlorefluorocarbons are not used in Question ID : 9888374382

Ans X' 1. Refrigerators Status : Answered




MW : . 1 1¥ishosen Option :2
W/ 2 Mixer and grinders https://haryanajobs.ifi"="
7 3. Air conditioners
75 4. Packing materials
Q.5
Coplete thie gy Question ID : 9888374451
Illiterate : Educated :- Flood : Status : Answered
Ans x 1. Ramn Chosen Option :2
o 2. Drought
X 3 Well
X 4. River
Q.6 Archery is the national sport of which one of the following countries? Question ID - 8888374379
uestion .
A 4
ns X 1. Turkey Status : Answered
5 2. China Chosen Option : 4
+ 3 Bhutan
75 4. Japan
Q.7 Choose the best option and fill up the blank: )
‘Ethnic” group of people, more appropriately, refers to people with a Question ID : 9888374388
. Status : Answered
Ans X 1. same behavior ,
Chosen Option : 3
o 2. shared culture
75 3. same genetic identity
75 4. same nationality
Q.8 Which one of the following statements is incorrect? Question ID - 9888374418
Ans l’ 1. Rational numbers do not include fractions. Status : Answered
x 2. Chosen Option :1
Eeal numbers which are not rational must be wrrational.
75 3. A real number is unique.
>~ 4
Real numbers can be added, subtracted, multiplied or divided.
Q9 } : -
M5 Word 1s an exanple. of Question ID : 9888374406
Ans o 1. Application Software Status : Answered
> 2. Compiler Chosen Option :1
75 3. Operating System
75 4. System Software
Q10 Arrange the numbers in descending order: 345, 248, 46 Question ID : 9888374416
Ans X1 4alg =345 <248 Status : Answered
x i | £ Chosen Option : 3
2. 248 =446 =345
W 3 446 =345 248
K 4248345 <446
Q.11 X 15 the son of W and W 1s the brother of V. V 1s the sister of U. How 1s U )
okt e Question ID : 9888374468
Status : Answered

Ans




V1. Cannot be determined  Wittps://naryanajobs. ifies" %wn !

v 2. nannhi'::r
< 3 Mother

7 4. Sister

Q12 5t Peter’s Square 1s located in which of the following places?
Ans X 1. Athens

# 2. Berlin

75 3. Washington

o 4 Vatican City

Question ID : 9888374393
Status : Answered
Chosen Option :1

Q.13 FDI stands for:
Ans 5 1. Federal Department of Investment

75 2. Forest Development Index
75 3. Federal Department of Investigation
o 4. Foreign Direct Investment

Question ID : 9888374410
Status : Answered
Chosen Option : 4

Q.14 17" Summit of the Non-Aligned Movement (NAM) was held in Venezuela with the slogan:
Ans 3 1 United for Peace and Harmony

!’ 2. United on the Path for Peace
#< 3. United on the Path of Global Peace
75 4. United on the Path for Sustainable Peace

Question ID : 9888374368
Status : Answered
Chosen Option : 3

Q.15 A statement followed by some conclusions are given below.

Statement: All drugs have side effects. So, there 1s always a built-in nsk
while taking medicines.

Conclusions:

I.  No medicine 1s without the risk of side effects.
II.  Drugs make things worse than the disease itself
Find which of the given conclusions logically follows from the given
statement.

Ans o 1. Only conclusion I follows
> 2 Only conclusion IT follows
#< 3. Neither I nor II follows
#X 4. Both I and II follow

Question ID :9888374474
Status : Answered
Chosen Option :1

Q.16 Which one of the following has a terminating decimal expansion?
Ans - 1
P
&

2 Y

25

¥ 3 22
.?{'4.i

11

Question ID :9888374420
Status : Answered
Chosen Option : 2

Q.17 In science, which of the following 1s NOT the property of a mixture?
Ans

Question ID :9888374398
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75 1. The constituents of a mixtmhtcttp'sﬂ#.fpa:py@ﬂ JObS in Status : Answered
x 5 ’ " Chosen Option :3
Ty 1?91 pessiet ! iy mnds.
75 51t can be separated by physical methods.
o 4. Tts composition is fixed.
Q.18 If LOGIC is written as IGCOL, then FRUIT i1s written as Question ID : 9888374461
uestion ID :
A
ns x 1. TRFIU Status : Answered
< 2. RETIU Chosen Option :4
< 3. UTRFI
o 4 TUTRF
Q.19 Replace the * signs i 25*5*35*20*2 with mathematical signs and find out which of the following |
options will give a balanced equation: Question ID :9888374462
Ans 1 — =4 Status : Answered
Chosen Option : 3
x 2. +=x =
« 3.4 ==
x 4, % =4 =
Q.20 was the recipient of the Nobel Prize in Literature 2015 | Question ID : 9888374392
uestion ID :
Ans X 1. Paul Modrich Status : Answered
¥ 2. Svetlana Alexievich Chosen Option :2
/A 3. William C. Campbell
X 4. Takaaki Kajita
Q21 3 1
S‘mp]’?" . Question ID : 9888374446
g [{p “"(p + 6}} i {ﬁp : {p + 6)}] Status : Answered
Ans « 1 E Chosen Option :1
P
1
X 2
(p+6)
X 3. pt6
X 4p
Q22 [(169 x 121) = (11 x 13)] -3 =7 Question ID : 9888374417
Ans X 1. 135 Status : Answered
( 2. 140 Chosen Option : 2
X 3.137
X 4143
Q.23 1
If tanb = —. cosec’f =7 Question ID :9888374448
Ans x 15 Status : Answered
Chosen Option : 4
X 2. 45
X 3413

Q24




iosvrar (thet 15 an Indian . tt //h H 11 Question ID :9888374380
Ans — https://haryanajobs.in
X1 Wrestler p y J Status : Answered
x 2. Boxer Chosen Option :3
W 3 Golfer
75 4. Badminton player
Q.25 i 1 T i .
The Indian Railway Board Act was passed in the year: Question ID : 9888374415
Ans \’ 1.1903 Status : Answered
x 2. 1890 Chosen Option :1
< 3.1937
X 4. 1966
Q.26 Choose the most appropriate description : )
- - . Question ID : 9888374366
WNational Bank for Agriculture and Rural Development is a .
A Status : Answered
ns x 1. Self Help Group Chosen Option : 4
< 2. Commercial Bank
75 3. Small and Medium Enterprise
W 4. Supervisory Institution
Q.27 ; { hail
LalaLagutRayharled fiim Question ID :9888374378
Ans X' 1. Uttar Pradesh Status : Answered
/< 2. Andhra Pradesh Chosen Option :3
o 3. Punjab
75 4. West Bengal
Q.28 i i i i
BenKEingaley ismssaciatedwith_ « Question ID : 9888374391
Ans X 1. Pop Music Status : Not Attempted
~ 2. Space travel Chosen Option : -
< 3. Scientific research
o 4. Motion pictures
Q.29 G and H can do a work 1n 30 days. If H alone can do it in 50 days, then G alone candoitin __ days.
Question ID : 9888374433
Ans J 1. 75
. Status : Answered
2~ 2.70 Chosen Option :1
< 3. 60
X 465
Q.30 Two varieties of rice, A and B, costing Rs.210 and Rs 280 per kg respectively are mixed in the ratio of
3:4. The maxed variety is sold at Rs 260 per kg. What 15 the profit percentage? Question ID : 9888374444
Ans X' 1 g0, Status : Answered
x 2. 50 Chosen Option : 4
< 3.32%
W 4 49
Q.31 B 1s the only son of C who has no daughter. K 1s the wife of the grandson of
C WhatisBtoK? Question ID : 9888374469
Ans 3 1. Brother Status : Answered




. 1 1ishosen Option : 3
X 2. Father https://haryanajobs.ifi""
o . Father-in-law
X 4. Son
Q.32 ! by
Alkhas. scat of Governmicnt wis Question ID : 9888374376
Ans 3 1. Allahabad Status : Answered
x 2. T iscknoiw Chosen Option : 4
< 3. Delhi
~f4- Agra
Q.33 4 circular ground of radius 7 m is surrounded by a path of width 3.5 m. Find the area of the path. (T= =) | )
7 Question ID : 9888374430
Ans 1 202 sq.m Status : Answered
x 2. 154 sqm Chosen Option : 3
W 3.192.5sqm
75 43465 sqm
Q.34 P.QandR cando awork in 10, 15 and 30 days respectively. P works daily. Q and R together join P on |
alternate days starting the first day. In how many days will the work be done? Question ID :9888374434
Ans x 1.6 1 Status : Answered
3 Chosen Option : 3
X262
4
VN
2
X 46
Q.35 Find the missing letter (7) in the series: Question ID : 9888374456
T f" :
B’ Z" “" S’ N’ = Status : Answered
Ans 1T Chosen Option :3
X2G
v:3H
X4
@38 What is the fourth proportional to 14. 6,28 7 Question ID : 9888374426
Ans  of 1. 12 Status : Answered
X 2.3 Chosen Option :1
X 37
X 46
Q.37
Complets the aﬂﬂl??gy' Question ID : 9888374460
CD:GA:: PQ B Status : Answered
Ans 1 SM Chosen Option : 4
X 2.SN
X 3.US
W 4 TN
Q.38 species are NOT in the TUCN classification of threatened species. | a D 4
uestion ID :9888374383




Ans . 1 1 Status : Answered
v . Harmful https://haryanajobs.in |
. Chosen Option :1
X 2. Extinct
& 3. Vulnerable
75 4. Endangered
Q.39 The simple interest on a sum deposited at 8% p.a. for § years is Rs. 16,000. What will be the compound
interest on the same sum at one fourth of the above rate of interest for 2 vears? Question ID :9888374440
Ans X' 1 Rs. 1.020 Status : Answered
Chosen Option : 3
X 2. Rs. 980 P
o 3. Rs. 1,010
X 4. Rs. 1015
Q.40 Study the given statements and select the appropriate answer option ) .
based o theim: Question ID : 9888374486
Status : Answered
St Chosen Option :2
I. Vs not shorter than A
II. D isshorter than V.
III. A is shorter than D.
Ans X 1. D is shorter than A
W 2. A is shorter than V and D
< 3. Ais taller than V.
/< 4. D is shorter than A and V
Q.41 Which one of the following best describes the term “capital gains tax’ in India?
Ans x P - Question ID : 9888374411
1. Tax on dividend received from corporate bonds. Status - Answered
_J’ 2. Chosen Option :2
Tax on profit from sale of a capital asset during a year.
#< 3. Tax on interest received from bank fixed deposits.
& 4
Tax on profit from sale of shares held for more than 12 months.
Q.42 D candoaworkin 18 days and E can do the same work in half that time. How many days will they take
1o finish the work, doing it together? Question ID :9888374432
Ans 1 5 Status : Answered
x 2.4 Chosen Option : 4
X 37
v N
Q.43 15 laptops were purchased at Rs. 15,000 each and all of them were sold for Rs. 2.97 Lakh. Find the profit
percentage. Question ID : 9888374442
Ans & 1 980, Status : Answered
Chosen Option : 4
< 2. 40%
< 3.3333%
W 4 32%
Q.44 In which vear, did Mahatma Gandhi return to India from South Africa? .
A Question ID :9888374377
ns X' 1.1905 Status : Answered
X 2. 1920 Chosen Option :3




o 31915
X 4.1910

https://haryanajobs.in

Q.45 Anamount is dey

ted at & % p.a comp

d interest. If the first vear interest 1s Rs .72, find the mnterest

amount for the 2 year. Question ID : 9888374441
Ans X' 1 Rs 77.56 Status : Answered
x 2. Rs. 77.64 Chosen Option :3
W 3. Rs. 7776
X 4 Rs.85.77
Q.46
Complete thasmaligy:. Question ID : 9888374453
Grief : Happiness :: Diffidence : Status - Answered
Ans & 1. Ignorance Chosen Option :3
2 2. Sorrow
(3- Confidence
< 4. Cowardice
Q.47 Nhas Rs. p more than K. The total amount available with N and K together is Rs. g. How much does K |
have? Question ID :9888374445
Ans x 1. By P Status : Answered
2 Chosen Option : 4
K2 2p+q)
x 3 (p+ql
2
v (a-p)
2
Q48 _. . 3 7.5
Find the value of ‘x'mn X : % = 3 i e Question ID :9888374424
Status : Answered
Ans 4
<1 5 Chosen Option : 3
3
X 2=
2
2
W3
5
9
7
Q.49 Fi i -
Find the mode of the following data: Question ID : 9888374449
70, 80, 65,90, 70,90 80, 70, 75, 65 St :
atus : Answered
Ans x 1. 90 Chosen Option : 3
X 2.80
W 3 70
X 465
Q.50 Fj jssi i i ies-
Find the mmsn:;g term (7) in the alphabetical series: Question ID : 9888374457
AC, DG, HL, 7, 8Y,......... Status : Answered
Ans & 1. NQ Chosen Option :4
< 2. NR

5 3. MQ
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Q51 (1+2/3) = [(1+1/3) = (2/3 +1)] =2

Question ID : 9888374419
Ans x 1. 4 Status : Answered
3 Chosen Option : 4
a3
N2~
4
¢ 3.2
a5
25
W 4 =
Q.52 Whi T AR
‘Whtch one of the following 1s NOT an Omnivore] Question ID - 9888374400
Ans X 1. Rat Status : Answered
x‘" 2. Ant Chosen Option : 3
#< 3. Bear
o 4 Snake
Q53 SO iR 1A =5 —R=7
pr_- Qeiisdn 20 bt e =00, then B R = Question ID : 9888374425
Ans X 1. 3 Status : Answered
x" 2.8 Chosen Option : 4
X 36
W 47
Q54 Nfissi e : ith-
M?Slﬂﬂ Raftaar” project is associated with: Question ID : 9888374413
Ans 3 1. Ajir transport Status : Not Attempted
?{' 2. Road t port Chosen Option :--
75 3. Water transport
W 4. Rail transport
Q.55 1
" cannot be corrected with spectacles. Question ID 9888374403
Ans X 1. Presbyopia Status : Answered
x" 2. Hypermetropia Chosen Option :3
o 3 Cataract
75 4. Myopia

Comprehension:
In a district, there are four electoral constituencies. Four political parties put

up their candidates. The number of votes polled by each party, in
thousands, 1s given below.

Constituency | Party | Party | Party | Party
I II 111 v
East 180 | 74 56 34
South § 70 108 | 210
North 72 275 | 44 2125
West 19 23 101 191

SubQuestion No : 56




Qés nB;f E;:?E::? ek ety K dhft‘ﬁg' VVW aJ 0 bS . I n Question ID :9888374482
Ans X 1 Status : Answered
ALk Chosen Option :2
W 2102 Lakh
/< 3.1.08 Lakh
7 4.2.10 Lakh

Comprehension:

In a district, there are four electoral constituencies. Four political parties put

up their candidates. The number of votes polled by each party, in
thousands, 1s given below.

Constituency | Party | Party | Party | Party
I 11 111 v
East 150 | 74 56 34
South 8 70 108 | 210
North 72 275 44 225
West 19 23 101 191

SubQuestion No : 57

Q.5 i W i ri iatrict?
¥ Which party won more than one constituency in the district’ Question ID : 9888374484

Ans X' 1. Party I Status : Answered
. Chosen Option :4
#5 2. Party III
75 3. Party II
o 4 Party IV

Comprehension:

In a district, there are four electoral constituencies. Four political parties put
up their candidates. The number of votes polled by each party, in
thousands, 18 given below.

Constitnency | Party | Party | Party | Party
I 1I 111 v
East 150 | 74 56 34
South 8 70 108 | 210
North 72 275 44 225
West 19 23 101 191

SubQuestion No : 58

Q.5 Which tituency has the hi t total ber of vot lled?
. ich constituency has the highest total number of votes po Question ID : 9888374483

: Status : Answered
Ans X 1. West ! w

Chosen Option :2
v 2. North

/< 3. East
75 4. South

Comprehension:



In a district, there are four electoral :h:t écrugg)ﬁai@bgsmt

up their candidates. The number of votes pclled by party, in
thousands, 1s given below.

Constituency | Party | Party | Party | Party
I II 111 v
East 180 | 74 56 34
South § 70 108 | 210
North 72 275 44 2125
West 19 23 101 191

SubQuestion No : 59
Q.5 Which party polled the highest number of votes in the district as a whole?

9 Question ID :9888374481
Ans X' 1. Party II Status : Answered
. Chosen Option :4
/5 2. Party I
75 3. Party III
W 4 Party IV

Comprehension:

P, Q. R, 5, T and U follow different professions. There is a politician, an
actor, a banker. an ex-serviceman, a nurse and a housewife. Consider the
following information and answer the questions based on it

1. R isthe ex-serviceman married to a housewife.
2. 1z an actor whose brother T 1s not a politician.
3. U 1z neither a banker nor a politician.
4. P is the wife of B

SubQuestion No : 60

Q.6 Who i anker?
0 o thie nilers: Question ID :9888374473

Ans X' 1 R Status : Answered
voT
X< 3Q
X4p

Chosen Option :2

Comprehension:

P, Q.R. 5, T and U follow different professions. There 1s a politician, an
actor, a banker. an ex-serviceman, a nurse and a housewife. Consider the
following information and answer the questions based on it

1. R isthe ex-serviceman married to a housewife.
2. Q 1s an actor whose brother T 1s not a politician.
3. U 1z neither a banker nor a politician.
4. P is the wife of B

SubQuestion No : 61

Q6 Who i T
1 o thie; pikitician? Question ID : 9888374471

Ans o 1 g Status : Answered

X2U
X 3T

Chosen Option :1



X 4R https://haryanajobs.i

n

Comprehension:
P, Q.R. 5, T and U follow different professions. There 1s a politician, an

actor, a banker. an ex-serviceman, a nurse and a housewife. Consider the
following information and answer the questions based on it

1. R isthe ex-serviceman married to a housewife.
2. Q 1s an actor whose brother T 1s not a politician.
3. U 1z neither a banker nor a politician.

4. P is the wife of B

SubQuestion No : 62

QZ-G Who is the nurse?

Question ID :9888374472
Ans X' 1 p Status : Answered
) Chosen Option :3
X2T
ViU
X4
Q.63 The first pair of words has a certain relation. Find the word with the same relation to complete the next
pair. Question ID : 9888374465
River: Bank:: Sea:?
Ans J Status : Answered
¥ 1. Shore Chosen Option :1
X 2. Creek
/< 3. Bay
X 4 Sand

Q.64 Which one of the following 1s NOT a children welfare scheme?
F

Inclusive education for the disabled at secondary stage

Ans

Question ID
Status
Chosen Option

19888374369
:Answered
:3

75 2. Sarva Shiksha Abhiyan
Qf 3. Swayamsiddha
75 4. Right to Education

Q.65 A man buys a refrigerator at Rs. 22,000 and pays an additional Rs. 1,000 for transport and Rs. 2,000 for

installation. What should be the selling price to get a profit of 15% on the whole transaction? Question ID : 9888374443
Ans x 1. Rs. 27,250 Status : Answered
K' 2. Rs. 28,500 Chosen Option : 3
o 3. Rs. 28,750
X 4. Rs. 29250
Q.66 What do we call those who study the Earth and its land, features and inhabitants, as?
Ans K ) ) Question ID : 9888374373
! Historians Status : Answered
75 2. Farmers Chosen Option : 3
W 3. Geographers
75 4. Biographers
Q.67 Fi and
Fl.ﬂ.d the HEF of 143,77 121. Question ID :9888374422
Ans K 1.6 Status : Answered
Chosen Option : 2
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e
3.4
X 47
Q.68 Fi 1 i jes:
Find the incorrect number in the series: Question ID : 9888374454
6,11,16,20,26 ...... Status : Answered
Ans « 1.20 Chosen Option : 1
X 26
X 326
X 416
Q.69 - S . —
Which one of the following 1s NOT an energv converter’ Question ID : 9888374401
Ans 3 1. Solar panel Status : Answered
x 2. Steam engine Chosen Option : 3
o 3. Plain glass
75 4. Electric iron
Q.70 Fj :
Find the LCM of 24, 96 and 36. Question ID : 9888374421
Ans X' 1. 576 Status : Answered
x 2. 716 Chosen Option :3
W 3 288
X 4144
Q.71 i i
CD:ROMsa_ . Question ID : 9888374405
Ans 5 1. MP3 file Status : Answered
x 2. Microprocessor Chosen Option :4
75 3. Magnetic disk
o 4. Storage medium
Q.72 A lady said, “Somia 1s the daughter of the only daughter of my father " How )
is the 1ady related to Sonia? Question ID : 9888374467
Status : Answered
Ans 1.
« Mother Chosen Option :1
75 2. Daughter
X 3. Sister
/X 4. Grandmother
Q73 was NOT declared a World Henitage site by UNESCO. .
A - _ ] Question ID : 9888374414
ns ( 1. Matheran Hill Ratlway Status : Not Attempted
75 2. Darjeeling Himalayan Railways Chosen Option :--
75 3. Kalka Shimla Railway line
~ 4 Wilgir: Mountain Rail
Q.74 Ifapolitical party is treated as a recognised political party in or more States, it shall be knownasa
"National Party” throughout the whole of India Question ID : 9888374389
Ans 4’ 1.4 Status : Answered

x 2.9 Chosen Option

1
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X 41
Q75 : ke :
An assertion (A) and a reason (R) are given below. Question ID : 9838374485
Status : Answered
Chosen Option :3
Assertion (A) : Nowadavs, more people opt for fast food.
Reason (R): Fast food is always inexpensive.
Choose the correct option.
Ans & 1.
Both A and E_ are true, but R is not the correct explanation of A
K2 As false. but R 1s true
o 3. A s true, but R is false
& 4
Both A and R are true and R 1s the correct explanation of A
Q.76 Who was selected as the captain for the Men's ICC World T20 X1 20167 .
A Question ID :9888374381
ns x 1. M 'S Dhom Status : Answered
x 2. Darren Saﬂ]_m}r Chosen Option : 4
75 3. Shane Watson
W 4 Virat Kohli
Q.77
Camplct themnalogy. Question ID : 9888374459
IfADC =12 BEC="7 st .
atus : Answered
Ans ‘, 1.30 Chosen Option :1
X 2 28
X 324
< 418
Q.78 Rearrange the jumbled letters to make a meaningful English word and then )
select the word which 1s different from the rest. Question ID :9888374476
Ans ' 1 AFMER Status : Answered
Chosen Option : 3
X 2. NDAL
W 3 PLCA
& 4 TLPNA
Q79 The simple interest at R % p.a on a certat incipal Pis ()2 of P If R is aqual to the number of years
e G e ’ Question ID : 9888374438
Status : Answered
Ans X185
’ Chosen Option :3
X 27
VAN
X 46
Q.80 ; 3
What 1s 40% of = th of 247 Question ID :9888374428
Status : Answered
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W2 576
X372

X 496

Q.81 The World Heritage Site having the architectural work of Le Corbusier 1 located in:

Ans

< 1. Kochi

o 2. Chandigarh
X 3 Goa

75 4. Puducherry

Question ID
Status

19888374394
:Not Attempted
Chosen Option :

Q.82 Which one of the following states does NOT have the Indian Elephant as its State animal?

Ans

o 1. Assam
& 2. Karnataka
X 3. Kerala
#< 4. Tharkhand

Question ID
Status
Chosen Option

19888374371
:Answered
1

Q.83

Ans

A statement followed by some conclusions are given below.

Statement: Nowadays, life has become very difficult without a mobile
phone.

Conclusions:

I.  Total number of mobile subscribers 1s increasing.
II.  Mobile has become an integral part of life.
Find which of the given conclusions logically follows from the given
statement.

X Only conclusion I follows

/< 2. Neither I nor II follows
# 3. Both I and II follow
o 4. Only conclusion II follows

Question ID :

Status
Chosen Option

9888374475

:Marked For Review
:3

Q.84

Ans

A question and three statements labeled (I). (I[) and (III) are given. You
have to decide which statement(s) 1s/are sufficient to answer the question.

Question: Find the present age of Y.
Statements:

I.  Atpresent. Xis3timesasoldas Y.
II. XandY started schooling in the same year.
III.  After 5 vears, the age of X will be 2% times that of Y.

Select the right option from the following.
/< 1. Both statements I and II are sufficient.
#< 2. Both statements II and I1I are sufficient.
75 3. Only statement I 1s sufficient.

o 4. Both statements I and III are sufficient.

Question ID
Status
Chosen Option

19888374488
:Answered
4

Q.85

Question ID :
Status :

9888374466
Marked For Review




An

"

The first nair of words has a certain relatio wffh\" H 1i5hosen Option :4
xaﬁ'iApﬂl}at&&m next pair. m élrvé[ﬁéJObS iy ﬁ

Xeg-:sutlnpa :: Earth : ?
# 3. Phobos
o 4 Moon

Q.86 Car I covers a distance in a certain time. Car II takes double the fime to cover half the same distance.

Find the ratio of their respective speeds. Question ID : 9888374436
Ans X' 1.1-2 Status : Answered
Chosen Option : 4
X21:4
X32:1
W41
Q.87
Complete ﬂl‘; analogy. Question ID : 9888374452
B:8::C:7 Status : Answered
Ans  of 1.27 Chosen Option :1
X 210
X 324
X 411
Q.88 Whi fiei = ?
Which of the following 1s NOT an environmental problem? Question ID : 9888374385
Ans X 1. Genetic modification of food Status : Answered
( 2. AR Chosen Option :2
# 3. Acid Rain
75 4. Loss of Biodiversity
Q.89 Speed: ter than th d of d 1n a1 kn 3
pecds grealer 31-1 £ Specd O 30UMd 11 air are W11 as Question ID : 9888374402
Ans o 1. Supersonic Status : Answered
< 2. 8olar Chosen Option :1
/< 3. Infrasonic
X 4. Ultrasonic
Q.90 i i 1 i 1857
What is the next term uia t'];lﬂ following alphabetical series’ Question ID : 9888374458
ACBD’ FHGI-" KMLN A Status : Answered
Ans & 1. OQPR Chosen Option : 2
« 2 PRQS
75 3. PQRS
& 4. OPQR
Q.91 i i 1 7
Which one 1s NOT true with electromagnets’ Question ID : 9888374395
Ans 3 1. Tt is a temporary magnet. Status : Marked For Review
75 2. Tts strength varies with the air gap between its poles. Chosen Option :3
o 3. Polarity cannot be changed.
75 4. Its strength can be changed.
Q.92
Question ID : 9888374384




Ans ‘18311?}:)1; -~ ]:?;l;t}:i:: -v statement with thmﬂmrvgn ?J o) b S. | n Status : Answered

i Alecr cornn v wn mmnesls help in re-creating Chosen Option :4

X 2. our wealth.
/5 3. outer space.

!f 4. the air we breathe.

Q.93 The areas of two similar triangles are 169 sq.cm and 121 sq.cm. If the longest side of larger triangle 13 26

cm, then the length of the longest side of the other triangle is . Question ID :9888374447
Ans x 1. 9% Status : Answered
Chosen Option : 4
X 2 18 cm
X 3 28cem
W4 2em
Q.94 Ifastudent’s marks were increased by 25%, he would have scored 75 m his test. How much did he
actually score? Question ID :9888374429
Ans 4’ 1. 60 Status : Answered
Chosen Option :1
X 2.50
K315
X 4.25
Q.95 i i
A formula in MS Excel starts with a symbol. Question ID - 9888374404
Ans B 1. 4 Status : Not Attempted
4’ 2 — Chosen Option : -
X34
X 4@
Q.96 If the mean of distribution 10, 8, 15, 12, K25 15 12, find the value of K. .
A Question ID : 9888374450
ns
« 1.2 Status : Answered
X 2.1 Chosen Option : 1
X34
K43
Q.97 Fi 1551 i 1 i
Fmdqthe mmsTg n:mber (7) in the following series. Question ID : 9888374455
1,115,254, 7 85,115, ... Status - Answered
Ans  of 1 6 Chosen Option :1
X25
X345
K455
Q.98 i 1110 1 i 7
Which of the following is a non-food crop? Question ID - 9888374370
Ans  of 1. Fiber crops Status : Answered
x 2. Coffes Chosen Option :1
X 3. Ol seeds
75 4. Sugarcane
Q.99 Find the least square number which is exactly divisible by 4. 9 and 14. .
A Question ID : 9888374423
ns X' 1.1008 Status : Answered
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X 2252 https://haryanajobs.ifi"="
W 3 1764
X 4504
Q.10 One of the conditions for recognition of a political party as a State party in India is that it secures at least
0 % of the valid votes polled at the last general election in the State to the Legislative Assembly. Question ID : 9888374387
Ans "1 4 Status : Marked For Review
Chosen Option : 4
X 25
< 33
Wvie
Q.10 The source of the Sanskrit phrase “Satyameva Jayate’ lies in the
1 Question ID :9888374375
Ans « 1. Mundaka 17 cihad Status : Answered
. Chosen Option :1
~ 2 Agam Literature
75 3. Tripitaka
& 4 Bible
Q.10 States Reorganization Commission was constituted in the vear .
2 Question ID : 9888374386
Status : Answered
Ans X 1.1956
Chosen Option :1
< 21954
W 31953
< 4.1955
Q.10 If the mathematical operators —, =+, * and + are represented by A, B, C and D respectively, then find the |
value of Question ID :9888374463
9B20C12D6AS.
Ans x Status : Answered
140 Chosen Option :4
X 2. 49
X 3.57
441
Q10 * 7
o0 Bl ang St pedecio Question ID : 9888374399
: a Status : Answered
Ans 1. birds and animals . W
Chosen Option :3
7 2. mountains and rivers
W 3. plants and animals
75 4. humans and animals
Q.10 In general, physical classification of states of matter does not include the state.
5 Question ID : 9888374397
; Status : Answered
Ans  of 1. Colloidal
Chosen Option :1
X 2. Gaseous
75 3. Liguid
< 4. Solid

Comprehension:




Consider the following infnrmaﬁuhﬂﬂ)g?ﬁﬁ grwﬁiajw I:H
it.

130 people from a locality commute daily for worle. Out of them 25 travel
only by bus, 40 only by train. 20 take both taxi and train, 30 use only
private cars, 25 take bus and taxa and the remaining travel only by taxi.
SubQuestion No : 106

Q.1 What 1s the percentage of people who use only one mode of transport?

06 Question ID : 9888374479
Ans x 1. 75 04 Status : Answered
' Chosen Option :2
X 2632%
X 350 %
W 4 70%
Comprehension:
Consider the following information and answer the questions based on
it.
130 people from a locality commute daily for worle. Out of them 25 travel
only by bus, 40 only by train, 20 take both taxi and train, 30 use only
private cars, 25 take bus and taxi and the remaining travel only by taxi.
SubQuestion No : 107
Q1 ; i 2
pok In all, how many people use taxi to commute? Question ID : 9888374478
Ans of | 55 Status : Answered
» Chosen Option :1
X 2.30
X 345
X 4.35
Q.10 NASA’s JUNO unmanned spacecraft successfully executed first stage of its mission by orbiting
8 Question ID : 9888374408
Ans o 1 Tupiter Status : Marked For Review
» Chosen Option :1
< 2. Moon
3. Mars
75 4. Neptune
Q.10 i i r
o GEEmREIA R camoonly uic) Question ID : 9888374396
Ans x 1. Mot Status : Answered
) Chosen Option :2
W 2. Semi-conductor
75 3. Conductor
< 4. Insulator
Q.11 A person walks through a distance of 600 m in 5 minutes. What 1s his speed in kmph?
0 Question ID :9888374435
Ans x 1. 8.6 kmph Status : Answered
) Chosen Option :4
5284 kmph
75 3. 6.8 kmph

o 4. 7.2 kmph




Q.11 A pack of chocolates 1s divided between three friends, m apig3ds " H : .
1 respectively. If Akbar gets 50 chocolates more thm&um \y‘é ﬁ JObS . I n Question ID : 9888374427
Ans 4’ 1.250 Status : Answered
Chosen Option :1
X 2.100
X 3.150
X 4.200
Q.11 A portion nside a rectangle of length 5 m and breadth 2 m 15 shaded 1n the form of a square of side 2 m.
2 What is the ratio of the area of the shaded square to the unshaded portion of the rectangle? Question ID : 9888374431
Ans x 1.3:9 Status : Answered
) Chosen Option : 2
w223
K35:2
X 42:5
Q11 - * in NITI tand :
3 LU Anyog s o Question ID : 9888374412
Ans ' 1 National Index of Transcending Indian Status : Answered
) . ) . Chosen Option :4
#< 2. National Institute of Transforming India
/5 3. National Institution for Tracking Indians
o 4. National Institution for Transforming India
Q11 i =g 1 i (
; The Kingdom of Bhutan lies in the Himalayas. Question ID : 9888374372
Ans x 1. Noithern Status : Marked For Review
Chosen Option : 2
o 2. Eastern
X 3. Western
/< 4. Central
Q.11 A car covers a certain distance in 45 minutes at a speed of 60 kmph. What should be the speed in kmph, if |
5 ithas o cover the same distance 5 minutes earlier? Question ID :9888374437
Ans x 1. 62 Status : Answered
Chosen Option : 4
X 2. 5825
X 355
675
Q.11 In September 2016, WHO (World Health Organisation) certified that is malaria-free.
6 Question ID : 9888374367
Ans x 1. Malaysia Status : Marked For Review
Chosen Option :1
o 2. Sri Lanka
/< 3. Singapore
X 4. China
Q.11 What will be the value of the expression if the signs “+" and “*’ are interchanged? |
7 45+04-21%x3+1 Question ID :9888374464
Ans 1 _ 3 Status : Answered

212
X 3.7
X 411

Chosen Option :

2




Q.11 Which f the following 1s not 1 } 1 I
21 Whichone ofthe fllowing s notconsiseffty e 1513 @JODS..iN auesion

19888374374
Ans & 1 Child marriage Status : Answered
Chosen Option :4
75 2. Dowry system
7< 3. Untouchability
' 4. Adult franchise
Q.11 Fj I % p. i :
t Find the compound interest on Rs. 6400 at 25% p.a. for 3 years Question ID - 9888374439
Ans X' 1 Rs 6.050 Status : Answered
S Chosen Option :4
X 2.Rs. 6,150
# 3. Rs. 6,000
v 4 Rs. 6,100
Q12 VS stands -
0 DNS < i Question ID : 9888374407
Ans o 1 Domain Name System Status : Not Attempted

75 2. Data Net Service
75 3. Data Net System

/< 4. Domain Name Setup

Chosen Option :
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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1  Antimatter particles corresponding to electrons are called
geiTcl & T Sfdged Fo H FET S &
Ans Neutrons

X1.T u

Positrons
Protons
qieteT
Antielectron

et

v
K3
X4

Question ID : 9888374519
Status : Answered
Chosen Option : 2

Q.2 15 persons can complete a work in 60 days. If the number of persons 1s mcreased by 5, how
many days earlier will the work get completed?

15 =fFd wh F H 60 oAt 3§ T FT gea &) afg sufFaat #r sem 5 3 Fer
& o, @ FT fRael BE 9w T 81 SRem?

Ans X1 45 days
45 fe=t

10 days
10 feet

20 days

20 fed

15 days
15 feet

52

F 43

v 4

Question ID : 9888374557
Status : Answered
Chosen Option : 1

Q.3 Fillup the blank with the most appropriate option below.
As mobile banking has come to stay, future financial transactions would be based on
technology.

g 7v Reedl & # FilF s9gFT g F Rad T 61
I HAema dfHa w1 ogmew gear & o wr g afdsw & Rclw dada
gleaifahr W arenfia ghn
Ans Robotics

x1ﬂa‘|ﬁw

v > Wireless

IR

Question ID : 9888374530
Status : Answered
Chosen Option : 4
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P UEER
Point of Sale

A PN

Q.4 Interchange two mathematical operators and balance the incorrect equation given below:
Question ID :9888374587
16-24%x2+10+104=0

&l 7O TR &1 TaE 3{OE & dgo AR & G A e aEeeT @ Status : Answered
Hgafea &L Chosen Option : 2

16 - 24 x 2+ 10 + 104 = 0
Ans —and +

X1.—3ﬂ1+

Q.5 ; .
The Nobel Peace Prize 2016 was awarded to: Question ID 9888374513

aAldel Aifd PR 2016 & 3w¢ GFANAd Fhar a2 Status : Not Attempted

Ans Juan Manuel Santos Chosen Option :--

1,
v o3 Heparel T
Bernard L. Feringa
x

2.

Fells uel. BT
N David J. Thouless
3fas 1. ofeiw

Bob Dylan

4
Xiﬁ'ﬁ%ﬂa

x

Q.6 24 14

; . 26
Find the value of k£ in 21 o9 k: 3 Question ID :9888374547

26 24 14 Status : Answered
E : ?::k: Eﬁ k T Hlsl ATd I”EHI Chosen Option :3

Ans

[ S T

e

Q-7 - - . - 3 1
The value of which one of the following fractions falls in between s and 5 ? Question ID : 9888374542

frafaf@a 3 & Fla-ar B Jq & & gsar 82 Status : Answered
Ans x ] Chosen Option : 4

Q8 [




Find out which of the following sets fo t /?{hlarr- an i o) bS | n Question ID : 9888374539
= o=t § § $i-ar 9g : T ¥I1F|T Zl ’ Status : Answered
Ans
x (21, 42) Chosen Option :3

75 2.(43,129)
v (12,7)
X 4.(3,9)

Q.9 Indra Nooyt, an Indian origin leader, 1s associated with . a D :9888374515
. . uestion ID :
ARART e 1 v ol Afger SR a8 & gefaa g
Status : Answered

Ans x CocaCola Chosen Option :2

1.
IFT Il
X 2 Microsoft

 ATSHEGT
; PepsiCo
Ei=siCa)

IBM
X4'EHF§ P

v

Q.10 Speed of a boat in still water is 12 kmph and that of the current is 3 kmph. A man rows a boat
upstream up to 135 km and returns downstream to the starting point. Find the total time taken for Question ID :9888374560
the entire journey in hours.

TF A9 F R Fa # e 12 Feger § T g 1 9 3 FevEer g1 v

eufed @ & onr i i fem & 135 Rt as SRy 9T 1 Fepeher fgam wer

Status : Answered
Chosen Option : 4

gU & yifeed W 9t araw elte Jmar 31 90 A # gw we A o wEy Hqe A
A Tl

Ans X 1. 36
X 248
<330
v 24

Q.11 Identify the professional Indian shooter from the following options. )
Question ID :9888374504
e faswedl 3 I TAR AT AA=iarsT # Teaw| Status : Not Attempted

Ans Shivani Katariya Chosen Option : ==

F R
et werfr
Sudha Singh
52 o e
x Lalita Babar

3.
GIEGIRCICES
Anjali Bhagwat

 3taifer smaTad

Q.12
Question ID : 9888374551
Ans x 1.
Status : Answered
X 2. Chosen Option :4

Q13
uestion ID : 9888374509
Ans « 1. Q
Status : Answered
x 2. Chosen Option :1




Lot d L/L

nttps7/haryana

. .
100D 1]

Q.14
A X . Question ID : 9888374500
Status : Not Attempted
“ 2 Chosen Option : --
X
F 3
Q.15 Question ID : 9888374521
estion ID :
Ans “ 1. -
Status : Answered
x 2. Chosen Option : 1
X
54
Q.16 Question ID :9888374496
. estion ID :
Ans x 1. -
Status : Answered
J 2. Chosen Option :2
X s
X 4.
Q17 Question ID : 9888374511
estion ID :
Ans “ 1. -
Status : Not Attempted
x 9 Chosen Option :--
X s
54
Q.18 Question ID : 9888374569
o x . uestion ID :
Status : Answered
X 2. Chosen Option : 2
X 3.
4
Q.19 Question ID : 9888374562
. x . uestion ID :
Status : Answered
( 2 Chosen Option : 2
X
F 3
Q.20 Question ID :9888374518
- x . uestion ID :
Status : Answered
“ 2 Chosen Option : 2
X
F 3

Comprehension:

SubQuestion No : 21

Q.2
1

Ans (1_
<2
<3
<4

Question ID : 9888374596
Status : Answered

Chosen Option : 4




Comprehension:

SubQuestion No : 22

httpsT/haryanajobs.in

Q.2
2 Question ID :9888374595
Ans x 1. Status : Answered
. Chosen Option :3
X2
s
F 3
Q23 Question ID :9888374579
estion ID :
Ans f 1. vest
Status : Answered
x 2. Chosen Option :1
X 3.
54
Q24 Question ID :9888374580
: estion ID :
Ans x 1. uest
Status : Answered
x 2. Chosen Option : 4
X s
v
Q.25
Ans x N Question ID : 9888374582
Status : Answered
X 2 Chosen Option : 4
X s
. o3
Q26 Question ID : 9888374556
Ans X N uestion ID :
Status : Answered
( 2. Chosen Option :3
X s
54
Q.27
Ans X N Question ID : 9888374499
Status : Not Attempted
v 2. Chosen Option :--
X 3.
K4
a8 Question ID : 9888374589
uestion ID :
Ans ( 1.
Status : Answered
x 2. Chosen Option :3
X 3.
54
Q29 Question ID : 9888374540
. estion ID :
Ans x 1. vest
Status : Answered
( 2. Chosen Option :3
X 3.
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Q.30
. Question ID : 9888374528
Ans X 1
Status : Not Attempted
x 2. Chosen Option :--
X 3.
o3
Q.31
Question ID : 9888374558
Ans “ 1. vest
Status : Answered
x 2. Chosen Option :1
X 3.
54
Q.32
; estion ID :9888374570
Ans x N Questi
Status : Answered
J 2. Chosen Option :2
X 3.
X 4
Q.33
" estion ID : 9888374577
Ans x N Questi
Status : Not Attempted
x 2. Chosen Option : --
v &)
54
Q.34
Ans x N Question ID : 9888374608
Status : Not Attempted
X 2. Chosen Option : -
v
54
Q.35
Ans x N Question ID : 9888374559
Status : Not Attempted
x 2 Chosen Option : =
v &3
F 3

Comprehension:

SubQuestion No : 36

Question ID : 9888374601
Status : Answered

Chosen Option : 4

Comprehension:

SubQuestion No : 37

Q3
7

Ans x1_
52

Question ID : 9888374602
Status :Not Attempted
Chosen Option : --
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v
Q38 Question ID : 9888374611
uestion ID :
Ans « 1.
Status : Answered
x 2. Chosen Option :1
X 3.
x4
Q39 Question ID : 9888374525
estion ID :
Ans X 1. vest
Status : Not Attempted
( 2. Chosen Option : -
X s
r
Q40 Question ID : 9888374491
estion ID :
Ans x 1. uest
Status : Not Attempted
X 2. Chosen Option : -
Vs
r
Q.41
Ans x N Question ID : 9888374506
Status : Not Attempted
« 2. Chosen Option :=-
X s
F
Q.42
Ans « . Question ID : 9888374567
Status : Answered
X 2. Chosen Option : 1
X s
F
Q43 Question ID : 9888374610
Ans X N uestion ID :
Status : Answered
( 2. Chosen Option :1
X 3.
>~ 4.
Q44 Question ID : 9888374529
uestion ID :
Ans X 1.
Status : Answered
{ 2. Chosen Option :1
X 3.
x4
Q45 Question ID : 9888374508
estion ID :
Ans X 1. vest
Status : Not Attempted
x 2. Chosen Option : -




- lﬁkﬂ LIS
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. Question ID : 9888374503
Ans X1
Status : Not Attempted
v 2. Chosen Option : -
X 3.
54
Qa7 Q ID :9888374494
; estion ID :
Ans x 1. vest
Status : Not Attempted
f 2. Chosen Option : -
X 3.
54
Q48 Question ID :9888374548
estion ID :
Ans f 1. vest
Status : Answered
x 2. Chosen Option :1
X 3.
X 4
Q.49
Ans x N Question ID : 9888374522
Status : Answered
x 2. Chosen Option : 2
v
54
Q.50
Ans x N Question ID : 9888374550
Status : Answered
X 2. Chosen Option : 4
X 3.
” o3
st Question ID :9888374584
Ans ( . uestion ID :
Status : Answered
x 2. Chosen Option :1
X s
F 3
a2 Question ID :9888374544
Ans X N uestion ID :
Status : Not Attempted
x 2. Chosen Option :--
Vs
54
as3 Question ID :9888374524
uestion ID :
Ans ( 1.
Status : Answered
x 2. Chosen Option :3
X 3.
K4
as4 Question ID : 9888374598
uestion ID :
Ans ( 1.
Status : Answered




. . 1 1 hosen Option :1
X2 https://haryanajobs.in s
X s
F 3
Q.55 Question ID : 9888374572
o x . uestion ID :
Status : Answered
“ 2 Chosen Option : 4
X
F 3
Q.56 Question ID : 9888374510
o x . uestion ID :
Status : Answered
x 2 Chosen Option : 3
v
54
Q.57 Question ID : 9888374517
. estion ID :
Ans x 1. -
Status : Not Attempted
x 5 Chosen Option : --
X s
v
Q.58 Question ID :9888374502
. estion ID :
Ans x 1. -
Status : Not Attempted
( 9 Chosen Option :--
X s
X 4.
Q.59
. v . Question ID :9888374543
Status : Answered
X 2. Chosen Option : 4
X 3.
54
Q.60 Question ID :9888374498
e ( . uestion ID :
Status : Answered
X 2 Chosen Option : 4
X 3.
F 3
Q.61 Question ID : 9888374533
s x . uestion ID :
Status : Not Attempted
“ 2 Chosen Option : --
X
F 3
Q.62 Question ID :9888374575
e x . uestion ID :
Status : Answered
x 2 Chosen Option : 4
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Q63 Question ID : 9888374541
estion ID :
Ans { 1. nest
Status : Answered
x 2. Chosen Option : 1
X s
r
Q64 Question ID : 9888374495
estion ID :
Ans ( 1. nest
Status : Answered
x 2. Chosen Option : 1
X s
F
Q63 Question ID : 9888374566
Ans { . uestion ID :
Status : Not Attempted
X 2. Chosen Option : ==
X s
F
Q66 Question ID : 9888374512
Ans « . uestion ID :
Status : Answered
X 2. Chosen Option :1
X 3.
F 3
Q67 Question ID :9888374545
Ans X . uestion ID :
Status : Answered
X 2. Chosen Option : 4
X 3.
¥4.
Q68 Question ID :9888374490
Ans X . uestion ID :
Status : Answered
X 2. Chosen Option : 1
V&
F.
Q69 Question ID :9888374565
estion ID :
Ans X 1. nest
Status : Answered
f 2. Chosen Option :2
X s
x4
Q7o Question ID :9888374571
estion ID :
Ans ( 1. nest
Status : Answered
x 2. Chosen Option :1
X s
r

Q71




Ans . 1 H Question ID :9888374593
K https://haryanajobs.in
x 5 Status : Answered
’ Chosen Option : 3
Vs
54
arz Question ID : 9888374526
estion ID :
Ans “ 1. nest
Status : Not Attempted
x 2. Chosen Option : -
X 3.
X 4.
Q73 Question ID :9888374527
estion ID :
Ans J 1. nest
Status : Answered
x 2. Chosen Option : 4
X s
X 4.
Q74
Ans x . Question ID : 9888374555
Status : Answered
x 2. Chosen Option :2
s
54
Q7s Question ID : 9888374489
Ans X . uestion ID :
Status : Not Attempted
( 2. Chosen Option :--
X s
54
Q76 Question ID : 9888374492
Ans x . uestion ID :
Status : Not Attempted
x 2. Chosen Option :--
Vs
F 3
Qr7 Question ID : 9888374497
Ans x . uestion ID :
Status : Not Attempted
x 2. Chosen Option : -
Vs
54
Q78 Question ID : 9888374538
; estion ID :
Ans x 1. nest
Status : Answered
“ 2. Chosen Option : 2
X 3.
54
Q79 Question ID :9888374564
; estion ID :
Ans x 1. nest
Status : Answered
x 2. Chosen Option : 4
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Q.80 Question ID : 9888374590
estion ID :
Ans x 1. -
Status : Answered
( 2. Chosen Option :2
x s
r
Q.81
i ( . Question ID : 9888374585
Status : Answered
X 2 Chosen Option :1
X
F
Q.82 Question ID : 9888374549
o « . uestion ID :
Status : Answered
X 2 Chosen Option :1
X
F
Q.83 Question ID :9888374592
. X . uestion ID :
Status : Answered
X 2. Chosen Option :3
&
>~ 4.
Q.84 Question ID :9888374520
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option :3
v
< 4.
Q.85 Question ID : 9888374609
estion ID :
Ans X 1. -
Status : Answered
x 2. Chosen Option : 3
&
X
Q.86 Question ID :9888374563
estion ID :
Ans { 1. -
Status : Answered
x 2. Chosen Option :1
x s
x4
Q.87 Question ID :9888374588
estion ID :
Ans x 1. -
Status : Answered
X 2. Chosen Option :3




Q.88 - iot i
httpS//haryan ODSIn Question ID : 9888374599
Ans “ 1.
Status : Not Attempted
x 2. Chosen Option : --
X 3.
x4
@89 Question ID : 9888374523
: estion ID :
Ans x 1. nest
Status : Not Attempted
x 2. Chosen Option : --
X 3.
v
Q90 Question ID : 9888374597
: estion ID :
Ans x 1. nest
Status : Not Attempted
X 2. Chosen Option : -
v
X 4.
Q.91
Ans x N Question ID : 9888374553
Status : Answered
( 2. Chosen Option : 2
X s
54
Q.92 Question ID : 9888374576
Ans X . uestion ID :
Status : Answered
“ 2. Chosen Option : 2
X 3.
F 3
Q93 Question ID : 9888374516
. uestion ID :
Ans x 1.
Status : Not Attempted
x 2. Chosen Option : -
Vs
K4
Q.94 Question ID : 9888374505
uestion ID :
Ans “ 1.
Status : Not Attempted
x 2. Chosen Option : --
X 3.
x4
Q95 Question ID :9888374534
: estion ID :
Ans x 1. nest
Status : Not Attempted
x 2. Chosen Option : --
v &)
54
Q.96 Question ID : 9888374532
: estion ID :
Ans x 1. nest
Status : Not Attempted
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Qo Question ID : 9888374568
estion ID :
Ans X 1. vest
Status : Answered
X 2. Chosen Option :3
v
5 4.
.98 Question ID : 9888374546
estion ID :
Ans X 1. uest
Status : Answered
x 2. Chosen Option :3
X 3.
v
Q.99
Ans X N Question ID :9888374536
Status : Answered
« 2. Chosen Option : 4
X 3.
~ 4
Q.10
0 Question ID : 9888374583
Ans X 1. Status : Answered
Chosen Option : 3
X 2
v
F.
Q.10
1 Question ID : 9888374574
Ans X 1. Status : Answered
Chosen Option : 2
v
X s
F
Q.10
2 Question ID : 9888374581
Ans { 1. Status : Answered
Chosen Option : 1
X 2
X 3.
F.
Q.10
3 Question ID :9888374561
Ans X1 Status : Answered
Chosen Option : 2
v
X 3.
F
Q.10
4 Question ID : 9888374554

Ans X 1. Status : Answered




, . i iACh Option :3
X2 https://haryanajobs.in°hesen oten
v
F 3
Q.10
5 Question ID : 9888374514
Ans x 1. Status : Answered
( Chosen Option : 2
2.
X 3.
54
Q.10
6 Question ID : 9888374531
Ans I 1. Status : Not Attempted
x Chosen Option : ==
2.
X 3.
54
Q.10
7 Question ID : 9888374535
Ans x 1. Status :Not Attempted
; Chosen Option : ==
< 2.
X 3.
o8
Q.10
8 Question ID :9888374591
Ans J 1. Status : Answered
x Chosen Option : 1
2.
X 3.
54

Comprehension:

SubQuestion No : 109

Q1
09 Question ID : 9888374604
Ans x 1 Status : Not Attempted
Chosen Option : -
v
X s
F s
Comprehension:
SubQuestion No : 110
Q1
10 Question ID :9888374607
Ans x 1 Status : Answered
; Chosen Option : 4
X2
X s

v &3

Comprehension:

SubQuestion No : 111

Q1
1

Question ID : 9888374605




: . 1 i Status : Answered
Ans 31, https://haryanajobs.in
) Chosen Option : 4
X2
X s
v &3
Comprehension:
SubQuestion No : 112
Q1
12 Question ID : 9888374606
Ans “ 1. Status : Answered
‘ Chosen Option :1
X2
X 3.
& 4.
Q.11
3 Question ID : 9888374586
Ans  of 1. Status : Answered
; Chosen Option : 1
X2
X s.
54
Q.11
4 Question ID : 9888374552
Ans J 1. Status : Answered
. Chosen Option :1
X2
Xs.
54
Q.11
5 Question ID : 9888374573
Ans x 1. Status : Answered
. Chosen Option : 4
X2
X s
v
Q.11
6 Question ID : 9888374493
Ans x 1. Status : Not Attempted
. Chosen Option :--
X2
Xs.
” o3
Q.11
7 Question ID : 9888374578
Ans x 1. Status : Answered
; Chosen Option : 3
X2
v
X 4.
Q.11
8 Question ID :9888374537
Ans x 1. Status : Not Attempted

Chosen Option :
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Q.11
9 Question ID :9888374507
Ans ( 1. Status : Not Attempted
. Chosen Option : --
X2
X s.
54
Q.12
0 Question ID : 9888374501
Ans ( 1. Status : Answered

Chosen Option

1
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Ans

which would be most suitable.
Research shows that plaving outdoors improves the overall health of kids.
Nowadays kids do not find time to play outdoors.

Parents should

e 7 aReew & ImuR W Rwedl & @ a7 faviy g+ &
waIf® 39gFd &l

QT B UaT Iorar ¢ 7 96T Tee ¥ STt & g8 Ty
I GUR giar ¥1 Ieihd Sl FF 96T e & o deEa
el T T g

Arar-far #r afge

rF R

encourage indoor games.

d o & I Wel Sl arel Well & felv d=dt 1 dicarigd

|
not send the kids to school.

K2y ot Tehel o #l |

PR make playing outdoors compulsory.
g dg @eler AHfAar gard|
54

re-schedule their office hours so they get more time to play with the kids.

d 379w FAT H gAEfod # aife & =4t & @
Goa & forv 3ifas T e @)

Q1 - .- -7
N Hard - Stone :: Soft - 7 Question ID :584189230
ns « |- Feather Status : Answered
x 2. Sand Chosen Option : 2
# 3. Shine
< 4. Moon
Q.2 Based on the scenario given, choose the decision from the options

Question ID : 584189245
Status : Answered
Chosen Option : 3

Q.3
Ans

Which among the following converts chemical energy to electrical energyv?
/< 1. Generator
75 2. Dynamo

Question ID : 584189146
Status : Answered
Chosen Option : 4
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« 4. Battery
Q.4 Which of the following pollutants in water causes “Minamata’ disease?
& . Question ID : 584189161
7T & & Fl-7 T8 Jq¥ HARACT W F FRF BT 52 Status :Not Attempted
Ans X 1 Lead Chosen Option :--
X2 Salmonella
HleH |.]—3| ol
v Methyl Mercury
3.
x4 Perchlorate
Q.5 P is the amount invested at 5% p.a compounded half yearly for 2 years, what would be the amount
received at the end of 2 vears? Question ID : 584189189
Ans 1. P(1.05)? Status : Answered
4 Chosen Option : 2
W 2. P(1.025)* P
X 3. P(LD)
2 4. P(1.025)?
Q.6 What 1s the minimum age qualification to become Chief Minister of any State in India?
Ans Question ID : 584189165
x 128 Status : Answered
v 225 Chosen Option :2
X324
X 421
Q.7 Jeevapurchased an article for Rs.2500 and sold 1t at 25% above cost and paid a tax of Rs.125. Find the
post-tax profit in rupees. Question ID : 584189192
Ans X' 1. 475 Status : Answered
Chosen Option : 4
X 2.625
X 3.550
W 4500
Q.8 Which of the following received the World heritage tag by UNESCO in 20167
A Question ID : 584189125
ns R < I ; :
75 1. Chhatrapati Shivaji Terminus Mumbai Status - Answered
75 2. Mountain Railways of India Chosen Option :2
( 3. Khangchendzonga National Park
7< 4. Western Ghats
Q.9 Inaclass of 60 students. 60% are boys. If 25% of the girls come to school by bicycle, find the number of
girls who don’t come cycling to school? Question ID : 584189199
Ans X 1.27 Status : Answered
. Chosen Option : 2
v 218 P
X 3. 36
X424
Q.10 From when 1s the proposed merger of our Railway budget with the General budget supposed to take
place? Question ID : 584189172
Ans X 1.2016-17 Status : Answered
; Chosen Option : 2
v 2.2017-18

75 3. Not approved yet
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QM Simplify: (a™*+b™3) = (@™ - b™2)

Question ID : 584189194

Ans x 1 ab Status : Answered
’ a—~rh Chosen Option :2
v 2
b—a
o
X 3=
b
X 4 a+ b
ab
Q.12 Select the correct combination of mathematical signs from the options .
- . - Question ID : 584189229
given to replace # signs and get a balanced equation.
4R E421042 Status : Answered
Chosen Option : 2
L "
vo=x_+
Ko+ x=+
Q13 A milkman purchases 25 litres of milk from a dairy for Rs 800 and sells it at the rate of 33.50 per litre.
What 1s the profit or loss %7 (rounded off) Question ID : 584189202
Ans X' 1. T oss 4.8% Status : Answered
Chosen Option : 4
X 2. Loss 5.1%
X 3. Profit 5.3%
v 4 Profit 4.7%
Q14 At 270 clock. the hands of a clock make an acute angle and a reflex angle. How much is the reflex angle
(in degrees)? Question ID : 584189196
Ans X' 1 9957 Status : Answered
i 2 Chosen Option : 2
2300
X 3180°
X 4275
Q.15 A question and three statements labeled (I), (II) and (III) are given. You _
have to decide which statement(s) 1s/are sufficient to answer the question. Question ID : 584189243
Status : Answered
How far is Sasa’s school? Chosen Option : 3
L Sasa is a girl studying in standard 9.
1L Sasa’s mother drops her first at school and reaches her office
which 1s 10 kms away.
I Sasa takes 15 minutes travelling by bus and 30 minutes by
cycle.
Ans

7< 1. Iand II together are sufficient.

X2

IT and IIT are sufficient.

i 3. Data msufficient.

F i

and 111 together are sufficient.

Q.16 Find the difference between the smallest number of five digits and greatest number of four digits?

Ans

X 12
X 23
X 3.0
v

Question ID : 584189178
Status : Answered
Chosen Option : 4

Q.17

Question ID : 584189167




Who was called the “Lady witltiqng 7 /haryangjobs.in ~ Saus:Answered
Ans . . _ Annie Besant Chosen Option :4
X f AH ¥ R S Siar §7
et e
Sarojini Naidu
2.
wfStel A g
X 3 Madame Cama
HsH FrEAT
v Florence Nightingale
4.
Q.18 In how many cities did Maharaja Jai1 Singh II build Jantar Mantar? )
Question ID : 584189143
Ans “ 1. Five Status : Not Attempted
X 2. Two Chosen Option : --
75 3. Three
< 4. One
Q.19 A bank pays simple interest at 4% per annum on the first Rs.5500 and an interest of 6% for amounts
above that. Find the interest earned by Sameera if she deposits Rs.13,250 with the bank for 2 years. Question ID : 584189188
Ans X 1.1325 Status : Answered
Chosen Option :3
X 2. 1280
v 31370
X 4.840
Q.20 1 7
How many chambers are present in the heart of a fish? Question ID : 584189149
Ans J 1. Two Status : Answered
X 2. Three Chosen Option : 1
75 3. Four
/< 4. One
Q.21 Ina certain code if AKBAR 1s written as CMDCT, how will JODHA be written?
Ans v, Question ID : 584189220
. LQF‘IC Status : Answered
< 2. LMGIX Chosen Option :1
x 3. WBQUN
X 4. HMBFX
Q.22 ra-
Solve: Question ID : 584189177
1.13+5.884
_— = Status : Answered
2.004 Chosen Option :1
Ans  of 1,350
X 2295
X 3344
X 4.305
Q.23 Four bells ring at 16, 24, 36, 42 minute intervals. If they ring together at 6.00 a.m., after how long would
they next ring together? Question ID : 584189180
Ans X' 1886 minutes Status : Answered
. Chosen Option : 2
J 2. 1008 minutes
75 3. 842 minutes
/< 4. 964 minutes
Q.24
Question ID : 584189244




A question and three statements labeled ﬁ,

{}q)ha gﬂ JObS N Status : Answered
have to decide which statement(s) 1s/are s ent to answer th ues on.
Chosen Option : 3
What 15 Surya’s age?
L Survya and his sister are the only children in Ramesh’s home.
II. Surya’s sister 1s elder to hum by 3 years.
Ans X111 alone is sufficient:d 15 this year.
/X 2. Given data is insufficient.
' 3. 11 and I1I are sufficient.
75 4. 1L, III together are needed.
Q.25 Which among the below set of colours are generally known as the primary colours of light?
Ans Question ID : 584189145
« ! Red, Green, Blue Status : Answered
x 2. White, Yellow, Blue Chosen Option :1
7< 3. Red, Green, Black
7< 4. Black. White, Red
Q.26 Where is the National Geophysical R h Institute located?
ere 13 the Nation eophysic egearc S ocal Question ID : 584189129
U@q ﬂfﬂﬁfﬁl—a 3‘]7‘13@?.]1?[ HEATA EI— m‘ﬁ g—? Status :Not Attempted
Ans Ja.ipur Chosen Option : --
F R
P}
Jamshedpur
2.
ARG ':IDQ
x Mumbai
3. . g
e}
v Hyderabad
4.
Q.27 iti i i 7
Who patented the three-position traffic signal in 19237 Ousstion ID : 584189453
Ans & 1. George Eastman Status : Not Attempted
q’ 2. Garrett Morgan Chosen Option : ==
< 3. Robert Adler
x 4. J P Enight
Q.28 Ifadozen apples weigh 1.8 kg in total, how many apples will be there in 3 boxes weighing 23.250 kg
each? Question ID : 584189207
Ans ( 1. 465 Status : Answered
Chosen Option :1
X 2.280 P
X 3.215
X 4155
Q.29 In which year was Goa given the option of merging with the state of Maharashtra?
Ans Question ID : 584189163
x 11958 Status : Not Attempted
X 2.1959 Chosen Option : ==
X 3.1963
W 41967

Comprehension:

In a class of 535 students, 40 like Science and 29 like Mathematics.

student likes at least one subject, answer the following questions.
SubQuestion No : 30

If each

Q3 (




0 How many like only Science? httpS//haryan JObS|

Ans x 1.15
X 2.29

n Question ID : 584189233

Status : Answered
Chosen Option : 4

< 319
SV ENT:

Comprehension:

In a class of 35 students. 40 like Science and 29 like Mathematics. If each

student likes at least one subject, answer the following questions.
SubQuestion No : 31

Q1-3 How many like both Science and Mathematics?

Ans x 1. 13
X215

Question ID : 584189232
Status : Answered
Chosen Option : 4

X312
V414

Q.32 The heights of 240 students of a school is tabulated below:

Question ID : 584189203
Status : Answered
Chosen Option : 4

Height <100 | <110 | <120 | <130 | <140 | <150
(em)

No. of 12 30 65 180 218 240
Students

How many students are of the height <130cms, but =100cms?
Ans X 1.180
X< 2.150
X 3.192
v 4 168

Q.33 If2isdenoted by [, 4 1s denoted by "=". 9 1s denoted by " and 0 1s denoted by “+~ . what 1s "=[-+7 7

Ans 2 1. 4209
< 2.9204

Question ID : 584189218
Status : Answered
Chosen Option : 4

< 34092
W 4. 4290

Q.34 Who has the authority to decide in the event of dispute in election of the President of India?

Ans  of 1 Supreme Court
#< 2. Prime Minister

Question ID : 584189164
Status : Answered
Chosen Option : 4

x 3. Election Commissioner
X 4. Lok Sabha

Q35 If **° represents 12, ‘(@ represents 48, °$’ represents 24, and °!” represents 6, then what mathematical
equation below will be equal to 907

Ans X1 *=|+8x@
v 2 5@

Question ID : 584189219
Status : Answered
Chosen Option : 2

75 3. Sx@-1n*
X 4 *+8=@-

Q.36 Which is the longest railway tunnel in India?
Ans X 1. Karbude Tunnel
o 2. Pir Panjal Tunnel

Question ID : 584189173
Status : Answered
Chosen Option : 2
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/< 4. Berdewadi Tunnel

Comprehension:

Study the given data and answer the questions that follow:
CULTIVATED AREA (in lakh hectares)

State 2011 | 2012 | 2013
Punjab 220 256 264
Harvana 120 108 | 131
Uttar Pradesh 100 143 128
Madhya Pradesh 40 85 20
Maharashtra 80| 130 175
Rajasthan 30 26 24

SubQuestion No : 37

Q.3 How much more was the cultivated land in Uttar Pradesh compared to
7 Rajasthan in 2012 (in lakh hectares)?

Ans K 1. 58
v 2117
< 335
X 4113

Comprehension:

Study the given data and answer the questions that follow:
CULTIVATED AREA (in lakh hectares)

State 2011 | 2012 | 2013
Punjab 220 256 264
Harvana 120 108 | 151
Uttar Pradesh 100 143 128
Madhya Pradesh 40 85 a0
Maharashtra 80| 130 175
Rajasthan 30 26 24

SubQuestion No : 38

Q.3 What 1s the difference in total cultivated land in all the 3 years put
8 together between Maharashtra and Madhya Pradesh (in lakh hectares)?

Ans X 1.34
W 2.190
X 3135
X 4174

Comprehension:

Study the given data and answer the questions that follow:
CULTIVATED AREA (in lakh hectares)

State 2011 ( 2012 | 2013
Punjab 220 256 | 264
Harvana 120 108 151

Uttar Pradesh 100 143 ] 128
Madhya Pradesh 40 85 90
Maharashtra 80| 130| 175
Rajasthan 30 26 24

SubQuestion No : 39

Q.3 What was the percentage increase of land under cultivation in Punjab in
9 the year 2013 as against 20117

Ans 51,2233

Question ID : 584189226
Status : Answered
Chosen Option : 2

Question ID : 584189227
Status : Answered
Chosen Option :2

Question ID : 584189225
Status : Answered
Chosen Option :3
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Q40 Question ID : 584189171
estion ID :
Ans X 1. vest
Status : Answered
( 2. Chosen Option : 2
X 3.
> 4.
Q41
Ans x N Question ID : 584189152
Status : Answered
x 2. Chosen Option :3
Vs
F
Q42
Ans ( N Question ID : 584189147
Status : Answered
<2 Chosen Option :1
X s
F
Q43 Question ID : 584189135
Ans X . uestion ID :
Status : Answered
X 2. Chosen Option : 4
X 3.
¥4.
Q44 Question ID : 584189215
Ans « . uestion ID :
Status : Answered
X 2. Chosen Option : 1
X 3.
F
Q45 Question ID : 584189195
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option :3
v
5 4.
Q46 Question ID : 584189134
estion ID :
Ans « 1. vest
Status : Answered
x 2. Chosen Option :1
X 3.
X
Q47
Ans X N Question ID : 584189234
Status : Answered
x 2. Chosen Option : 4
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Q.48 Question ID : 584189200
uestion ID :
Ans { 1.
Status : Answered
x 2. Chosen Option : 4
X
x4
Q.49 Question ID : 584189208
estion ID :
Ans x 1. -
Status : Answered
( 2. Chosen Option :2
X s
F
Q.50 Question ID : 584189154
o x . uestion ID :
Status : Answered
X 2. Chosen Option :1
Vs
X
Q.51 Question ID : 584189150
o x . uestion ID :
Status : Answered
x 2. Chosen Option : 4
X
(4.
Q.52 Question ID : 584189209
o « . uestion ID :
Status : Answered
X 2. Chosen Option :1
X
F. 3
Q.53 Question ID : 584189132
. x . uestion ID :
Status : Answered
« 2 Chosen Option : 2
X
F.
Q.54 Question ID : 584189169
uestion ID :
Ans X1_
Status : Answered
X 9 Chosen Option : 4
X
«4.
Q.55 Question ID : 584189240
estion ID :
Ans x 1. -
Status : Answered
( 2 Chosen Option : 2
X
x4

Q.56 I




A . 1 1 tion ID : 584189235
oo https://haryanajobs.in Quester
x 5 Status : Answered
_ ’ Chosen Option :1
X s.
54
Qs7 Question ID : 584189174
; uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option : 4
X s
v
Q58 Question ID : 584189223
uestion ID :
Ans ( 1.
Status : Answered
x 2. Chosen Option :1
X s
X 4.
Q.59
Ans x N Question ID : 584189130
Status : Answered
( 2. Chosen Option :1
X s
F 3
Q.60
Ans X N Question ID : 584189127
Status : Answered
X 2. Chosen Option :3
Vs
F 3
Q.61
Ans X N Question ID : 584189148
Status : Answered
( 2. Chosen Option :2
X s
F 3
Q62 Question ID : 584189158
Ans x . uestion ID :
Status : Answered
( 2. Chosen Option :2
X s.
F 3
Q63 Question ID : 584189183
. uestion ID :
Ans x 1.
Status : Answered
f 2. Chosen Option :2
X s
54
Q64 Question ID :584189160
; uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option : 4
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@65 Question ID : 584189198
uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option : 4
X 3.
v
Q.66
Ans x N Question ID : 584189157
Status : Answered
« 2. Chosen Option :3
X s
F
Q.67
Ans X . Question ID : 584189216
Status : Answered
X 2. Chosen Option :3
V&
F
Q.68 Question ID 1584189162
Ans X . uestion ID :
Status : Answered
X 2. Chosen Option : 4
X 3.
¥4.
Q69 Question ID : 584189222
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option : 4
X 3.
(4.
Q7o Question ID : 584189182
uestion ID :
Ans X 1.
Status : Answered
x 2. Chosen Option :3
v
x4
a7t Question ID : 584189141
uestion ID :
Ans X 1.
Status : Not Attempted and Mark
x 2. ed For Review
Chosen Option : ==
X s
v 8
Q72 Question ID :584189197
estion ID :
Ans x 1. Hest
Status : Answered
x 2. Chosen Option :4




. .
Q73 '
) httpS//haryan JODS i Question ID : 584189179
Ans x 1.
Status : Answered
J 2. Chosen Option : 2
X 3.
54
ard Question ID : 584189136
. uestion ID :
Ans x 1.
Status : Answered
J 2. Chosen Option : 2
X s
X
a7s Question ID 1584189166
: estion ID :
Ans x 1. Hest
Status : Answered
( 2. Chosen Option : 2
X 3.
X 4.
Q.76
Ans x N Question ID : 584189137
Status : Marked For Review
~ 2 Chosen Option :3
X s
” o3
Q.77
Ans ( . Question ID : 584189228
Status : Answered
X 2. Chosen Option :3
X s
54
ars Question ID : 584189217
Ans X . uestion ID :
Status : Answered
x 2. Chosen Option : 4
X 3.
” o8
a9 Question ID :584189156
uestion ID :
Ans “ 1.
Status : Marked For Review
x 2. Chosen Option : 2
X 3.
F 3
Q.80
’ uestion ID : 584189131
Ans x 1. @
Status : Not Attempted and Mark
x 2. ed For Review
J Chosen Option : ==
3.
54
a8l Question ID : 584189142
. uestion ID :
Ans x 1.

Status

:Marked For Review
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X2 https://haryandjobs.irfhesen ot
3.
4,
Q82 Question ID 1584189212
uestion ID :
Ans « 1. I
Status : Answered
X 2. Chosen Option : 1
X 3.
X
Q83 Question ID 1584189221
estion ID :
Ans X 1. Hest
Status : Answered
x 2. Chosen Option : 3
v
> 4.
Q.84
Ans X N Question ID : 584189204
Status : Answered
x 2. Chosen Option : 4
X 3.
v
Q.85
Ans x N Question ID : 584189193
Status : Answered
x 2. Chosen Option :3
Vs
F
Q.86
Ans x N Question ID : 584189151
Status : Answered
« 2. Chosen Option :2
X 3.
F
Q.87
Ans X N Question ID : 584189213
Status : Answered
« 2. Chosen Option :2
X 3.
>~ 4.
088 Question ID : 584189168
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option :1
X 3.
(4.
Q89 Question ID 1584189139
uestion ID :
Ans X 1.
Status : Not Attempted and Mark
X 2. ed For Review

Chosen Option :
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Q90 Question ID 1584189187
uestion ID :
Ans { 1.
Status : Answered
x 2. Chosen Option : 1
X s
x4
Q.91
estion ID : 584189124
Ans x N Questi
Status : Not Attempted and Mark
x 2 ed For Review
Chosen Option : --
&
F
Q.92
Ans x N Question ID : 584189185
Status : Answered
X 2. Chosen Option : 4
X s
v
Q93 Question ID : 584189184
Ans x . uestion ID :
Status : Answered
X 2. Chosen Option : 4
X s
¥4.
Q94 Question ID : 584189181
Ans X . uestion ID :
Status : Answered
X 2. Chosen Option :3
v
F. 3
Q.95
Ans « N Question ID : 584189140
Status : Not Attempted and Mark
X 2 ed For Review
Chosen Option :--
X 3.
F.
Q.96
uestion ID : 584189126
Ans X 1. @
Status : Not Attempted and Mark
X 2. ed For Review
Chosen Option : ==
X s
«4.
Q97 Question ID : 584189201
estion ID :
Ans x 1. Hest
Status : Answered
( 2. Chosen Option :2
X s
x4

Q.98




Ans x 1. https-//haryan jObS in Question ID : 584189190
x ) ) ’ Status : Answered
’ Chosen Option : 3
v
54
i:: . Question ID : 584189246
x 1. Status : Answered
“ 2. Chosen Option : 2
F 43
X4

Comprehension:

SubQuestion No : 100

Q.1

00

Ans of 1.
X 2.
X 3.
F 3

Question ID : 584189239
Status : Answered
Chosen Option : 1

Comprehension:

SubQuestion No : 101

Q1

01

Ans x 1.
X 2.
X 3.

v

Question ID : 584189238
Status : Answered
Chosen Option :4

Comprehension:

SubQuestion No : 102

Q1
02 Question ID : 584189237
Ans x 1. Status : Answered
) Chosen Option :4
X2
X s
J4.
Q.10
3 Question ID : 584189155
Ans x 1. Status : Answered
; Chosen Option : 3
X2
v
54
Q.10
4 Question ID : 584189206
Ans x 1. Status : Answered
. Chosen Option : 3
X2
V&
X 4.
Q.10




5 . 1 I tion ID : 584189211
| https://haryanajobs.in Quester
Ans x 1. Status : Not Attempted and Mark
; ed For Review
x 2. Chosen Option : ==
X 3.
v
Q.10
6 Question ID : 584189176
Ans x 1. Status : Marked For Review
Chosen Option : 2
V2
X s.
X 4.
Q10
7 Question ID :584189210
Ans x 1. Status : Answered
. Chosen Option : 3
X2
v
F 3
Q.10
8 Question ID :584189242
Ans x 1. Status : Answered
; Chosen Option : 3
X 2
v
X 4.
Q.10
9 Question ID : 584189214
Ans x 1. Status : Answered
. Chosen Option :3
X2
v
X 4.
Q11
0 Question ID : 584189191
Ans  of 1 Status : Answered
; Chosen Option : 1
X2
X 3.
X 4.
Q.11
1 Question ID : 584189144
Ans “ 1. Status : Answered
" Chosen Option : 1
X2
X s.
X 4.
Q11
2 Question ID : 584189205
Ans x 1. Status : Answered
X Chosen Option : 3
2.
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 Lifeline Express (LLE). the World's first "Hospital on Train’. went on its maiden journey on
Ans Question ID : 584189284
X 1. J“ly 16. 2000 Status : Not Attempted
x 2. July 16, 1992 Chosen Option : -
< 3. July 16. 1993
W 4 Tuly 16, 1991
Q.2 Priva invested a certain amount of money and got back an amount of Rs. 8800 after 3 vears. If the rate of
simple interest is 40 %, what is the principal amount invested by Priva? Question ID : 584189311
Ans X' 1 Rs 7000 Status : Answered
Chosen Option : 4
W 2 Rs. 4000 P
X 3. Rs 4333
X 4 Rs. 7333
Q.3 Anpiece of wire, bent in the shape of a square having 44 cm as its side, is subsequently bent to form a
circle. What will be the radius of the circle? Question ID : 584189300
Ans X 1.14 cm Status : Answered
Chosen Option : 3
X 2.56cm P
v 3 28em
X 4108 em
Q.4 Which of the following is used by a computer to translate the procedure criented language program into
machine language program? Question ID : 584189280
Ans x 1. Seanner Status : Answered
Chosen Option : 3
< 2. Plotter
f 3. Compiler
/5 4. VDU (Video Display Unit)
Q.5 Based on the relationship between the first two words, find out the )

o Question ID : 584189367
missing word. Status A P
TERRESTRIALS : ANTS :: AMPHIBIANS : alus -Answere

Chosen Option : 3
Ans X 1. FISH
X 2. SNAILS
+ 3 FROGS
X 4. DOGS
Q.6 Which of the following is one of the largest and the most versatile space telescopes that was launched
into low Earth orbit in 19907 Question ID : 584189268




Ans ; . 1 1 Status : Answered
1. Spitzer https://haryanajobs.in |
Chosen Option : 4
< 2. JTames Webb
< 3. Chandra
v 4 Hubble
Q.7 Pankaj buys 10 lemons for Rs. 80. At what price should he sell a dozen lemons, if he wishes to make a
profit of 25%? Question ID : 584189323
Ans x 1. Rs. 10 Status : Answered
Chosen Option : 3
& 2. Rs. 100
v 3 Rs. 120
X 4. Rs. 240
Q.8 Rs. 200 was distributed among three persons — Anil, Binay and Chinmay. Binay received 30% more than
Chinmay. Anil received Rs.10 more than 150% of what Binay received. How much money did Anil Question ID :584189319
recsive? Status : Answered
Ans
J ! Rs. 100 Chosen Option :1
< 2. Rs. 60
X 3. Rs. 40
X 4. Rs.43
Q.9 1 1 ?
Which of the following uses onlyv convex lens”? Question ID : 584189282
Ans  of 1. Microscope Status : Answered
x 2. Flashlights Chosen Option : 4
75 3. Peepholes
/5 4. Car Headlights
Q.10 An alphabet series is given below with one term missing, shown by a “?”. Chooese from the options the
correct altemative that will fit the pattern of the series. Question ID : 584189339
ADM, BFL, CHK, ?, ELL, FNH
Status : Answered
Ans 1. DHJ Chosen Option :2
v 2. D17
X 3. DHL
X 4. DIK
Q11 ‘Which of the following is an annual nationwide campaign in Singapore encouraging awareness and action
for the environment? Question ID : 584189291
Ans  of 1 Eco Action Day Status : Answered
x 2. My Planet Day Chosen Option : 4
75 3. Earth Day
75 4. Cyding Day
Q.12 In 2015. which ex-President of Romania was prosecuted for crime against humanity?
Ans Question ID : 584189265
2 1. Tohn Ashe Status : Not Attempted
X 2. BPichard Heclk: Chosen Option : ==
# 3. Khaled Bahah
o 4 Ton Tliescu
Q13 . . . . . 9
Which of the following States came into existence in 20147 Question ID : 584189258
Ans 1. Uttarakhand Status : Answered
x 2. Tharkhand Chosen Option : 3
( 3. Telangana

75 4. Chhattisgarh

A trader buys a Persian rug for Rs. 1235 and sells it for Rs. 1500. Find his gain percentage. [




g"]'é ?{ 11767 % httpS//haryan JObSIn Question ID : 584189313

Status : Answered
< 2.201% Chosen Option : 4

< 3.225%
W 4. 2146%

Q.15 A number series is given below with one number missing, shown by a

“7”. Choose from the options the correct alternative that will fit the pattern Question ID : 584189358

of the series. Status : Answered
4,9,19,2,79,159 Chosen Option : 3
Ans X 1.33

< 2.59
W 3 39
X 434

Comprehension:

Read the information given below and answer the questions that
follow:

Following table gives the data on the number of students who appeared,
qualified and were selected from various states in a national level exam.

Students who
. Were

State Appeared | Qualified selected
Maharashtra 8500 950 8o
Uttar Pradesh 5600 620 85
Kerala 7500 720 =8
Delhi 4800 400 48
Arunachal Pradesh 7000 650 70

SubQuestion No : 16

Q.1 Which State has the highest ratio of number of students selected to the
6 number of students who qualified from that State?

Ans - X 1. Maharashtra

Question ID : 584189360
Status : Answered
Chosen Option :1

[’J 2. Uttar Pradesh
?{ 3. Kerala
< 4. Delhi

Comprehension:

Read the information given below and answer the questions that
follow:

Following table gives the data on the number of students who appeared,
qualified and were selected from various states in a national level exam.

Students who
" Were

State Appeared | Qualified selected
Maharashtra 8500 950 8o
Uttar Pradesh 5600 620 85
Kerala 7500 720 8
Delhi 4800 400 48
Arunachal Pradesh 7000 650 70

SubQuestion No : 17

Q.1 Which State has the lowest percentage of qualifications over those who

7 had appeared? Question ID : 584189361

Status : Answered
Ans
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X % Maharashtrat2desh
W 4 Delhi

Comprehension:

Read the information given below and answer the questions that
follow:

Following table gives the data on the number of students who appeared,
qualified and were selected from various states in a national level exam.

Students who
. Were

State Appeared | Qualified selected
Maharashtra 8500 950 8o
Uttar Pradesh 5600 620 85
Kerala 7500 720 =8
Delhi 4800 400 48
Arunachal Pradesh 7000 650 70

SubQuestion No : 18

Q.1 What percentage of students who appeared in the exam were selected?

8 Question ID : 584189362
Ans ?‘\ 1..0.90 % Status : Answered
i Chosen Option : 3
< 2211%
v 31.08%

K 4.2%

Comprehension:

Read the information given below and answer the questions that
follow:

Following table gives the data on the number of students who appeared,
qualified and were selected from various states in a national level exam.

Students who
e Were

State Appeared | Qualified selected
Maharashtra 8500 950 8o
Uttar Pradesh 5600 620 85
Kerala 7500 720 78
Delhi 4800 400 48
Arunachal Pradesh 7000 650 70

SubQuestion No : 19

Q.1 Which State has the highest ratio of number of students selected to the
9 number of students who appeared from that State?

Ans  of 1. Uttar Pradesh

Question ID : 584189363
Status : Answered
Chosen Option :1

/< 2. Maharashtra
< 3. Kerala
< 4. Delhi

Q.20
Question ID : 584189353

Status : Answered
Chosen Option : 2




In the question given below, are given Wiﬁﬂl W '~ 1
conclusions. You have to take the two given's fits to a:ru gn@.] O bS - I n
they seem to be at variance with commonly known facts. Read all the

conclusions and then decide which of the given conclusions follow the

two given statements disregarding commonly known facts.
Statements:

Ans X 1AConclusions 1 and 2 follow

T AN arrowre are hullate
1as Conclusions 1, 2 and 3 follow

X 35 Conclusions 2, 3 and 4 follow
7 Some arrows are spears

< 45 All conclusions follow

4. No bullet is an arrow

Q.21 A batsman scored 150 runs in a one-day cricket match. He hit 20 fours and 5 sixes. Calculate the

percentage of runs he scored by running between the wickets. Question ID : 584189318
Ans x 1. 73.33% Status : Answered
Chosen Option : 4
X 2.3133%
X 3.25%
v 4 2667%

Q.22 ‘Integrated Circuits” belonged to which of the following generation of Computers?

Ans Question ID : 584189281
x 1- Fourth Generation Status : Answered
/< 2. Fifth Generation Chosen Option :1

« 3. Third Generation

/< 4. Second Generation

Q.23 Based on the relationship between the first two words, find out the missing word.
ODISHA : ODISSI :: KERALA : Question ID : 584189342

Status : Answered
Ans X 1. KUCHIPUDI )
Chosen Option : 2

X 2. BHARATANATYAM
/< 3. KATHAK
W 4 KATHAKALI

Q.24 If ‘T means *<°, 'K’ means =", “Q" means “+ and ‘T" means *-" then what is the value of:
26174K4T5Q2 Question ID : 584189336
Ans X 1.220 Status : Answered

Chosen Option : 3

< 2,488
V'3 478
X 4.376

Q.25 . . -
Who is the author of the novel “Anandamath’™ Question ID : 584189288
Ans X 1. Subramania Bharathi Status : Answered

7< 2. Bhartendu Harish Chandra Chosen Option :3

“ 3. Bankim Chandra Chattopadhvay
/X 4. Dinabandhu Mitra

Comprehension:

Read the passage given below and answer the questions that follow:
In a class of 32 students, 20 of them like Spiderman and 14 like Batman. 6
students like neither Spiderman nor Batman.

SubQuestion No : 26

Question ID : 584189357
Ans x 1. 6 Status : Answered

< 2.28

Qéz How many students like either Spiderman or Batman?

Chosen Option : 3

<312
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Comprehension:

Read the passage given below and answer the questions that follow:

In a class of 32 students, 20 of them like Spiderman and 14 like Batman. 6

students like neither Spiderman nor Batman.
SubQuestion No : 27
Q7.2 How many students like both Spiderman and Batman?

Ans X 1.5
X 26
K37
Vg

Question ID
Status
Chosen Option

:584189356
:Answered
4

Q.28 Who said - “Give me blood and I will give vou freedom™?

Question ID : 584189273
Ans x 1. Mahatma Gandhi Status : Answered
' 2. Subhas Chandra Bose Chosen Option :2
< 3. Jawaharlal Nehru
/< 4. Chandra Shekhar Azad
Q.29 Which of the following Articles of the Constitution of India defines the "Right to Education™?
Ans Question ID : 584189254
x 1. Article 5 Status : Answered
“ 2. Arnticle 21A Chosen Option : 2
X 3. Article 23
X 4. Article 12
Q.30 An électric bulb of 60 W is connected to a source of 240 V. The current drawn by the bulb will be-
Question ID : 584189256
Ans X 1.25A
- Status : Answered
x 2.4 A Chosen Option : 2
X 3.04A
v 4 025A
Q.31 Four words are given below out of which three are alike in some manner and one is different.
‘Which one is different from the rest? Question ID : 584189343
Ans ( 1. Chalk Status : Answered
Chosen Option :1
x 2. Paper P
X 3. Blackboard
X 4. Slate
Q.32 In December 2015, Sadhana Shivdasani passed away. She was a popular
Ans J Question ID : 584189248
! Actress Status : Answered
< 2. Politician Chosen Option : 2
X 3.
F 3
Q33 Question ID : 584189297
uestion ID :
Ans x 1.
Status : Answered
X 2. Chosen Option :3

Q.34




Ans . H H Question ID : 584189267
v https://haryanajobs.in
x ) Status : Answered
’ Chosen Option :1
X s
F
Q38 Question ID : 584189346
Ans X . uestion ID :
Status : Answered
X 2. Chosen Option :3
V&
F 3
Q38 Question ID : 584189289
Ans X . uestion ID :
Status : Answered
« 2. Chosen Option :2
X .
F. 3
Q37 Question ID : 584189331
Ans X . uestion ID :
Status : Answered
X 2. Chosen Option :3
v
F 3
Q38 Question ID : 584189327
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option :2
X 3.
(4.
Q39 Question ID : 584189285
uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option : 3
Vs
7~ 4
Q40 Question ID : 584189274
stion ID :
Ans x . uestio
Status : Answered
x 2. Chosen Option :3
V&
F
Q.41
Ans X . Question ID : 584189301
Status : Answered
« 2. Chosen Option :2
X s
F
Q.42
Ans X . Question ID : 584189305
Status : Answered
X 2. Chosen Option :3
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F.
Q43 Question ID : 584189366
- x . uestion ID :
Status : Answered
?(.' 2. Chosen Option :2
~ s
«4.
Q.44 Question ID : 584189309
o ( . uestion ID :
Status : Answered
x 2. Chosen Option :1
X
F
Q.45 Question ID : 584189368
. X . uestion ID :
Status : Answered
X 2. Chosen Option :3
v
F
Q.46 Question ID : 584189303
. « . uestion ID :
Status : Answered
X 2 Chosen Option :1
X
F
Q.47 Question ID : 584189259
o X . uestion ID :
Status : Answered
« 2. Chosen Option :3
X
X
Q.48 Question ID : 584189266
- X . uestion ID :
Status : Answered
( 2. Chosen Option : 4
X3
X
Q.49 Question ID : 584189294
- X . uestion ID :
Status : Answered
?(.' 2. Chosen Option :3
s
7~ 4
Q.50 Question ID : 584189251
e ?( . uestion ID :
Status : Answered
« 2. Chosen Option :2
~ s




Q.51 . jOl .
| https.//haryan JODS.IN quesion o : 584189337
Ans x 1.
Status : Answered
x 2. Chosen Option : 3
v
54
Q.52 Question ID : 584189283
. x . uestion ID :
Status : Answered
x 2. Chosen Option : 2
xs.
v
Q.53 Question ID : 584189302
e x . uestion ID :
Status : Answered
( 2. Chosen Option :2
X
X 4.
Q.54
e x . Question ID : 584189290
Status : Answered
x 2 Chosen Option : 4
X
” o3
Q.55 Question ID : 584189324
e X . uestion ID :
Status : Answered
( 2 Chosen Option : 2
X
F 3
Q.56 Question ID : 584189293
o x . uestion ID :
Status : Answered
x 2. Chosen Option : 4
v
F 3
Q.57 Question ID :584189272
o x . uestion ID :
Status : Answered
x 2. Chosen Option :3
v
F 3
Q.58 Question ID : 584189255
. x . uestion ID :
Status : Answered
x 2. Chosen Option : 2
v
54
Q.59 Question ID : 584189270
. x . uestion ID :
Status : Answered




X2 https://haryanajobs.ir§"s" %tn:2

W
F
Q60 Question ID : 584189249
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option :2
v
5 4.
st Question ID : 584189328
estion ID :
Ans X 1. Hest
Status : Answered
( 2. Chosen Option :2
X 3.
> 4.
Q.62 Question ID : 584189329
stion ID :
Ans X . uestio
Status : Answered
« 2. Chosen Option :2
X s
X 4.
Q.63
Ans x N Question ID : 584189271
Status : Answered
x 2. Chosen Option : 2
X 3.
4
Q.64
Ans « N Question ID : 584189252
Status : Answered
~ 2 Chosen Option :2
X 3.
F 3
Q.65
Ans X . Question ID : 584189250
Status : Answered
« 2. Chosen Option :3
X 3.
F. 3
Q66 Question ID : 584189332
uestion ID :
Ans « 1.
Status : Answered
X 2. Chosen Option : 1
X 3.
F
Q67 Question ID : 584189262
uestion ID :
Ans « 1.
Status : Answered
X 2. Chosen Option :3
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Q68 Question ID : 584189351
uestion ID :
Ans X 1.
Status : Answered
x 2. Chosen Option :2
X s
«4.
Q.69 Question ID :584189261
estion ID :
Ans ( 1. vest
Status : Answered
X2 Chosen Option :1
X s
F
Q7o Question ID :584189365
Ans x . uestion ID :
Status : Answered
<2 Chosen Option : 4
X s
v
Q.71
Ans « N Question ID : 584189322
Status : Answered
X 2. Chosen Option :1
X s
F
Q.72
Ans X . Question ID : 584189354
Status : Answered
X 2. Chosen Option : 4
X s
¥4.
Q73 Question ID 1584189321
Ans X . uestion ID :
Status : Answered
X 2. Chosen Option : 4
X 3.
(4.
ar4 Question ID : 584189247
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option : 1
v
> 4.
Q7s Question ID : 584189333
estion ID :
Ans ( 1. Hest
Status : Answered
x 2. Chosen Option :1
X s
7~ 4

Q.76 I




Ans . H H Question ID : 584189299
v https://haryanajobs.in
x ) Status : Answered
_ ’ Chosen Option :1
X 3.
54
Q77 Question ID : 584189314
uestion ID :
Ans f 1.
Status : Answered
x 2. Chosen Option :1
X 3.
X4
Q78 Question ID : 584189352
; uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option : 4
X s
v
Q.79
Ans x N Question ID : 584189296
Status : Answered
x 2. Chosen Option : 4
X 3.
” o3
Q.80
Ans X N Question ID : 584189335
Status : Answered
X 2. Chosen Option :3
Vs
F 3
Q.81
Ans X N Question ID : 584189316
Status : Answered
X 2. Chosen Option :4
X 3.
” o3
Q82 Question ID : 584189315
Ans x . uestion ID :
Status : Answered
x 2. Chosen Option :3
Vs
F 3
Q83 Question ID : 584189298
uestion ID :
Ans f 1.
Status : Answered
x 2. Chosen Option :1
X 3.
54
as4 Question ID : 584189369
; uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option : 4
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Q85 Question ID : 584189340
; uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option :1
v
X
Q.86
Ans x N Question ID : 584189306
Status : Answered
X2 Chosen Option :2
X s
” o3
Q.87
Ans X N Question ID : 584189277
Status : Answered
( 2. Chosen Option :4
X s
54
Q.88
Ans X N Question ID : 584189308
Status : Answered
X 2. Chosen Option :1
X 3.
” o8
Q89 Question ID : 584189275
uestion ID :
Ans ( 1.
Status : Answered
x 2. Chosen Option : 4
X 3.
54
Q90 Question ID : 584189292
. uestion ID :
Ans x 1.
Status : Not Attempted
x 2. Chosen Option : ==
v &3
54
Q91 Question ID : 584189326
uestion ID :
Ans f 1.
Status : Answered
x 2. Chosen Option :1
X3
X 4.

Comprehension:

SubQuestion No : 92

Q9
2 Question ID : 584189350
Ans x 1. Status : Not Attempted

Chosen Option : ==

52
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Comprehension:

SubQuestion No : 93

Question ID :
Status :
Chosen Option :

584189349
Not Attempted

Comprehension:

SubQuestion No : 94

Q.9
4 Question ID : 584189348
Ans J 1. Status : Not Attempted
) Chosen Option : --
X 2
X 3.
F 3
Q.95
Ans Question ID : 584189320
x 1. Status : Answered
x 2. Chosen Option : 4
X 3.
v
Q.96
Ans Question ID : 584189338
x 1. Status : Answered
x 2. Chosen Option :3
V&
X 4.
Q.97
Ans ( Question ID : 584189341
I Status : Answered
X2 Chosen Option :1
X 3.
54
Q.98
Ans - Question ID : 584189286
X I Status : Answered
X 2. Chosen Option :3
Vs
F 3
Q.99
Ans ( Question ID : 584189307
B Status : Not Attempted
x 2. Chosen Option : -
X 3.
F 3

Q.10




0 . H H Question ID :584189257
| https://haryanajobs.in
Ans x 1. Status : Answered
x 9 Chosen Option :1
X3
v
Q.10
1 Question ID : 584189278
Ans ( 1. Status : Answered
. Chosen Option : 1
X2
X s.
F 3
Q.10
2 Question ID :584189287
Ans ( 1. Status : Answered
. Chosen Option : 2
X2
X 3.
F 3
Q.10
3 Question ID :584189364
Ans x 1. Status : Answered
Chosen Option : 2
v
X 3.
X4
Q.10
4 Question ID : 584189263
Ans ( 1. Status : Answered
. Chosen Option : 4
X2
X s
F 3
Q.10
5 Question ID : 584189310
Ans x 1. Status : Answered
Chosen Option : 2
V2
X3
X 4.
Q.10
6 Question ID : 584189325
Ans x 1. Status : Answered
; Chosen Option : 3
X2
&
F 3
Q10
7 Question ID :584189312
Ans x 1. Status : Answered
X Chosen Option : 4
2.
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Q.10
8 Question ID : 584189345
Ans « 1. Status : Answered
Chosen Option :1
X2
X s
X 4
Q.10
9 Question ID : 584189317
Ans X 1. Status : Not Attempted
Chosen Option : --
v &3
X
X 4.
Q11
0 Question ID : 584189334
Ans X1 Status : Answered
Chosen Option : 2
v
X
X 4.
Q.11
1 Question ID : 584189260
Ans ?{" 1. Status : Answered
Chosen Option : 4
X2
X s
v
Q11
2 Question ID : 584189276
Ans x 1. Status : Answered
Chosen Option : 3
X2
Vs
X 4
Q11
3 Question ID : 584189330
Ans X 1. Status : Answered
Chosen Option : 2
v
X s
X 4
Q11
4 Question ID : 584189253
Ans X 1. Status : Answered
Chosen Option : 2
v &3
X
X 4.
Q11
5 Question ID : 584189279
Ans X1 Status : Answered

Chosen Option :

1
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X s
v
Q11
6 Question ID : 584189304
Ans x 1. Status : Answered
X Chosen Option : 4
2.
X
(4.
Q11
7 Question ID : 584189344
Ans x 1. Status : Answered
x Chosen Option : 4
2.
X
v
Q11
8 Question ID : 584189269
Ans X 1. Status : Answered
{ Chosen Option : 2
2.
X
X 4
Q11
9 Question ID : 584189264
Ans X 1. Status : Answered
« Chosen Option : 2
2.
X
X 4
Q.12
0 Question ID : 584189295
Ans  of 1. Status : Not Attempted

Chosen Option :
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Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

Ans

A monkey sitting on a branch of a tree suddenly falling down towards the ground is an example
of

T U3 T M@ W 48 TH 46T I HAWTh oA T AT A @ Eagen
IEEAT §

x

| Law of conservation of mass
- FHefa-dwemor & s
, Law of conservation of energy
 Sofi-EReToT & for
Kepler's laws

3.
FIe & I
Newton’s third law of motion

x4'F€EH3?Tﬂ?I3?EﬁHTﬁ'€D—T

v

x

Question ID : 9888374641
Status : Answered
Chosen Option : 2

Q.2

Ans

If ABSENT = BDVISZ, then SCHOOL will be coded as:
afg ABSENT = BDVISZ §, a@ SCHOOL T #ig &1 87

< 1. TEKRRS
X 2. TKERTS
v 5 TEKSTR
X 4 TKESSR

Question ID : 9888374706
Status : Answered
Chosen Option :3

Q3

Ans

0.1,0.9,0.01,0.09, - 0.009
X 1.0.1010
v 2. 0.001

< 3.0.0001
< 4.0.01

Question ID : 9888374701
Status : Answered
Chosen Option : 2

Q4

Ans

If P means ‘subtraction’, Q means ‘division’, R means “addition’ and S means ‘multiplication’,
then 15Q3R24P1282="7

afg P & 3 merm &, Q # ad amr 3, R # oad W SRS @ o qew g, ar
1I5Q3R24P12S52="7

X 17
X229
X39
s

Question ID : 9888374708
Status : Answered
Chosen Option : 4




Q.5

Ans

Rhinoscope is an instrument for ejarip tlﬁ'
NECEEab] &I AT Fel HT Th 3T ¢
MNose
1.
v GIED

Status
Chosen Option

ObS . | n Question ID : 9888374645

:Marked For Review
4

X 2 Evyes
i@

X3 Brain

. Ears
4.
x e

Q.6

Ans

Siﬂlplif}':xl:x—Z)+ 31{1—3}
Waﬁﬁ'ﬂr:x(x—l)+ 3dx—3)
W 1oaxt _11x

Question ID
Status
Chosen Option

19888374687
:Answered
1

X 20 4y% 15y
<034 S 11x

< 44yt sy

Q7

Ans

The cash difference between the selling price of an article at a profit of 8% and 10% 1s Rs.3. The
ratio of two selling prices 1s-

T TEG BT 8% TAT 10% F il 7 sael W 67 Aqeat 7 3 T4 1 el ¢l gt e
AT I -

Question ID
Status

Chosen Option :

19888374685
:Answered
2

X 1.54:59
v 2.54:55
X 3.54:57
X 4.54:56

Q8

Ans

Mr. Ashwam sold a bus for Rs_ 510 with a loss of 15 %. At what price should the bus be sold to
get a profit of 15 %7

3TEgelt U T/ T 15% Il 9T 510 T 7 STaT &1 15% o1 U1t o ToIT 39 30 99 &I 6
Hed T ST Afge?

Question ID : 9888374683
Status : Answered
Chosen Option : 4

. Rs. 650
1.
x L. 650
a B3 680
2.
x L. 680
. Bs. 700
3.
x L. 700
Fs. 690
4.
‘, L. 690

Q9

Ans

What 1s NOT true regarding the voting rights under the democratic system in India?
SR T wihditas Yoell & dgd AdgH & HOHR & Taer 7 & 7 T Flaar
FUA A AL B2

v &

Question ID : 9888374635
Status : Answered
Chosen Option :3

Those who are deemed unsound of mind can also vote

AEF ¥ § Ia€ a1 off Adge & d9d &
K2

Only people with their names on the electoral roll are allowed to vote
&ael 34 @I @I Adalel 1 AT § Toleds 1 Adgrar g 7 g

X 3.

Any citizen over the age of 18 can vote
18 a¥ & 31fa= 3y &1 12 off APRE Adae X FFaT ¢

x There 1s no gender discrimination

" o A A S A 2




Q.10 The theme of World Envirorlﬂaltitp@jdhiaﬁy.an jobs.in

faeg gatator fgaw 2016 &1 ofe of:

Ans Green Economy: Does it include you?

LE’ﬂHHﬂW:?&T%ﬁW?ﬂﬁﬂﬁ?

v 2

Zero tolerance for the illegal trade in wildlife

g Sfat & 3y @R & o 9ot smfgsorar

x Small Islands and Climate Change
3.

ol cdiv 3R Sierary gREde
X 4.

Seven Billion Dreams; One Planet; Consume with Care

ard 3RE 99e1; U g; @Al & A1 IIHET

Question ID : 9888374628
Status : Answered
Chosen Option : 4

Q.11 IfA denotes “add’, B denotes ‘subtract’, C denotes ‘multiply” and D denotes ‘divide’, which of

the following is correct?

afg A @1 3 FiE, B & a1 me, C & I qemw 3R D # oy aer g ar

ST ¥ P T 32
Ans K1_36C4D8BTA4=10
J6C4D8BT7A4=10
X 2 16C12A 49D 7B 9=200
16 C12A49D 7B 9 =200
v BCSASDSBS8=57
8C8A8DS8S8BS8=057
X 4 32D8C9=160B12C 12
32D8C9=160B 12 C 12

Question ID :9888374709
Status : Answered
Chosen Option : 3

Q.12 18 men built a tanker in 25 days. How many days would it take for 10 men?

18 31Ty Uk EhT 1 25 TEaT 7 Fard 1 10 3T 3t T Y Fohcel =T 7 a0l Taha 22

Ans X 1.452
V2 a5
K 3451
X 4 46

Question ID : 9888374674
Status : Answered
Chosen Option : 2

Q.13 IfCOME 1s coded as EMOC, then TRAIN 15 coded as:

afe COME & EMOC & &7 & @i fRem amar &, af TRAIN &t & w7 7

FI3 TFar amoam)
Ans X' 1. NRIAT

W 2. NIART
X 3. NIRAT
/< 4. NAIRT

Question ID : 9888374707
Status : Answered
Chosen Option : 2

Q.14 Choose the odd one from the following:

F=ef@a & @ o1 3= & A 78 @anr
Ans X1H0CK_EY
-t
FOOTBALL
Kz.a o

CHESS
- erada
BASEBALL

EREIE]

V3
p

Question ID : 9888374711
Status : Answered
Chosen Option : 3
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Q.15 Which of the following 1s NOT a modifier key mpMJM&W n .

oot & & Ay gl () ST d@or e F AR el A6 g7
X 1. ctrl

Ans

MS.

|
Question ID

Status
Chosen Option

19888374653
:Marked For Review
12

75 2. Windows key
« 3 Tab
< 4. Shift

Q.16 Which one does NOT belong to the category of metallic minerals?
e 7 o Far afcas @fast # Ao F d&faa 78 82

v Coal

Ans

Question ID
Status
Chosen Option

19888374649
:Answered
1

PIIET

Nickel
Ao

Bauxite

X3,
EIERI1ET

K2

Tin
?(4-%_‘{

Q17 Q3C, SSE, USG, W12I,

Ans X' 1. X17K
X 2. Y15K

Question ID
Status
Chosen Option

19888374703
:Answered
14

X 3. Z1SK
v 4 Y17K

Q.18 There are total 200 students in a school, of which %“‘ are boys. Find the number of girls in the
school.
weh fagarera A 200 facandf €, e & %ma@_ﬂiéﬁ Taeamera A wsfral i1 de A

HIfaw]

Question ID
Status
Chosen Option

19888374662
:Answered
1

Ans

v 1140
< 260
< 340
X 4120

Q.19 Theengineofthe
& oreT, Tavd T Fa@ QI FrERler A9 ST Bl

, 1s the oldest working steam locomotive in the World.

Ans Palace on Wheels

dor 3 few

Question ID
Status
Chosen Option

19888374660
:Answered
:3

Maharaja Express
RIS T

Golden Chariot

X1
X2
vs
K e e

Q.20 Who won the “Man Booker prize 2016° for the book The Sellout?
G ARIIBC AHF fohaTd & Tiw 2016 &1 A Joht [EPR 8 Tem?

I M Coetzee

Ans

Question ID :

Status
Chosen Option

9888374636

:Answered
14

Bt of UH $lugalr
X 2 David Szalay

SHEERUGS
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ey e
_ Paul Beatty
-1"4-]ﬁﬂ o

Q.21 Inaclass test, a student scored 8 marks out of 25 marks_ The student’s marks in percentage is-

e q{vaTT 3 ek faezmeff 25 7 3 8 3% 31feia ear 1 Reanff & 3w ufdea A ¢
Ans x 1. 29

Question ID : 9888374686
Status : Answered
Chosen Option : 2

V2 32
X 335
X 430

Q.22 Below are given statements followed by some conclusions. You have to
take the given statements to be true even if they seem to be at variance
with the commonly known facts and then decide which of the given
conclusions logically follow(s) from the given statements.

Statements:

Question ID : 9888374720
Status : Answered
Chosen Option : 4

All women are married.
Some women are educated.
Conclusions:
I,  Some married are educated.
II. Some educated are married.

A FO U HR Iad Heed QU v §1 AT s et
F TG AAAT § &0l g1 d FAId: Ad azal § e g
gl 3 Y I @ @ § & Ru av #la-d ey sa
FUl & Alfbsd & F qTelel LA 8
S
asft #fgand FEarfea 2
Fo Afgant fafEa &
oy
Il T farfed RifEd €
Il Fo fafEd fGafd §
Ans Only conclusion II follows
P Syt B 1| et e 3
Only conclusion I follows
P et P | et
Either only I or only IT follows
53
AT o hael | AT Fael || 9relel T &
Both I and II follow

Y SR Qe e s E

Q.23

Question ID :9888374732
Status : Answered
Chosen Option : 4




Ans .. . F]Stmemen‘t II alone is sufficient.

et 3R o || g g

II. The Sf‘hﬁdulm_‘i dPﬂﬂl‘hll:F 1z at 15 30 hrs.
v Data insufficient
2.

SR RCAICEIE I_[Ii C al) AR () fgw v &1 39 a8

z:»_L__rK 3 ;Statement [ alone 1s suffictent. 3 o Faayaaa
3ol & | aed g

hAA T L
Both the statements together are needed.

Xﬁ?m FUT HEAF ¢l

l. aﬂ Tiernoaq: 4o ey M8 BLal bl

A question and two statements labeled (]]:ﬂ v g H 1
decide whicrh etatamantiz) ie/are anffiria mﬂmé n aJ 0 bS = I n

Q24 What is 15% of 3877 15.30 &=t ¢1
38 T 15% FAT &7

Ans ?(1-6

Question ID : 9888374688
Status : Answered
Chosen Option : 3

K255
VAN
Xas

Q25 An ordinary magnet does not attract
U HIUROT ook T IR G HLAT gl

Ans Bronze

Question ID : 9888374643
Status : Answered
Chosen Option :1

v AR
ohlET
Steel
E e

Iron

X3 oier
x4 Nickel

K2

Q26 The main mountain ranges of India do NOT include:
HRA & LT 9dd H@ASN A Ag AHAAT AT o

Question ID : 9888374617
Status : Marked For Review
Chosen Option : 2

Ans i
X1 andh}ra
e

Hindu Kush

V' g
53

Q.27 Mr.Akhil invested Rs.13,500 in FD. How much will he get on maturity, if he invested it at 20%
per annum compound interest for 6 months, compounded quarterly?

3@ 13,500 TR wwdt 7 frder e &) aRuwrean g9 9x 38 e Rt i wrea gl afy
3T TG AR 6 FEAT F AT 20% afF gwaf soa Aoy W Aa F § dwsm
faag wafsra giar g2

Question ID : 9888374682
Status : Answered
Chosen Option : 4

Ans Rs. 14,8835
1.
X %, 14,8835
, Rs. 14,883.35
%, 14,883.35

x
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'E. 14,883
Rs. 14,883.75
%, 14,883.75

v g

Q.28 Bhumika takes a total of 8 hours 20 minutes in walking a distance and cycling back to same place
where she started. She could walk both ways in 12 hours 15 minutes. The time taken by her to
cycle both ways 1s:

SATAHT U Il T Yoot o0 e AR AETehel T AT LEHTCA T2 9 3T 37 el 8 6 20
ToeTe 7 T ot 1 98 gt 3 o e daer 12 68 15 @9 & a0 ] awdr &1 s

Question ID : 9888374678
Status : Answered
Chosen Option :1

R QAT ST T TR o e 2 330 et Fevetll o o3
Ans 4 hours 25 min
4625 Bee
4 hours 45 min
45 45 [T
X3 4 h_ours 35 min
4 He 35 [T
4 hours 15 min

4 H¢ 15 e

Q29 Linux is an example of*

feidier g SH&T U 361807 &:
Ans Operating System

Question ID : 9888374650
Status : Answered
Chosen Option :1

v e R

Assembly Language

Frdere efada
Application Software

 UTERRYE ATreaR

Programming Language

K2
K3
LN

Q.30 The surface area (in sq.cm.) of a sphere with radius 1.5 cm 1s: ( Take 7 = %)
1.5 TAT From aTer U i T ISR & (FaT WY 7 FAT g ( n:%)
Ans - X 1.190/21

Question ID : 9888374691
Status : Answered
Chosen Option : 4

< 2.190/7
< 3.198/21
o 4.198/7

Q.31 Some of the greatest scientists gathered in the 1940s to figure out how to refine uranium and
build an atomic bomb. What was their work called?

1940 & gerF # Fo@ AEHAH dAdN-F U= &1 9lega #3= i aw@w) 9w &
ﬁﬂ‘rﬂr#iﬁ'ﬁrmgmmmaﬁaﬂnmmr?

Ans Pear] Harbour Project

Question ID : 9888374647

Status : Not Attempted and Mark
ed For Review

Chosen Option : --

" et g s
Atomic Heritage
"2 oA fatrEa (veitde gies)
X 3 Los Alamos Project
e TelATE Yieiese
Manhattan Project

W 4




Q.32 Which one of the following is hﬂﬂ@t/(/rhaaﬂyan jobs.in Question ID 9888374654
= 7 @ lq-ar v Afa= KEE a"? Status : Answered
Ans v’ 1. IRNSS Chosen Option :1

X 2.8LV-3
X 3. GSLV
/< 4. PSLV

Q.33 Mr. Ayush borrowed Rs. 3000 at 5% per annum compound interest. The compound interest
compounded annually for 2 years is: Question ID : 9888374681

N TG TS BT 5% ATF &1 W 3000 TR IR AT &1 2 a5 FT GFgig o2l Fa1 Status : Answered

B9 AT SATST AT HATTSTe e 87 Chosen Option : 3

Ans

Rs. 3705
1.
x L. 3705
Rs. 33705
2.
x L. 33705
Rs 3075
3.
« L. 3075
Rs. 3307.5
4.
x L. 33075

Q34 CﬂmplEte the series: Question ID : 9888374704

AZCXE..... Status : Answered
HEeT F 9 FL: Chosen Option :1

X3 H
Xaw

Q.35 A woman invests Rs. 100 at the start of each year at 5% compound interest per annum. How
much will her investment be, at the end of the 2™ year? Question ID :9888374690

T ARG Tedies av T UFIAT 7 5% T TehaTE 4T Gl T 100 T HT oA FA &1 gE Status : Answered

Y 3 3l 3 SHFT FoeT (A2 FictaAl gramm? Chosen Option :1

Ans
., . Rs. 215125
% 21525

Rs. 215.75
2.

x 5 21575

Rs. 215

5 215

Rs. 2155
5 2155

F 43
54

36 - - -
@ ACE “FHJ:1O0QS: Question ID :9888374698

Ans x 1. PES Status : Answered
X 2. TXV Chosen Option : 3
v 3 TVX
X 4 RPS
Q.37 island is the only active volcano of India. ,
- Question ID : 9888374619
__ cd aRd 1 ThAT Gfhd Sarrad g Status :Not Attempted and Mark
ed For Review
Ans ster rock
X 1. Oy Chosen Option : =

W ql_\.It'a;
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St

Q.38 Divide Rs. 162 in the ratio 2:3:6:7. The rupees in the respective ratios are given by:
F. 162 FT 2:3:6:7 F ST A S1¢ | HaTdd ema # €1 €
Ans x 1 18,27,53 & 64
18,27, 53 TTT 64
18,27,55 & 62
18,27, 55 AT 62
18,27, 54 & 63
18,27, 54 dAT 63
18,28, 53 & 63
18, 28, 53 T 63

Question ID : 9888374672
Status : Answered
Chosen Option :3

Q39 Georges Lemaitre 1s related with the

EIC e d Hataa g

Ans o Big Bang theory
faar dar o

X 2 Electric current
facga
X 3 Solar E_a}rstem
it dsa
Deoxyribonucleic acid

X4'%ﬁm@¢@mﬁa¥m

Question ID : 9888374646
Status : Marked For Review
Chosen Option :1

Q40 PALE : LEAP : : POSH :
Ans o 1. SHOP

< 2. HSPO

< 3. POHS

X 4 HSOP

Question ID : 9888374699
Status : Answered
Chosen Option : 1

Q.41 became the latest sports person to win four consecutive Olympic gold medals in
the same event.

s & gicifar # wemar ar il @l uew Sfiaer arer AdeaE
TEomEr =1 IUATE

Ans Michael Phelps

h HAZFel e

) Larisa Latynina
adrar e
Usain Bolt

3.
38 dlec
, Dipa Karmakar

- &T FLATRT

x

x

x

Question ID :9888374638
Status : Answered
Chosen Option : 3

Q42 9 25 49 121,169

Ans {1_4

Question ID :9888374700
Status : Answered
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X33
X 42
.43 -
@43 TELEX stands iior- Question ID : 9888374656
colag SHT H faicd 9 %Z Status : Answered
Ans x ; Telegram Expresg Chosen Optlon 12
COlaH TFHYH

Telecommunication Exchange
M
PR Teleprinter Exchange
e wEe
Telephone Exchange

RN

Q44 Find the missing term of the sequence.
AB_BA, ABC, CBA, ABCD,
H@eT H 3e]ITEd UG 1 IaT oEm |
AB, BA, ABC, CBA, ABCD, _
Ans X 1. DABC
v 2. DCBA
X 3. DBCA
< 4. DBAC

Question ID : 9888374702
Status : Answered
Chosen Option : 2

Q.45

Simplify: (7) {?%T

e FIfalT (?}1{?%}4

Ans X 1.1/14
vl
<314
X 47

Question ID : 9888374668
Status : Answered
Chosen Option : 2

Q.46 ‘Airlander 10°, the World’s largest hybrid airship, which had its first test flight in August 2016,
was designed and manufactured in .

IWTET 2016 F I TEET AT 35 S AT g % §9E 93 s
Fas dig weReE 10 @ fBeea 3R FEvr _ F e o em

Ans x 1 Russia
g

USA
HgFd T ITANH
Germany

EET)

K2

53

(4.UK .
Ielises fharsA

Question ID : 9888374612

Status : Not Attempted and Mark
ed For Review

Chosen Option :--

Comprehension:




A family has 6 members P, Q. B, F]'EEP@ V/ha%aarrg aaAL?mbEg . | n

Q 1s the son of R, but R 1s not the motHer of Q. P an
couple. T 15 the brother of B § 15 the daughter of P. U 1s the sister of Q.

HoiER A6 e e P, Q, R, S, T 3k U.
Q R &1 &¢T g, ofhed R Q &1 AT «1g1 g1 P 3IX R u&
faarfgd gorer §1 T R &1 oS 81 S P & <€ g1 U Q &1

age gl

SubQuestion No : 47

Q4 1 1 1 1 w7
What 1s the ratio of Males to Females 1n this family’ Question ID : 9883374718

7
aiEar # 9eul 37T AfGen3il &1 Jeuard F24r g7 Status : Answered

- Chosen Option : 3
Ans 1. 5:1 >

X 2.2:1
RN
X< 4122

Comprehension:

A family has 6 members P, Q, R S, T, and U.
(Q 1s the son of R, but R 1s not the mother of Q. P and R are a married
couple. T 15 the brother of B § 1s the daughter of P. U 1s the sister of ().

thH @R A 6 @eT g P, Q, R, S, T 3w U.
Q R &1 &cT g, oifeed R Q &7 AT o157 g1 P 3IX R '
faarfgd gorer §1 T R &1 a5 81 S P & €T 1 U Q &1

age gl

SubQuestion No : 48

Q4 Who i ?
8 o 1s the son of P Question ID : 9888374717
P @ deT ohisl %'? Status : Answered
Ans o 1. Q Chosen Option :1
X 2R

None of the given opiions

T or fawedt & T FE FE
X 4T

53

Comprehension:

A family has 6 members P, Q, R, 5, T, and U.

Q 1s the son of B, but R 1s not the mother of Q. P and K are a married
couple. T 15 the brother of B § 15 the daughter of P. U 1s the sister of Q.

HoiER A6 T e P, Q R, S, T 3t U
Q R & de1 g, ofest R Q &1 AT @87 g1 P 3R R &
faafgd grer §1 TR s 81 SPHFI&d g1 U Q #:

a8 gl

SubQuestion No : 49

Q4 r r e?
5 How many brothers does U have? Quesion ID : 9883374719

U ﬁ? ﬁ’mﬁ' 55”% 'Enp? Status : Answered

Ans x 1.3 Chosen Option :2

v




X2 https://haryanajobs.in

None
X 4.
TF Y S

Q.50 The Arjuna Awardee for 2016 in the discipline of Athletics was:

2016 & Twelfcad & folT o[ QORI faotar /e

Question ID : 9888374625
Status : Answered

Ans « Lalita Babar Chosen Option : 2
1.
efeldr dET
x Amit Kumar Saroha
2.
AT FAR TWET
X3 M. R. Poovamma
X Tintu Luka
4. A
G
T P}
Q.51 Fill in the blanks:
The Constitution of India puts a limit on the size of the Lok Sabha to Question ID : 9888374634
apart from members nomimated by the President to represent the Anglo-Indian community.
Status : Answered
: Ch Option :3
AR & HEUE & AJER aas & ek gest f e @ & osen Lption :
SHF el GElSREA wen & gafies & ¥ e aGEa gt
CaRT Feifed T A g
Ans X ; 547 and 3
947 uq 3
X ) 543 and 2
943 uq 2
« 5 550 and 2
950 Tqg 2
X 4.
Q52 Question ID :9888374705
Ans x N uestion ID :
Status : Answered
x 2. Chosen Option : 4
X 3.
v
Q.53
Ans x N Question ID : 9888374667
Status : Answered
v Chosen Option :2
X s
F 3
a4 Question ID :9888374630
Ans X N uestion ID :
Status : Not Attempted
X 2. Chosen Option : -
X s
. o3
ass Question ID : 9888374684
Ans x N uestion ID :
Status : Not Attempted and Mark
X 2. ed For Review

Chosen Option :
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F.
Q.56 Question ID :9888374696
estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option : 4
x s
«4.
Q.57
o ( . Question ID : 9888374731
Status : Answered
X 2 Chosen Option :1
X
F
Q.58 Question ID :9888374722
e X . uestion ID :
Status : Answered
X 2. Chosen Option :3
v
F
Q.59 Question ID :9888374637
. X . uestion ID :
Status : Answered
X 2 Chosen Option : 4
X
{4.
Q.60 Question ID :9888374618
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option : 4
X
(4.
Q.61 Question ID : 9888374639
estion ID :
Ans X 1. -
Status : Not Attempted
x 9 Chosen Option : ==
&
X
Q.62 Question ID :9888374658
estion ID :
Ans X 1. -
Status : Answered
x 2. Chosen Option :3
~ s
v
Q.63 Question ID : 9888374633
estion ID :
Ans x 1. -
Status : Answered
« 2. Chosen Option :2
x s




Comprehension:

SubQuestion No : 64

Q.6
4

Ans (1.
X 2.
X 3.
54

https://haryanajobs.in

Question ID : 9888374725
Status : Answered
Chosen Option :1

Comprehension:

SubQuestion No : 65

Q.6
e Question ID : 9888374724
Ans X . Status : Answered
. Chosen Option :3
X2
W s
F 3
Q.66 Question ID :9888374629
o “ . uestion ID :
Status : Answered
x 2. Chosen Option :2
X
x4
Q.67 Question ID :9888374616
estion ID :
Ans J 1. -
Status : Answered
x 2. Chosen Option : 1
X
54
Q.68 Question ID :9888374680
. estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option : 4
X 3.
v
Q.69 Question ID :9888374623
. estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option :3
Vs
X 4.
Q.70
N ( . Question ID :9888374622
Status : Answered
x 2 Chosen Option : 4
X
54
Q.71
e x . Question ID :9888374648
Status : Answered
x 2 Chosen Option : 4
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Q.72 Question ID :9888374659
estion ID :
Ans x 1. -
Status : Answered
( 2. Chosen Option :3
~ s
x4
Q73
N ( . Question ID : 9888374670
Status : Answered
X 2 Chosen Option :1
X
F
Q.74
N X . Question ID :9888374614
Status : Answered
X 2 Chosen Option : 4
v
F
Q.75 Question ID :9888374734
- X . uestion ID :
Status : Answered
X 2 Chosen Option : 4
v
F
Q.76 Question ID :9888374661
uestion ID :
Ans X 1.
Status : Answered
X 2. Chosen Option :2
v
X
Q.77 Question ID : 9888374692
estion ID :
Ans X 1. -
Status : Answered
x 2. Chosen Option : 4
X3
(4.
Q.78 Question ID :9888374615
estion ID :
Ans { 1. -
Status : Answered
x 2. Chosen Option : 4
~ s
x4
Q.79 Question ID : 9888374697
estion ID :
Ans ( 1. -
Status : Answered
X 2. Chosen Option :1
x s




Q.80 -
| https://haryandjobs.iN quesion o -ssssarasst
Ans x 1.
Status : Answered
“ 2. Chosen Option : 2
F 43
54
Q81 tion ID : 9888374626
Ans x N Question ID :
Status : Answered
i 2. Chosen Option : 2
X 3.
X 4.
Q82 ion ID :9888374669
Ans x . Question ID :
Status : Answered
X 2. Chosen Option :3
v &3
X 4.
Q.83
Ans x Question ID : 9888374640
I Status : Not Attempted and Mark
( 2 ed For Review
x Chosen Option : --
3.
54

Comprehension:

SubQuestion No : 84

Q.8
4 Question ID :9888374729
Ans J 1 Status : Answered
) Chosen Option :1
X 2
X 3.
<4
Comprehension:
SubQuestion No : 85
Q.8
5 Question ID :9888374730
Ans x 1 Status : Answered
Chosen Option :2
v &)
X 3.
& 4.
Comprehension:
SubQuestion No : 86
Q.8
6 Question ID :9888374727
Ans x 1 Status : Answered
; Chosen Option : 4
X 2
X s

v

Comprehension:




SubQuestion No : 87

https://haryanajobs.in

Q.8
7 Question ID :9888374728
Ans X 1. Status : Answered
) Chosen Option : 4
X 2
X 3.
¥4.
Q88 Question ID : 9888374621
Ans x N uestion ID :
Status : Answered
x 2. Chosen Option :3
Vs
54
Q.89
Ans x N Question ID : 9888374679
Status : Not Attempted
x 2. Chosen Option : -
X 3.
v
Q90 Question ID :9888374712
. estion ID :
Ans x 1. uest
Status : Answered
x 2. Chosen Option : 4
X3
v
Q.91
. estion ID : 9888374695
Ans x 1. Quest
Status : Not Attempted and Mark
( 2 ed For Review
. Chosen Option :--
X 3.
X 4.
Q.92
. tion ID :9888374666
Ans X N Question
Status : Not Attempted and Mark
X 2. ed For Review
Chosen Option : --
v
54
Q.93
Ans X N Question ID : 9888374613
Status : Not Attempted and Mark
X 2. ed For Review
; Chosen Option : ==
X 3.
” o3
Q.94
Ans x N Question ID : 9888374710
Status : Not Attempted and Mark
“ 2 ed For Review
; Chosen Option :--
X 3.
F 3
Q.95




Ans x 1. httpS//haryan ObS In Question ID : 9888374627
- : Status : Not Attempted and Mark
J 2. ed For Review
x 3. Chosen Option : ==
F 3
9% Question ID :9888374715
Ans X N uestion ID :
Status : Answered
X 2. Chosen Option : 4
X s
o3
Q.97
Ans ( . Question ID :9888374694
Status : Not Attempted and Mark
x 2. ed For Review
; Chosen Option : ==
X 3.
F 3
Q.98
Ans x N Question ID : 9888374675
Status : Not Attempted and Mark
( 2. ed For Review
. Chosen Option : --
X 3.
x4
Q.99
; Question ID : 9888374676
Ans x 1. vest
Status : Not Attempted and Mark
x 2. ed For Review
; Chosen Option :--
X 3.
v
Q.10
0 Question ID :9888374655
Ans X 1. Status : Answered
. Chosen Option : 4
X2
X s
4
Q.10
1 Question ID : 9888374677
Ans J 1 Status : Not Attempted
" Chosen Option : ==
X 2
X 3.
54
Q.10
2 Question ID : 9888374665
Ans x 1. Status : Answered
Chosen Option : 2
V2
X 3.
K4
Q.10
3 Question ID : 9888374620




Ans X 1. . H H Status : Answered
X https://haryanajobs.in, e
J 5 hosen Option : 2
X s
54
Q.10
4 Question ID :9888374714
Ans X 1. Status : Answered
Chosen Option : 2
V2
X s
54
Q.10
5 Question ID :9888374652
Ans x 1. Status : Answered
. Chosen Option : 4
X2
X s
v
Q.10
6 Question ID : 9888374644
Ans x 1. Status : Answered
. Chosen Option : 4
X2
Xs.
” o3
Q.10
7 Question ID : 9888374671
Ans x 1. Status : Not Attempted and Mark
ed For Review
<2 Chosen Option :--
v
54
Q.10
8 Question ID : 9888374721
Ans  of 1. Status : Answered
. Chosen Option :1
X 2
X s
54
Q.10
9 Question ID : 9888374689
Ans X 1. Status : Answered
Chosen Option : 2
V2
X s
54
Q.11
0 Question ID :9888374624
Ans x 1. Status : Not Attempted and Mark
ed For Review
x 2. Chosen Option : --
X s
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Q.11 pS: ry oS
1 Question ID :9888374631
Ans x 1. Status : Answered
Chosen Option : 2
2
X
r
Q.11
2 Question ID : 9888374642
Ans X 1. Status : Answered
Chosen Option : 3
X2
Vs
X 4
Q11
3 Question ID : 9888374693
Ans x 1. Status : Answered
Chosen Option : 3
X2
Vs
X 4
Q.11
4 Question ID :9888374713
Ans X 1. Status : Answered
Chosen Option : 4
X2
X
v
Q11
5 Question ID : 9888374663
Ans X 1. Status : Answered
Chosen Option : 2
v
X s
X 4
Q.11
6 Question ID :9888374632
Ans x 1. Status : Answered
Chosen Option : 4
X2
&l
x4
Q11
7 Question ID :9888374733
Ans « 1. Status : Answered
Chosen Option :1
X2
X
X 4
Q11
8 Question ID : 9888374657
Ans ( 1. Status : Answered

Chosen Option

1
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X 4.
Q11
9 Question ID :9888374673
Ans ( 1. Status : Answered
. Chosen Option :1
X2
X s.
X 4.
Q12
0 Question ID :9888374664
Ans x 1. Status : Answered
. Chosen Option : 4
X2
X 3.
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RAILWAY RECRUITMENT BOARDS

RRB NTPC Graduate 19th Jan 2017 Shift 2

[Roll No:
Participants Name:

Test Center Name:

Test Date: 19/01/2017

Test Time: 12:30 PM - 2:00 PM
Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 Find the next term of the series:
BDCA, FHGE, JLKI, ?
AT &1 3736l 9 AT I
BDCA, FHGE, JLKI, ?
Ans X 1. MINPO
X 2. ONMP
v 2 NPOM
& 4 MONP

Question ID : 9888374826
Status : Answered
Chosen Option : 3

Q_2 If TEMPORARY is written as RPMOAETRY then PERMANENT is:
afg TEMPORARY %I RPMOAETRY for@r &iam §, @ PERMANENT &t && Grar

SIrea?
Ans o 1. NMRAEEPNT

X 2. MNREAEPNT
X 3. AMRNEEPNT
/< 4. REANMEPNT

Question ID : 9888374830
Status : Answered
Chosen Option :1

Q3 ?: Clock :: Temperature : Thermometer
? - g3T - ATIHT - TATHIEY
Ans Wall

Xmaﬂﬁ

Time
2.
v oHT

Pendulum

X 3. aa
54

Analog

e

Question ID : 9888374820
Status : Answered
Chosen Option : 2

Q.4 Which of the following contains the World’s largest area of mangrove forests?
fareg & Aeaig F=11 T TR 997 &7 AFT 7 Fia-aw &2

Ans Namdapha National Park
1.
STHGTDT ACET 3 Tel

Question ID : 9888374741
Status : Answered
Chosen Option : 4
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JR———

x Balphakram National Park
3.

"’ SundarbansTISCRT SEAT

- Haldd

e

Q.5 What will be the least number which when doubled, will be exactly divisible by 4, 6, 9, 12 and 147
9E TIE-A-OE TE FAE §OR gEET A W 9% 4, 6.9, 12 3R 14§ o
faanfsta g =gt

Ans  of 1126

Question ID : 9888374792
Status : Answered
Chosen Option : 4

< 2.252
< 3.504
X 463

Q.6 A question and three statements labeled (I), (II) and (III) are given.
You have to decide which statement(s) is/are sufficient to answer the

question.

Question ID : 9888374856
Status : Answered
Chosen Option : 4

Question: Who is the shortest among P, Q, R, S and T?
Statements:
I. P istaller than T but shorter than S.
II.  Q is shorter than R but taller than T.
III. S istaller than R and P is taller than Q.

Select the right option from the following.
AT v e IR dF wue (1), (1) 3T () G o g
et g o oem § & g &1 3ok oo & T @l
qiAa-8 sad gaeg 2
wed: P, Q, R, S 3{R T # @ad aler &l g2
HYA:
. P T % oer fieg S & Ol &1
I. QR & oler feeg T & et g1
. SRadarg P Qg
forafafed & ¥ ¥ RAFeT g
Ans Only statement I is sufficient.

" et o | e Bl
Only statement III 1s sufficient.
" et e Il T B
v
Statement II and etther I or IIT are sufficient.
Foel 11 3 a1 a Fae | A1 &ae 1l 1T g
x Both I and IIT are sufficient.

"1 3T I 2t T #)

Q.7 International Tourist Bureau facility of Indian Railways 1s not available at

AR Yo T Haed wdesd s giaer # 39crser AET B

Ans Chennai

Question ID : 9888374783
Status : Not Attempted
Chosen Option :--

x1'ﬂﬁ|é’

v Thiruvananthapuram
2. .
C fasaeiaR#

pha }
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x Bengaluru
4.
ERES

e}

Q8 i i i i
13 the name of an Indian Light Combat Aircraft. Question ID : 8888374770

Ush AR Goeh oIsid [AHT &l oA §) Status : Answered
Chosen Option : 2

Ans Chetak

x1ﬂ?ﬁ?

, Tejas
dor

Rudra
3.
ol o
Dhruv
ad

v

54

Q.9 Inthe context of information technology, the process of examining large, pre-existing databases
in order to generate new useful information. is referred to as . Question ID :9888374773
Haar A F deat # 7 IR Swed ureg w4 & e 9w ¥ Aleg 93 Status : Answered

ey 1 SArg o afear #7 FET T &l Chosen Option :2

Ans simulating
rF R - .
pu
mining
v _
Argfeiar
resourcing

RC:IIESE]

hewing

o

X 3.

K4

Q.10 Which one of the following operations will result in 267 Question ID - 9888374833

a5 O T ferar &1 afiona 26 ghm? Status : Answered
Ans «1-13X16+]2—11+13 Chosen Option :1

X218+16-12x11=13
X 3.18=16+12—11 % 13
K 418-16%x12+11+13

Q.11 A car covers a certain distance in 8 hours at a speed of 50 kmph. What should be the increase in
speed to cover the same distance i 3 hours? Question ID : 9888374806

U I U AT g 1 50 FRel/ee o der § 8 € F o A 5| S gl B 5 Hel A ad Status : Answered
e & (AU SHe =T 3 frae gfg el @i Chosen Option :4

Ans
X1 50 kmph _
50 fersT/geT

40 kmph

40 fope/eeT
30 kmph

30 fape/eer
80 kmph

80 ferafl/Eer

Q.12 [




JObS In Question ID :9888374805

Status : Not Attempted

Two buses X and Y leave from the same place and go mmmﬁf
and 50 kmph respectively. But, Y leaves 6 hours after " 1
will the buses meet?

a8 x 3R Y v & T O v & fRa F werer 20 frAveR 3t so G fraw Chosen Option :--

TTorcht &1 AR Y X & S & 6 HE oG Toich g1 ATITC T I fepcter gft ot gt
Ans sz-m 1000 km

100 e
200 km

200 fREY
150 km

150 e
300 km

300 foRAT

Q.13 Anarticle was purchased m a fluctuating market on different dates at a unit price of (1) Rs. 11,

(ii) Rs. 9. (iii) Rs.8 and (iv) Rs.10. It was sold at Rs. 2 above the purchase price. Which article Question ID :9888374813
was the mest profitable in percentage terms? Status : Answered
T 3R IR U aeq (Hed i@ T () Rs. 11, (i) Rs. 9, (iii) Rs.8 T2 (iv) Rs.10 F Chosen Option : 3

Ifete Aot GhE TS| 59 SEF F Ao U 2 T J0F Hed o a9 17| widerd # FEE

i o T g S g
Ans X 1. (i)
X 2. (i)
V5 (i)
X4 (i)

Q14 Tyndall effect is related to the of light. Question ID - 9888374769
fevse 9yd 9&rer & o d&§tad gl Status : Answered
Chosen Option : 3

Ans Reflection
X
EREREE

Scattering
2,
HehToteT

Dispersion
gfyaraor
Refraction

qadd

v

K3

p

Q.15 The LCM of two numbers is 48. The numbers are in the ratio 1: 2 The sum of the numbers is

) Question ID : 9888374791
Y HEATT . 48 ¥ BNt Fnait & I L3 &1 3T & AW T A

Status : Not Attempted
Ans x 1. 60 Chosen Option : ==

v'2 40
< 3.20
X< 445

Comprehension:




The following table represents tht[tﬂsl?fﬁh &pya:rl]ia}@bs in

divisions of a consumer goods dealer during 2010 to 2013,

Year Division
W X Y Z
2010 100 96 110 136

2011 130 1534 114 108
2012 140 144 164 96
2013 86 112 76 80

mafafaa arfersr 3 2010 & 2013 &1 3afa & glua =
YA aFd Ste’ & gR [Sdieel qarT S°l a8 aeg3il &l
faefaa frar arar 2

a¥ B

w X Y z
2010 100| 96 110| 136
2011 130 134 114| 108
2012 140 144| 164| 96
2013| 86 112 76 80

SubQuestion No : 16
Q.1 The combined sales figures in 2011 and 2013 of which division was
® the lowest?
forg fedioar & 2011 3 2013 & d@gFd fohr 3 wad

A 87
Ans B 1 v
X 2w
vz
X4 X

Question ID :9888374850
Status : Answered
Chosen Option : 3

Comprehension:




The following table represents tht[tﬂsl?fﬁh &pya:rl]ia}@bs in

divisions of a consumer goods dealer during 2010 to 2013,

Year Division
W X Y Z
2010 100 96 110 136

2011 130 1534 114 108
2012 140 144 164 96
2013 86 112 76 80

mafafaa arfersr 3 2010 & 2013 &1 3afa & glua =
YA aFd Ste’ & gR [Sdieel qarT S°l a8 aeg3il &l
faefaa frar arar 2

a¥ B

w X Y z
2010 100| 96 110| 136
2011 130 134 114| 108
2012 140 144| 164| 96
2013| 86 112 76 80

SubQuestion No : 17
Q.1 During 2011, which division performed better comparatively?
2011 & ghuet fra fEdiaeT &1 geele 319aTdhd Jgal o1? Status : Answered
Ans o 1. b Chosen Option : 1
X2z
K3y
Xaw

Question ID : 9888374852

Comprehension:




The following table represents tht[tﬂsl?fﬁh &pya:rl]ia}@bs in

divisions of a consumer goods dealer during 2010 to 2013,

Year Division

W X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 26 112 76 20

frtef@a arfesr & 2010 & 2013 &r afa & clua
YA aFd Ste’ & gR [Sdieel qarT S°l a8 aeg3il &l

efa fear T g
a¥ B
w X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 86 112 76 a0

SubQuestion No : 18

Q.1 What is the ratio of total number of items sold by Y in 2012 and
8

2013 to that of Z in the same period?

Question ID : 9888374851
Status : Answered

2012 vd 2013 # Y g@rr o7 75 aed3i &1 For dear Chosen Option :1
5T GRIe Z gan ot a8 aeasit # Fer dear @ I

T 87
Ans (1_ 15
X 211:
X311
X 4.16:

o 11

16

o 15

11

Comprehension:




The following table represents trrptftgglgf/:ﬁ &pya:rl]ia}@bs in

divisions of a consumer goods dealer during 2010 to 2013,

Year Division
W X Y Z
2010 100 96 110 136

2011 130 1534 114 108
2012 140 144 164 96
2013 86 112 76 80

frtef@a arfesr & 2010 & 2013 &r afa & clua
YA aFd Ste’ & gR [Sdieel qarT S°l a8 aeg3il &l

faefaa frar arar 2

a¥ B

w X Y z
2010 100| 96 110| 136
2011 130 134 114| 108
2012 140 144| 164| 96
2013| 86 112 76 80

SubQuestion No : 19
Q.1 What is the average number of items sold by division W during the
four years?
TR gl $ A & g W Bdiere garr Jdt 15 aegsit
#1 o dEr Far g7
Ans X 1.116.5
< 2118
v 3114
K 41215

Q.20 Meera is the wife of Sachin. Sachin’s sister is Sarda and she is the
wife of Arjun. Arun is the son of Sarda. Arjun 1s the brother of
Meera. Sonali 1s the daughter of Arjun. How 1s Arun related to
Sonali?

i w1 gl ¥ afd i agd ot § 3R 98 el
@I Oell B IFOT ARGT FT ST gl o AR F AE L
ATl 3ol T JAET §1 37%0T FiATel H1 AT §7?
Ans . Father
2<1'ﬁﬁﬂ
» Brother
Cannot be determined

?<3'ﬁ#ﬂﬂia'a%11%nn'aﬂ Fhdl ¢

Question ID :9888374853
Status : Answered
Chosen Option : 3

Question ID : 9888374836
Status : Answered
Chosen Option : 2
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EIEL

Q.21 Anamount was invested at a simple rate of interest p.a. for 5 years. It would have fetched Rs.300
more had it been invested at 2% higher rate. What was the amount invested?
e JEIITEr TTROT STl h AT ol 9 5 a9 & Torw ferder 1 oIt §1 T samst &1 &7 2%

31T9% gt aY 300 TR HfEF gred gid| Ader rarg Tl fraed ofe

Question ID : 9888374809
Status : Answered
Chosen Option : 2

Ans
B 00
vimm
s B0
o B 00

Q22 Book : Author :: Movie :
TEC : ore 1 [T

Ans Producer

Question ID : 9888374835
Status : Not Attempted
Chosen Option : --

r 0
IGE IR
) Editor
T
Director
3.
( iaﬁﬁﬁﬁ

Master
4.
X HIECL

x

Q.23 P is 4 times faster than Q 1n doing a job. Q takes 27 more days than P to finish the job. If they
work together, in how many days will the work be finished?
P U F I Q T 3G 4 I ol & FLAT 1 T I GATH el 7 Q P HT 379&T 27

et e rar &) Tfe 3 =T vk arer 1T w4 &, At ket Rhde [T & ared gl eiem?

Question ID : 9888374803
Status : Not Attempted
Chosen Option :--

Ans

5§days
6 fet
?%da};s
72 e
?%days

72

r
K2

K3

7 é days

W 4
?iﬁ?r

Q.24 Find the area of a square whose diagonal 1s half of 12cm.
U 3T T &TATE AT hITolU ToTdehT faehuT 12 THT &7 37T &

Ans 18 sq.cm.

Question ID : 9888374799
Status : Answered
Chosen Option :1

«1'1333?@?41

64 sq.cm.

2.
64 3T {AT
36 sg.ci.

: 36 gat gAY

x

x
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* 72 a3t T

Q.25 Who among the following is NOT an international golfer?

Fr=fefad # & i iaa ew [Fadr =87 g2

Ans Shiv Chawrasia

Question ID :9888374748
Status : Answered
Chosen Option : 3

F R
g =i

Jason Day
" o 2
; Michael Bevan
HISF das
. Anirban Lahiri
3ifeEa anfgsr

v

x

Q.26 If cost price is 35% of the selling price, what is the profit margin in percentage?
A a Aol [aehd Hed 1 35% ¢, al oret ufderd fhdar g

Ans X' 1.187.51 %

Question ID : 9888374814
Status : Answered
Chosen Option :1

X 2.183.35%
W 318571 %
X 4.181.75%

Q.27 Classification of Public or Private sector is based on the:

et a1 @6l &t &1 aeffetor sa smar 9v fear S §:

Ans Service conditions of employees

Question ID : 9888374736
Status : Answered
Chosen Option : 4

F R
FHHATET $iT Far et

Number of persons employed

" i et & dE

x Nature of activity
3.

afafam f g
ofi Ownership

AT

x

Q.28 Pragar Bharati is an autonomous body that compriges:

YR AR Ue Tacd We & o siaetd sar &
Ans AIR. Doordarshan and BSNL

Question ID : 9888374737
Status : Answered
Chosen Option : 2

K1'31‘1’ﬂ3’%€ﬂi%€|’f, eledie 3T divauaTe
both ATR. and Doordarshan
V7 st R YR 3R qrade g
AIR (All India Radio) only
" b siter sfea e
Doordarshan only
54 - Egﬂ&iﬂ

Q.29 Which one of the following options mest appropriately describes ObamaCare?

ot # @ Flaar AT e # @98 39 w7 € ofenfd & §2
Ans Cost of hospitalization

Question ID : 9888374738
Status : Not Attempted
Chosen Option : --

3reqdrer & o7t g T e
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fPPrRIdr TareeT gar

Abolition of medical insurance
3.

Free medical care JeHeled
4.
AU FETET Hal

Q.30 Car P covers a certain distance in 11 hours at a speed of 66 kmph. Car Q covers 242 km more
than car P in the same time_ Find the average speed of Car Q.
FN P U [AfTad gl ¥ 66 Rel/Ge 6 a1 & 11 €l 5 0 Fal 51 FR Q 304 & a9 7
I P 1 3191 242 ForalT aferen g sl 81 e Q & sitea =rret wira fste

Question ID : 9888374804
Status : Answered
Chosen Option : 3

Ans
?<1_?18knqﬂ1_
718 fRedgeT

77 kmph
77 TepHlger
88 kmph
88 TehdT/EeT
83 kmph
83 fpAET/EeT

52

W 3

K4

Q31 “YouthSat’ referstoa
PRIC B US|

Ans Youth website

Question ID :9888374777
Status : Answered
Chosen Option : 2

1.
~ I d9dISe
Satellite
2.
« 34dlg

Weekend party

X3 i
qedgid el

. Motion picture

“ Thed

Q.32 Japan’s ‘Fukuoka prize-2016" for outstanding contribution towards South Asian traditional fusion

music was awarded to:

cfaior vl aiuiE wiger Hild A Seclesii AegRT &g ad 2016 &1 SIde
“PE3IHT QDR g8 Gelel Al I

Question ID : 9888374761
Status : Not Attempted
Chosen Option : --

Ans x 1 Amit Trivedi
faa Badr
X 2 Shankar Mahadevan
[T AgIGad
x 3 Yasmeen Lari
ATHHTT T
v A R_Rahman
T. . {AEA

Q.33 Find the mean of the distribution:
130, 90, 25, 77, 250, 100
S ol ATEY ATd HITaIT:

Question ID : 9888374819
Status : Answered
Chosen Option : 4

130, 90, 25, 77, 250, 100
Ans x 1. 725

X 2.77

< 3.100
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Q.34 An assertion (A) and a reason (R) are given below.
Assertion (A) : Urban India 1s sicker than rural India in spite of
better healthcare facilities.
Reason (R): Urban life is facing the problems of mcreasing
pollution levels, unhygienic garbage dumping, and a fast food
culture.
Choose the correct option.
A U FUd (A) IR wH FROT (R) @ mr g
HYT (A) @ dgaN TaRy FRAUEBT & d@Eeg aEd AR
THIOT ART HT gerer A IfIE TR B
ROT (R): 6d Sfiael I JqU0T & a¢ §U T, FEARLTRT
ali 8 0 B o, R wRe §F GEpld o aHEnst
I FIHAT HLAT 95 6T 6
e fwer o
Ans K 1.
Both A and R are true, but R is not the correct explanation of A
A 3R R g @cT §, Bheg R A T W@ FROT 8T ¢
A 15 true, but R 13 false
“Awa fhed R e &
A 15 falze, but R is true
3.
A e 8, fed R 6T &

W 4

Both A and R are true and R is the correct explanation of A

A T R EHEl IcT § 3T R A &1 T8I FROT ¢

Question ID :9888374854
Status : Not Attempted
Chosen Option : ==

Q35
Solvefora®: 7 _ 5

a—2 N a+4

Question ID :9888374815

Status : Answered
‘' T AT AT R - 7 _ 5 Chosen Option :3
a—2 a+4

Ans ( 1. 19

X 238

X319

X 4 38
Q.36

Question ID : 9888374844
Status : Answered
Chosen Option : 3




Statement: Eating nutritious food 1s the only way to keep the doctor
away.
Conclusions:

I.  Doctors will be out of job soon.

Ans 11 ;Only conclusion I follows it of doctors.

1.
rmo Wighagel [@%RY | 9760 &Ll %‘[‘ollows from the
ﬂi;%“ st Both I and II follow
KAL LTI T 2T gree g § o7 © o
FUT: ENeither I nor II follows ~ [Toc® @igh
g(}3
-l 357 GY | o Y 1| 9Tl $Lar ¢
farsa: Only conclusion IT follows

54'&'3,7,3[%@5&” qrefel &l ¢

A statement followed by some concluaﬁﬁbg'_e}i ;JHcary an aj o) b S. | n

=== |I. SiFcIl & UM T UF ALY Fid 5k DS ¢l

Q.37 Which number will replace (?) in the following series?
4,5,8,10,12, 15, 16, 20, 2,25, .......
FrETeEa sEer | (?) & T 93 Sl Ear 3neE?

Question ID :9888374824
Status : Answered
Chosen Option : 3

4,5,8,10,12,15,16,20,2,25, _.____.
Ans K 1. 24

X 2.21
W 3. 20
X 422

Q.38 What is the fourth proportional to 15, 12, and 20.
15, 12, 20 &1 IJATUTd T 82
Ans X 1.14

Question ID : 9888374793
Status : Answered
Chosen Option : 4

X212
/< 3.18
v 416

Q.39 The Government conferred Dronacharya Award 2016 for Gymnastics to:
WEFR 7 FAA=icFd & T 5o 2016 F Fomard [EeR I TEATG R

Ans 1 Sagar Mal Dhayal

Question ID :9888374760
Status : Not Attempted
Chosen Option : --

dRER A gATd
Raj Kumar Sharma
2.
TSl FHAR AAT
Nagapuri Ramesh
53
=ATg{r T

7 Bishweshwar Nandi
© f9edear A=y

Q.40 Rearrange the jumbled letters to make a meaningful English word

and then select the one which 1s different.

fqu v sregaffud 3Rl & gdeddiiyd #ih 344 drde

Question ID :9888374845
Status : Answered
Chosen Option : 2

3N esq FAY| Y 349 A 98 oG g ol 3ied A fBea 8

Ans X' 1. OLYGBOI
v 2 AEVLTR
X 3. YCEIHRTSM
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Q.41 B and C are husband and wife respectively. M 1s the father of K and
C. How 18 B related to M?
B 3iT C &g ofd 3 9=t §1 M K 3t C &1 far 81 B
M T FT g7

Ans x 1. Uncle

T

Son

X 2.

seT
v Son-in-law
Brother

?(43#5

Question ID : 9888374837
Status : Answered
Chosen Option : 3

Q.42 __isthe “work done in moving a unit charge between two points in an electric circuit™.
‘ol facga wfFc & of Mgl & AT vF 395 AU F TR A gI FET
g gl

Ans v Potential difference

RCECIRES
x 2. Current
HHT
x Power

3.
SIEG]
Resistance
K4

gfeRrer

Question ID :9888374764
Status : Answered
Chosen Option :1

Q43 The ‘Rann Utsav® is a festival celebrated in:
‘TOT 3cHa’ TgI AT Sl &
Ans o Guyarat
P ]

) Himachal Pradesh
fgHTge goEr

N Rajasthan

ME RG]

Madhya Pradesh

HET weEr

x
x

p

Question ID : 9888374745
Status : Answered
Chosen Option :1

Comprehension:




Consider the following infnrmmtpglﬂf mﬂ’r&y@ﬂﬂf{jbﬁ N

based on it.

In a building, 30 people drink only coffee, 40 drink only tea, 25
drink both tea and coffee, 20 drink both tea and milk and 15 drink

all the three — tea, coffes and milk.

frafafaa seert W fEr % 3k 39§ smarR w weal
& 3eav I

UF g A 30 @r Fad Sy d9id g, 40 dad T 9T g,
25 9/ 3R ®hr gt 9id §, 20 9 3R gy gt 9 §
3R 15 @er diEt 97 (3, S R gy) 9 g

SubQuestion No : 44
Q4 The number of people who drink only coffee is than
4
those who drink all the three (milk, tea & coffee).

Question ID : 9888374847
Status : Answered

hacl I el arel @ $HI TEAT AT T (o, I Kiiry Chosen Option : 4

FIhT) tﬁa‘“mﬁsﬁuﬁaﬁr@ﬂmﬁ 2l
Ans - 15 less
1.
" 10 &H
x 20 less

20 FH
5 more

5 3t
15 more

4.
15 31fes

Comprehension:

Consider the following information and answer the questions

P

v

based on it.

In a building, 30 people drink only coffee, 40 drink only tea, 25
drink both tea and coffee, 20 drink both tea and milk and 15 drink

all the three — tea, coffes and milk.

farafafaa seert | fEr #¥ 3k 39§ smarR @ weal
& 3eal I

U g A 30 T hdel Hihl 9id §, 40 had I 91T g,
25 W1 3R FHIhr gEr dd g, 20 9 3R gy ael 9§
31 15 @Rt el 97 (3, i iR g did &)

SubQuestion No : 45
Q.4 What is the difference between the number of people who drink tea

5
and those who drink coffee?

Question ID : 9888374848
Status : Answered

iy g arer 3w i gt Fr g & F w6 A Chosen Option :3

1 87
Ans K 1. 70
X 2.10
W 330
< 4,40




Q.46 250 grams of a sweet has 20 grams of cashew and 30 gta}tt‘pﬁcieﬁ#hla}rgy‘an at 0 bS . i n

cashew and almonds, respectively, will be there in 350 grams of the same sweet?
e fireTS #1250 AT ATAT 7 20 719 F11, 37 30 I F1G §1| 5 Frors 1 350 ameT AT A

o] 3R TG e et 7 gl

Question ID : 9888374796
Status : Answered
Chosen Option :1

Ans
" 28 and 42
28 3T 42

21 and 28

21 3T 28

40 and 60

40 3T 60

25 and 45

25 3T 45

52
X 3.
54

Q.47 A question and three statements labeled (1), (II) and (III) are given.
You have to decide which statement(s) is/are sufficient to answer the

question.

Question ID : 9888374857
Status : Answered
Chosen Option : 1

Question: What 18 40% of a number?
Statements:
I 25% of the number 13 60 less than the number.
II.  20% of the number 1s an even number.

III. 5% of twice the number 1s ﬁﬂ' of the number.

Select the right option from the following.

A ve g 3R A wee (1), () 3 () RBo oaw #
R ag o o9r & & Wi &1 3ca} & & foir #ia-
gipla-g wae gaea 2
We: U GEAT T 40% a1 g7
T
I. 3%d A& F 25% 39 &A1 H 60 FH gl
Il.  3od §&IT #T 20% TH GF &1 ¢l
1. mﬂw*mﬁHS%mﬂwﬂﬁ%
forafafea & ¥ 7 RAFeT o
Ans 2 Only I 1s sufficient.
© Fae | 9T
X 2 Both IT and IIT are sufficient.
I 3R gt T gl
X 3.

Statement IT and either I or III are sufficient.
w1l 30T a1 f Fad | a1 Faa Il waica &)

Only TIT 15 sufficient.

" e 1 qaTed gl

Q48 18 NOT a mode of heterotrophic nutrition.
qrifig 9wt fr vk ggfad 87 &1
Ans Parasitic

Question ID : 9888374771
Status : Not Attempted
Chosen Option : --

F R
Holozoic
K2
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Saprotrophic

4.

LA

Q49 Find next two letters that follow in the series:
ABBDEEEHIII _ ...
AT H e arel 3T & e Hlea-g g7

Question ID :9888374827
Status : Answered
Chosen Option : 4

ABBDEEEHIII _ ...

Ans 2117
X217
X31r
ERY

Q.50 The headquarters of the Indian Couneil of Agricultural Research (ICAR) 15 located at:
AT FTY e aiwg (EETSN) F ATAd Ja Tod &

Ans New Delhi

Question ID : 9888374740
Status : Answered
Chosen Option : 1

Ry S

Bengaluru
EEIGES]

e}

Dehradun

Xs.w

Mumbai

X4'3179|€

52

Q.51 A chemical reaction is called
o e sfafear 7 9T Seedr § 39

Ans v exothermic

- FeATRY

reaction when heat is given out.

stfafran wgr S g1

Question ID : 9888374767
Status : Answered
Chosen Option :1

combination
qarae
endothermic
FEATRATEY
decomposition
HYHCA

X 2.
53
54

Q.52 The contraction and expansion of the walls of food pipe 1s called movement.

siroter el &1 GEART & HoFaa i wwRoT #= I T AT B
Ans Peristaltic
v at -
SHlPTA

Question ID :9888374772
Status : Not Attempted
Chosen Option :--

)

N Gastric
, Oscillatory
grenetr
Diastolic
e K CIRIDEE

]

x

Q.53

Question ID : 9888374752




n

Status : Answered
Chosen Option : 3

Which of the following is NOT] of M I | I
ans Y0 ofthe following i htbﬂs.fﬁqaryaﬂnﬁjobs.l
X HOT &I FRF A1 87
@elel S
> Acid Rain
JFTT Tt
x Agricultural activities
3. e
Hiv afafatear
Burning of fossil fuels
x

4'GhamH§ﬂ?frﬂaﬂaT

Q.54 The Supreme Court of India came into being on:
AR T 3Tadd «aarey 59 & AfEdca & 3mr o

Ans

F

v

x

26% of January, 1950

Question ID : 9888374758
Status : Answered
Chosen Option :1

26 S=TEdr 1950
, 28% of January, 1950

28 S=all 1950
5 15t of August, 1949
15 3Ed 1949
. 26" of November, 1949
26 @ida 1949

Q.55 The process of splitting water molecule by light energy is called

EETE

Ans

F

FoAT @ 9 & 3] & fawsa i gfeear @ Fgl AT Bl

Radiolysis

Question ID : 9888374768
Status : Answered
Chosen Option : 4

fARRUT-3TEeT
Electrolysis

" faegd-3maees

K4

. Photolysis
HhIRT-3TIECA
Thermolysis

- ATT-3IEe

The maturity values of an amount in 5 and 6 years at 8 % simple interest p.a_ are Rs.1120 and
. y P! P

Rs.1184 respectively. Find the amount.
T LSTRT T FTIOT ST T 8% aTfier & 9T 5 31T 6 aut & gftaeraar Ui saer:
1120 T3 31X 1184 T § | Ferea 717 faw

Ans

v
<
x

F

Question ID :9888374810
Status : Not Attempted
Chosen Option : ==

Rs.560
&, 560
, Rs.800
&, 800
, Rs.160
&, 160
, Rs.600

. 600

Q.57 Which one of the following names 1s NOT related to economic theory?
et & & wla-ar = 3 f@eia & gatag =187 22

Question ID : 9888374780
Status : Answered
Chosen Option : 4

Ans Thomas Robert Malthus
Ko,
ATFHT Jd¢ Aledd
Dawvid Ricardo
~

* s Rt




x 5, JobnMaynard Keynes hittps://haryanajobs.in

Sl Aare Fieg
Niels Henrik David Bohr

"4'Eﬁwaﬂﬁ$éﬁgaﬁ

Q.58 An article was sold for Rs.2500 at a profit of 25%. What was the amount of profit?
e T 25% ST S 2500 T H 9T TS| o1 BT [fer y ofi
Ans x 1 Rs 1000
. 1000

Question ID : 9888374811
Status : Answered
Chosen Option : 2

Rs. 500
2.
v . 500
Rs. 250
3.
A 250
x4 Es 2000

. 2000

Q.59 15 men can do a work in 20 days. How many days will 10 men take to do double the same work?
15 JME3T T T &1 20 fqeT & & Gadd §1 10 IEHT 36 & SN[ F1H H AT F4 &
forw feapcrer fera ofar

Ans K 1. 40

Question ID :9888374802
Status : Answered
Chosen Option : 2

v 2. 60
< 3.50
X 4.30

Q.60 An assertion (A) and a reason (R) are given below.
Assertion (A) - The sale of mobile phones has increased manifold in

recent times.

Question ID : 9888374855
Status : Answered
Chosen Option : 1

Reason (R): The craze for e-commerce drives mobile sales.
Choose the correct option.
A TF FUeT (A) IR wE FROT (R) GAr ww g
HYUA (A) : HSISAT B 1 &R A grer & GAl # &5 aper
If& §% ¢
FROT (R): $-HAY F 9fd o[ o Asa 1 &6 1 3o
# #ice # ¢
e faFew gl
Ans K1_
Both A and R are true and R 1s the correct explanation of A
A 3R R gl @cd § 3R R A & |81 FRT §
A 15 true, but R 13 false
“Awa fhed R e &
A i3 false, but R 1s true
A e g g RETE

F 3

Both A and R are true, but R is not the correct explanation of A
A 3R R gt @7 & fheg R A T TE HROT o787 §

Q.61 Who was sworn in as the Governor of Odisha on the 21%t of March 2013?
21 &A1 2013 &7 Faer Jfser & TsIde & &9 # 99T &

Ans Shr1 Keshari Nath Tripathi

Question ID :9888374757
Status : Answered
Chosen Option : 2

Kt ety smer Sy




V2 Dr. S. C. Jamir
st vg. 91 SR
s Shri Ram Naik
Shri Ram Nath Kovind

4'&% A AT Hifdeg

x
<

https://haryanajobs.in

Q.62 X 15 the son of Z. Y 15 not a son of Z. K 15 Z’s wife. X 15 the brother

of Y. How is Y related to K7
XZHATE Y Z BT dcT a1 gl K Z &1 9l 81 X Y

Question ID : 9888374838
Status : Answered
Chosen Option :1

FTAE E1 Y K &1 Far g2
Ans Daughter
w.w"—“’h

X 4 Grandson

drar

Q.63 In economics, a very deep, long and painful recession is called

eferEA F 9gd Ml At AR qEeTE HEY B T AT ¢
Ans v Depression

Question ID : 9888374781
Status : Answered
Chosen Option :1

S CEI
Deflation

aehifa

Inflation

wRf

Depreciation

Hederd

K2
K3

54

Q.64 Silicon is a commonly used

fafeiee 3MAGR 9T 9gad glel aren gl

Question ID : 9888374765
Status : Answered
Chosen Option :1

Ans e Semi-conductor
3ref-aTee
; Conductor
2.
x Uleleh
. Amplifier

[UFEeC L riy

Insulator

?<-4'fEEEgEFITﬂﬁ

x

Q.65 Find the mode of the following data:
110, 80, 70, 90, 120, 90, 80, 70, 60, 80

ﬁﬁl?ﬁgﬁﬁET3ﬁﬁﬁﬁYﬁTa§?FF3m?TéﬁﬁﬁU:

Question ID :9888374818
Status : Answered
Chosen Option : 1

110, 80, 70, 90, 120, 90. 80, 70. 60, 80
Ans « 1. 80

< 2.110

< 3.90
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Q.66 Complete the analogy.
IfD=17 F =?
e d I T FI

Question ID : 9888374821
Status : Answered
Chosen Option : 2

Afe D =178 @V F =2
Ans X1_33

V2 37

X 3.27

X 423

Q.67 From the given options, find the rational number between the range f and 0.6.

few e fasheat F A 2/4 31X 0.6 & e 3= gl 9fET Tear wla-dr e
Ans 11

Question ID : 9888374788
Status : Answered
Chosen Option : 2

P P
25

21
Y R
40

X3.E
4

X 4 11

4

Q.68 “Sahitya Akademi’ is mainly dedicated to the promotion of:
‘HIged IPIEHT LT TT T 38 FIcame o & Tolv Jafid g
Ans x 1 Drama

Question ID : 9888374743
Status : Answered
Chosen Option : 3

dlch
Music
F
EEl]
Literature

Hifecd

Dance forms

?(4-@ o

W 3

Q.69 The areas of two similar triangles are 121 sq m and 64 sq m_If the median of the 1+ triangle =
12.1 m, then the median of the 2*4 triangle will be
o FAET Ffei & aTeher wHer: 121 791 A7 31 64 91 31 §) A ager Feger 1 fer
12.1 # g, @ gt Preg &1 Anfeaer gt

Question ID : 9888374816
Status : Answered
Chosen Option :1

Ans 6.4 m

1.
o 6.4 Hr
54 m

8.4 Hl
58m

8.8 HI
92m

9.2 #Hl

X 2.
v 3
54

Q70 ‘Biosphere Reserves’ are most appropriately described as:

SaEse JIRET &7 &1 g9 T Harr

Ans Bio-gas production sites

Question ID : 9888374751
Status : Answered
Chosen Option : 3

x1'am’r-ﬂﬂ3?cr|ac—rrwa




X2 Mineral deficient reservhittp s://ha ryan aJObS IN

@fasll & & arel ssK
Learning sites for sustainable development

gad e & IHeaT F2Al
Sites affected by deforestation

4'a7rﬁ$rardéﬁ\;ra¢rﬁam

v 3.

Q.71 The ‘Kud dance’ is a famous dance form of:
e, ofcd’ G H Th 90E dcd &9 g

Ans x Madhya Pradesh
1.
He 9eer

Jammu & Kashmir

AFH-HHI

Odisha

EIEEDS

x4 Rajasthan
AT

v 2

K3

Question ID : 9888374744
Status : Not Attempted
Chosen Option :--

Q.72 1
If —— =002314then — - =2
43.21

0.0004321
1

afe 1 =oo02314¥ A — 1 =0
43.21 0.0004321

Ans X 1.23.14
v 2 2314
< 3.0.0002314
X 42314

Question ID : 9888374785
Status : Not Attempted
Chosen Option : --

Q.73 Two varieties of salt, T and 5, costing Rs. 25 and Rs. 35 per kg respectively are mixed in the ratio
of 4 - 6. The mixed variety is sold at Rs. 37 per kg. What is the approximate profit percentage?
HE $T a1 faneAl T 3R s, iotsh v Fea woen 25 TR 3 3s v ufd relT €, 4 -6 %

sreqara # fAfaa o arar €1 fafa e @ 37 w92 wfd feal < gr @ s=r smar g1 e
icere erarsTar fohcer §7

Ans  of 1.20%
X 2.33%
X 3.25%
X 4. 38%

Question ID : 9888374812
Status : Not Attempted
Chosen Option : ==

4 .
What is % th of 60% of 807

Question ID : 9888374798
Status : Answered

80 & 60% T E fehaT glam? Chosen Option : 1
Ans o 142
X 248
X 3.28
X 4.56
Q.75 1s a semi-luxury tourist train.

T FI-oTeFall JAeed ¢ gl

Ans

Question ID :9888374784
Status : Not Attempted
Chosen Option : --
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el qerEAe T fed
X 2. Deccan Odyssey
Sahel AifadT
Desert Circuit

Y s e

Q.76

Ans

3.0 x 0.3 % 0.03 % 0.003 =2
X 1. 81x10-4
X 2.81x10°7

Question ID :
Status :
Chosen Option :

9888374789
Answered
4

X 3.81x10°5
W 4 81x10°8

Q.77

Ans

so1ls are also known as ‘regur’.

_ Er @R eft &t aar g
Alluvial

Question ID :
Status :
Chosen Option :

9888374742
Answered
2

Black
TelT

Deszert
AT

Mountain

9dd

Q.78

Ans

A wheel has a diameter of 84 cm. How many revolutions should it make to cover a distance of 792 m? (1=22/7)

o g T S 84 AT §1 792 FRI ¥ gl T T F v 59 Fic T oo g (n=22/7)

<1208
' 2300

Question ID :
Status :
Chosen Option :

9888374800
Answered
2

< 3312
X 4256

Q.79

Ans

Choose the most appropriate option from the following.
GDP is the total value of during a specific period.
Trfafad 7 @ aaifos sRE R T

TEhe wle 3curg (SN2 ve ARy sefa & dhe

T Fel oA ¢l

Question ID :
Status :
Chosen Option :

9888374735
Answered
2

F R

all goods and services produced or sold
asft aEg3it 3T A9 & Scaree rar fasht
v 2

all the finished goods and services produced within a country
U 2 & oY gl dar A 3 & g fansit
53

all intermediate goods and services produced or sold

wolt weracll aeqsl AT QA & scoiea Jrerar g
F 3

both intermediate and final goods and services produced within a country
TF ¢ F sfar ool Aeadt 3 dar ot ave F A 3R & S dansit

Q.80

Ans

The 1dea of non-cooperation movement during freedom struggle did not envisage:

TacAar TuY & gl gu s gl & IRFeusT H g e HAeT on

Question ID :
Status :
Chosen Option :

9888374746
Not Attempted
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germafaE At &1 aRvEr|
the boycott of foreign goods.
2. .
ular violence.
Vs pop _ T Ifgveh|
A 3Tl
the surrender of British titles.

x4ﬁﬁ“@f3ﬂﬁu’i$rqﬁalml

Q.81 Ifthe mathematical operators —, +, » and + are represented by G, P, U and S respectively, then
find the value of
483S83PT7U2G21.

afg N TFRF -, +, x AR+ B FAE: G, P, U @ S g@wr Fwfa e
ST ¥, @ 48S8PTU2G21 & A Fard|

Ans x 1.0
V2 1
< 3.20
X421

Question ID : 9888374831
Status : Answered
Chosen Option : 2

Q.82 12 men or 24 boys can do a work in 20 days. In how many days, will 24 men and 12 boys

together complete the same work?

12 3TEHT AT 24 WS Wb HIA HI 20 BAl 7 HL Tohd &1 24 AT 3R 12 o1& Fest =40
FTH Tl el TGl § FATT & o9

Ans 110
X212
X 315
Vg

Question ID : 9888374801
Status : Answered
Chosen Option : 4

Q.83 The Buddhist shrine “Temple of Tooth’ 15 located 1n:
dtg drerema g @ Al gt Tug &
Ans X1 Malaysia
Helferan
Sr1 Lanka
v
AfTeiehT
Nepal
53 P
starer
China
X 4.
e

Question ID :9888374762
Status : Not Attempted
Chosen Option : --

Q.84 The number of boys in a bus at the starting point is twice the number of girls. On the way, when
15 boys got down and 10 girls entered the bus, the number of boys and girls became equal How
many boys were there at the start of the journey?

RIEIATEH &g T U o) 31 eTgeh] 1 §am SI3Thal 1 HEar & G §1 IR 7 15 T5% 3a¥
et 3 10 eisfRal a9 9T 96 el §, Foret eiset 37 esferal i iean axre gt & 81
AT 1 LT3N A eT3ehT 1 HEAT 7 off?

Ans X 1.45
X 2. 40
'3 50
X 455

Question ID : 9888374786
Status : Answered
Chosen Option : 3

Q.85 What will be the value of the expression if the signs ‘" and *+” are interchanged?
IB-2+1%x6+6
afg '~ wd '+ REal F T 39w 7 9o (S, Jf @ & J9 F2 gen?
3B-2+1%xX6+6

Ans x 1.37

Question ID : 9888374832
Status : Answered
Chosen Option : 2
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X 30
V419

Comprehension:
Consider the following information and answer the questions

based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q, a software engineer is married and has two sons. All of
them live in a joint family.

farafaf@a st W fdar & 3 39% MR W weal
¥ 3oa}

Y us Ffgolt § 3R 3oar ofd ey €1 39 3¢ J UF
e 3t K e dag &, BadT aidl oA o a9 3K
U RITTH T g5 81 J &1 Adfed 91 P T SEIFA &,
forees 2 d¢ §1 K @1 faarfga @& Q veh diteday Sollely
g, fo@® or 9¢ g1 3 |3l vs H@gead 9E” # Ed ol

SubQuestion No : 86

Qés What is the male : female ratio? Question ID : 9888374840
qeY : AT & Idid F4T §7? Status : Not Attempted
Ans x 1.4-8 Chosen Option : --
K21:1
X 38:4
Wvi9:s

Comprehension:




Q.8
7

Ans

Consider the following infnrmmtpglﬁ MQ’FS/EHHJ?ESBS N

based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q, a software engineer is married and has two sons. All of
them live in a joint family.

farafaf@a st W fdar & 3 39% MR W weal
¥ 3oa}

Y us Ffgolt § 3R 3oar ofd ey €1 39 3¢ J UF
e 3t K e dag &, BadT aidl oA o a9 3K
U RITTH T g5 81 J &1 Adfed 91 P T SEIFA &,
forees 2 d¢ §1 K @1 faarfga @& Q veh diteday Sollely
¢, forEs or 9¢ g1 ¥ @l oF Hgea TiER 7 ©d 2

SubQuestion No : 87

Question ID : 9888374842
Status : Not Attempted

Chosen Option : --

Which of the following combinations 1s a couple, from the given
information?
& S Sl F AR W FdA F osAd @ Flaar v
faarfea st &7
X1 Teacher — Teacher
faifarer - et

x Teacher — Inspector
2.

fifaterr - Svdeae
X 3 Housewife — Banker
arfgult — da

Nutse — Teacher

W 4.
S A9 - e

Comprehension:




Consider the following infnrmmtpglﬁ ﬁhsarpygngfejbg N

based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q, a software engineer is married and has two sons. All of
them live in a joint family.

farafaf@a st W fdar & 3 39% MR W weal
¥ 3oa}

Y us Ffgolt § 3R 3oar ofd ey €1 39 3¢ J UF
e 3t K e dag &, BadT aidl oA o a9 3K
U RITTH T g5 81 J &1 Adfed 91 P T SEIFA &,
forees 2 d¢ §1 K @1 faarfga @& Q veh diteday Sollely
¢, forEs or 9¢ g1 ¥ @l oF Hgea TiER 7 ©d 2

SubQuestion No : 88

Q8 O '
s Q8 grandmother 15 a Question ID : 9888374841

Q &1 ﬁla Tch %’I Status : Answered

- Chosen Option :1
Ans Housewife P

v &1 st
Nurse
g
Banker
GETy
Teacher

fRrfEenT

K2
53

K4

Q.89 Which one of the following belongs to India‘s inter-planetary mission? )
A3 % 3 & 3w ) Question ID : 9888374778
E Rl 3T e T &7 Status : Answered
Ans ?{ 1. SARAL Chosen Option : 3

JLel

- Jugnu

~ 2.
Mangalyaan
Harerdr=T
ANUSAT

e

e}

V3

~ 4

Q.90 1 ] ) icati 1 1 7
Workbook, in a computer application, is basically related to Question ID : 9888374774

EFG’II“_ET H aﬁﬁfﬁ HHAAR 9T B_H@- gafaa Bﬁ'ﬂ' é’: Status : Answered

; Chosen Option :1
Ans  of 1. MS Excel P

/< 2. Adobe Reader
7< 3. MS PowerPoint
75 4. MS Word

Q91
Question ID : 9888374817




If cosb = 4;, sech + tand =7

https://haryan?jobs.in Status

Chosen Option

:Answered
1

Ans  of ¢c23 =4/5 &, Ol sech + tand =2
X 21
X33
K44

Q92 A person is called computer literate if he/she 1is just able to
Fis o “FU T Fgardl ¢ G a8 T&IH gl had

Ans 1 Run need-based applications

Question ID
Status
Chosen Option

19888374775
:Answered
1

 3TaeTs UTCeseET S Tere #
X2 Create anti-virus software
UE-ARRY Wi et #
. Write programs
g frEe
Hack other computers

K4'qﬂi$m1ﬂaﬁ%$aﬂﬁﬁ

x

Q.93 IfHIJACK is coded as UVWNPX, then what is SPOON coded as:
afg HIJACK &1 UVWNPX & &7 # #1g fear orar &, df SPOON &1 frd &7 #

HIz fFar seam?
Ans X 1. GQPPO

Question ID
Status

Chosen Option :

19888374828
:Not Attempted

' 2 FCBBA
/< 3. EONNM
X 4. PSNNO

Q.94 1n the famous book, Hind Swaraj (1909), Mahatma Gandhi declared that the British rule in India
was established:
gffg gras fie Fatrel (1909) # AegleAr 2l «f Fuse o & AR & fafeer amaa

Taifg foam I e

Question ID
Status

Chosen Option :

19888374747
:Not Attempted

Ans with the co-operation of Indians.

v AT & Hgdr &)
by using force.
" et T CanT|
without the co-operation of Indians.

: AT & FgAEr & f&e)
by other foreign powers.

" St el et GaNTI

Q.95 The name of the famous tigress of Ranthambore National Park, Rajasthan that died in
August 2016, was -
ToIEATel & (Uit sizierer ardh A1 9ffe aifder, Frwsr dged sered 2016 & gan
o, A W e S em

Question ID
Status
Chosen Option

19888374739
:Answered
12

Ans Sita
F R
Hrar
Machali
HGell

Sundari

Kg'ﬂﬂ’r
K4

v

Jhumroo

g




Q.96 A father gives money to three of his sons, Ramu, Shan'hi‘]tp& ;Mnarya n at O b S . i n

Ans

respectively. If Dhamu gets 120 more than Shamu, how much does Ramu get?
e TR 37T ST W9, AT, ST e 3 7ol ererifir swerer 7:5:9 & vy  afean 71 afg
o 1 el Ui eme A 120 31 &, o T T el Ui fenel @2

Question ID : 9888374794
Status : Answered
Chosen Option : 4

X 1.150
< 2300
X 3420
W 4 210

Q.97

Ans

15 the highest legislative body of India.

9Rd &1 gafeg Furft @ g
The Cabinet of Ministers

Question ID : 9888374756
Status : Answered
Chosen Option : 2

Fiaee
The Supreme Court
FTadA SR
X3 The Election Commission
aras smanr
The Parliament
W 4 e

Q.98

Ans

While editing a text document in MS Word, the combination keys used for copying and pasting
text are respectively:

TH TH d5 § ¢HC ST @ S @Ad F SR e a6 F R
FA: A [ Fiorar wgFT i £

Question ID : 9888374776
Status : Answered
Chosen Option : 2

X 1. Ctrl+¢, Ctrl+z
W 2 Ctrl+c Ctrl +v
K sCtrl+x Ctrl+v
Xoactl+v, Ctrl +¢

Q.99

Ans

A worker’s salary was increased by 30%, so that his salary became Rs. 910. How much did he

earn before the increase?

s FAIAE F Ad=T 7 30% $T gig 1 73, A0 36 dd+ 910 TG g1 71 S B |
g el 3hT diel T AT?

Question ID : 9888374797
Status : Answered
Chosen Option : 3

< 1.1300
< 2.880
v 3700
X 4.810

Q.10

Question ID :9888374843
Status : Not Attempted
Chosen Option : ==




A statement followed by some conclush*tlpsellﬂﬂ‘}arya na J ObS in

Statement: ABC Tuitions promise excellent teaching by excellent
teachers for sure success.

Conclusions:
Ans Neither I nor IT follows

J"[ 188es8.
q Farl e &l aree & g

"2yl Only conclusion I follows
given s-ta'ﬁﬂ' W | 9refel Shdr %-
Teh Y Dnh conclusion II follows @ 2

X3
i et oSy || dTere aar g7 g R
GdRT 3 Both I and II follow

L1 3 1 Qe e e

ollows from the

T 1. 39 U8 dIcl ¢iY Tuele FEl $f S3AdS (e

Q.10 Amjad Ali Khan is an Indian classical musician who plays the:

3HASIE 3l @i U ARG AT Gfider § & S9d g
Ans Nl FTapra P16 o1 et sraer gt g37 &l
1

Question ID : 9888374759
Status : Answered
Chosen Option : 4

wons' RO foread @ Re go waw &1 affs w9 o
r??*z%MandoLin
Sitar
F 3
, Sarod
o 4
T Wg

Q.10 Under the Railways’ dynamic fare pricing, the fare component may
2 bookings.
@d & afasfie R qea HuRer & dgd 9 de & arr-ar B I

with the subsequent

Ans may imncrease or decrease

Question ID : 9888374782
Status : Not Attempted
Chosen Option : --

F R
9¢ AT 9 Tehal &

be scrapped

& frar o1 asar g
decrease

HC Tehdl &

increase

9¢ "hal §

X 2.

53

v &3

Q 10 Kabaddi is NOT the State game of
EIEEE]] T FT TSI '@T»r T &l

-

Ans  _  Rajasthan

Question ID : 9888374750
Status : Not Attempted
Chosen Option : --

v &
T F 4T
Tamil Nadu

KZHﬁma
K3

Telangana

REEIGH

Punjab
i

p

Q.10 The Netaji Subhas National Institute of Sports is located in
Adrell gAMWW TSER ISt HEATA I g g

Ans

Question ID : 9888374749
Status : Answered
Chosen Option : 2
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Q.10 Rekha reads 15 pages in 25 minutes. How many pages will she complete in 45 minutes?

S Y@ras Bee d 15 ueet gadr §1 45 [@ee & ag Tedet deal ugetio
Ans X 1.30

Question ID : 9888374795
Status : Answered
Chosen Option : 2

v 2 27
X325
X 435

Q-61° Complete the analogy.
If MGE = 25, then LJF =?
qreed I qU |

Question ID : 9888374822
Status : Answered
Chosen Option :1

gfg MGE = 25 &, df LJF = 2
Ans «1-28

X216

X322

X 4.18

Q10 Afier how many vears, will Rs. 1,728 become Rs. 2,197 at 8 % % p.a. compound interest?
7
BETIFEEEDE % % T ¥ 9T 1,728 T fohdal ast & 2,197 g1 SIRER

Ans 2 years

Question ID :9888374807
Status : Answered
Chosen Option : 3

XLZEﬂﬁ

1
IEyears
1-a§
2

3 years
3y

1
2Eyears

2%@‘{

52

v &)

X 4.

Q.10 How much will Sangita get, if she deposits Rs. 37,000 at a sumple rate of mterest of 4. 5% p.a.
8  after two years?
fe; HafTdT ATROT AT &7 4.5% T8 gL 9L 37,000 F9 STAT HLdl &, AT 30 &F af & «1g
Tepeell Tfel yree g

Question ID : 9888374808
Status : Answered
Chosen Option :1

Ans  Rs 40330
v ¥, 40330
Rs. 3330
2 F.3330
Rs. 39960
e . 39960
Rs. 2960
e F. 2960
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FT 9T ATH & N
Ans TIntelligent Character Recognition

n Question ID : 9888374779
Status : Answered
Chosen Option : 4

" geivie Raet Refmee
Information and Communication Reader
Xz geTBrHe Us dagfoleherst {IsT
Integrated Computer Research
.S £EEIE e REd
Institute for Cyber Research

" e ok e R

Q.11 The quorum to constitute a sitting of the Lok Sabha is of the total number of members of
0 the house.
w1 SoF & Tod F U EAF FRA FaA F T Feedt & B

grar g1

Question ID : 9888374755
Status : Answered
Chosen Option : 4

Ans One-half
1.
K K131

Two-thirds

X2 foers

X 3 One-sixth

wBodl
, One-tenth

(aﬂ?ﬁ'

Q-111 Which alphabet will replace the (¥)?
ADL=*,Y
(+) & T 9T Flag-ar goi TTIM?

Question ID : 9888374825
Status : Answered
Chosen Option : 4

A,D, L7, Y

Ans 1L,
X2t
X3 N
vp

Q-211 World Sparrow Day is observed every year, on March 20 to:
foreg it feaw gfd aw 20 A & FaRT FACT §:

Ans Celebrate the increasing number of sparrows

Question ID : 9888374753
Status : Not Attempted
Chosen Option : --

T e et e B s i 2
52

Show superiority of sparrows over other birds

3ed 9iErt 1 derelr & aiar i Avear @ & feiw
v 3.
Increase awareness for conservation of sparrows
T & TEIUT g ARTERAT dele & o
Commemorate the birthday of Dr. Salim Ali
R T S

Q1 1% an irrational number.

U 9RET GEATE

Question ID : 9888374787
Status : Answered
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XZ. o
X3_E
3

11
p g Rp—
8

Q.11 In a certain code, if rat is called cat, cat is called bird, bird is called elephant, elephant is called
4 fish and fish is called rat, then who can fly in the sky?
s fafdse @1z A 98 #1 faceh, Toceh 1 Rfzw, Rz &1 geh, grefl &1 A,
3R Tl Fr ggT Fer Iar &, & IAT T 3 7 FiT 33 aar 87

Rat
1.
g
Elephant

grefr

Ans

v

Question ID : 9888374829
Status : Answered
Chosen Option : 2

Q-511 What will be the next number in the following series?
0,7, 26, 63,124, ?
fraAfef@a @ 7 30 & #4r geie?
0,7, 26, 63, 124, ?
Ans X 1.147
< 2.199
V3215
X 4.187

Question ID : 9888374823
Status : Answered
Chosen Option : 3

Q-G" The ‘Fountain of Wealth® is located in:
‘Bi3wce T door Tgl Tud &
Ans Singapore
1. -
P ]
Thailand
K2 5

X3 Saudi Arabia
ESETA N EC)
London

r

Question ID :9888374763
Status : Not Attempted
Chosen Option : --

Q.11 The LCM of twe numbers is 114 times their HCF_ If the sum of LCM and HCF is 2300 and one
7  of the numbers is 380, find the other number_
T T T o . 396 A F. 114 AT 8| TG 0. IR A7 FT AR 2300 § 3R v dwam
380 g, o gadl HEAr A1 FifT

Ans X 1.140
X 2.160
v 3.120
X 4.190

Question ID :9888374790
Status : Not Attempted
Chosen Option : ==

Q11




8 The ozone molecule is made up ttpsai#:hafrqm Question ID : 9888374766
Emﬁl“]?[ Eﬁ ﬁ JObS In Status : Answered
v Three’] A sfedioted & AT glid & )

Chosen Option :1

Four
2.
K IS

Five
x 3 =f
g
Six
4.
x =

Q11 1 ine 1z di
o Which of the following is different from the other three? Question ID : 0888374834

E';Flﬁ @' El'ﬂH—FT Elﬁa CICINGIG] ﬁ' IE GGl %‘? Status : Answered

. Chosen Option : 2
Ans x 1 Crocodile P

 HINHATS
Sea Horse

«214?1?[5!@

Q.12 Which of the following is NOT a threat to the tiger population in India? Question ID :9888374754
uestion ID :
0 Aef@d & @« aRg & 9=t f 39 & &v @dr a8 87
Status : Answered

Ans Reduction in available prey Chosen Option : 1

F R

3uersy fAFR & FAT
Connecting Wildlife Corridors

v
dedelld ATCRART T HATote
Cattle Grazing
F 3
#HAAT 1 =TS
Habitat Fragmentation

4?@%&?@%%
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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 Fill in the blank:
0,2,6, ——,20,30,42
Ans ( 1.12
X210
3.8
X 46

Question ID : 9888374947
Status : Answered
Chosen Option :1

Q.2 Which of the following States hosted the 35% National Games in 20157
Ans X 1. Delhi

2 2 Goa

v 5 Kerala

#< 4. Andhra Pradesh

Question ID : 9888374863
Status : Answered
Chosen Option :3

Q.3 Which of the following 1s true for a Car running at a constant acceleration on a
uniform straight road?

Ans B 1. Acceleration of the car is zero

/< 2. Velocity of the car is zero

53

Acceleration of the car is continuously changing
W 4. Velocity of the car is constantly changing

Question ID : 9888374864
Status : Answered
Chosen Option : 4

Q4 What does UNHCR stand for?
Ans 5 1. United Nations Human Capital Research
52
United Nations Humanity Committee for Refugees
Vs
United Nations High Commissioner for Refugees

& 4.

United Nations Humanity Commission for Refugees

Question ID : 9888374904
Status : Answered
Chosen Option : 4

Q.5 InDecember 2015, who among the following was appointed as the new CEO of Food Safety and
Standards Authority of India (FSSAI)?

Ans 5 1. Ashish Bahuguna
#< 2. Anil Kumar

Question ID :9888374876

Status : Not Attempted

Chosen Option : --
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« 4. Pawan Kumar Agarwal

Q.6 Mr. Mahesh buys a toy for Rs.25 and sells it for Rs.30. Find the gain percentage.

Ans “ Question ID : 9888374940
0,
120 % Status : Answered
K2 2209 Chosen Option :1
X3 25%
K4 21%
Q.7 Which of the following is considered to be the largest volcano on Earth (in terms of its mass and
footprint)? Question ID : 9888374875
Ans x 1 Djos del Salado Status : Answered
Chosen Option : 2
X 2. Mount Vesuvius
v 3. Tamu Massif
< 4. Mauna Kea
Q.8 Divide Rs. 169 in the ratio 2:5:6. The rupees in the respective ratios are given by:
Ans Question ID : 9888374918
x 1.26,66 & 77 Status : Answered
( 2.26,65& 78 Chosen Option : 2
X 32567 & 78
X 426,70 & 73
Q.9 IfPALE is coded as 5293, EARTH 15 coded as 32681, how 1s PEARL coded in that code?
Ans Question ID : 9888374952
x 1.53289 Status : Answered
x 2. 536829 Chosen Option :3
v 353269
X 453829
Q.10 i 1
All irrational number are Question ID : 9888374914
Ans x 1. integers Status : Answered
x 2 imaginary Chosen Option :4
< 3. whole
W 4 real
Q.11 A telephone bill costs Rs. 35.50 for 3 minutes 20 seconds. What 1s the cost, in rupees, for )
5 minutes 30 seconds? (Round up to one decimal). Question ID : 9888374919
Status : Answered
Ans 1.
“ 38.6 Chosen Option :1
X 2587
X 3585
X 4588
Q12 Fy i
Find the fourth proportional to 12, 18, 20. Question ID : 9888374913
Ans ( 1. 30 Status : Answered
x 2. 50 Chosen Option :1
X 3.35
X 4. 40
Q13
The value of Question ID : 9888374911
Status : Answered
Ans Chosen Option :4

324
1. —
x 25




162
2. —
X2 —

162
3.
s =

(4%

5

https://haryanajobs.in

Q.14 To determine the health of a water body, what 1s measured?

Ans

« 1. Dissolved Oxygen
/5 2. Dissolved Fluorine

/< 3. Dissolved Methane
75 4. Dissolved Caleium

Question ID :

Status
Chosen Option

9888374868

:Answered
1

Q.15 Which of the following gases is also known as a “Stranger’ gas?

Question ID : 9888374867
Ans J 1. Xenon Status : Answered
x 2. Neon Chosen Option :1
/< 3. Krypton
/< 4. Argon
Q.16 A question and two statements labeled (I), (IT) are given. You have .

] ] ] ] ] Question ID : 9888374977
to decide which statement(s) is/are sufficient to answer the question. Status : Answered
‘What is Rashmi’s rank in the class? Chosen Option : 1
1. There are 25 students in the class.

II. There are & students who have scored less than Rashmi.
Ans o 1. Both the statements together are needed.
7< 2. Statement I alone is sufficient.
7< 3. Statement II alone is sufficient.
7< 4. Either I or I alone is sufficient.
Q.17 A shopkeeper cheats to the extent of 15% while buying and selling fruits, by using tampered )
weights. His total gain, in percentage, 1s: Question ID : 9888374930
Status : Answered
Ans 1.32.75
x i Chosen Option : 2
v 23225
X 332
X 4325
Q.18 ) . . . - n
The volume (in cu.cm.) of a right circular eylinder with radius 2 cm and height 2 em 1s: ( take 7 = T) Question ID : 9888374939
Ans x 1175 J,( 7 Status : Answered
Chosen Option :3
X 2.176/21
J 3. 176 f 7
K4 176
Q.19 Jawahar Rozgar Yojana (JRY) was started with effect from
A ) Question ID : 9888374882
ns x 1. Aprﬂ, 1,1977 Status : Answered
52 April, 1, 1998 Chosen Option :1
2 3 April, 1,2012
W 4 April 1,1989
Q.20 The ‘2016 ExoMars Trace Gas Orbiter’ 1s the first i a series of Mars missions to be undertaken
Question ID : 9888374896

Jjointly by the two space agencies, European Space Agency (ESA) and




Ans . 1 1 Status : Answered
/1 NASA, USA https://haryanajobs.in |
Chosen Option : 3
x 2. JAXA  Japan
X 3. ISRO, India
v Roscosmos, Russia
Q.21 - = —
Compute_ 10584~168-63 Question ID : 9888374909
Ans x 1.1 Status : Answered
( 2.0 Chosen Option : 2
x5 240
5
x4 2%
5
Q.22 Which is the correct ascending order of the given numbers? Quesion ID : 9888374910
uestion ID :
e [Fegefed g, we SHFANE @FEL Adn? Status : Answered
Ans 4 p Chosen Option : 3
XK1—,03.=
9 7
4 2
X203,—.=
o 7
V5 2 03 4
- B
7 g
2 4
K4 —,—.03
7 9
Q.23 Pranhita is the largest tributary of Godavari river conveying the combined waters of the Penganga ]
river, river and the Wainganga river Question ID : 9888374907
tus :Not A
Ans ( 1. Wardha Status : Not Attempted
Chosen Option : --
/< 2. Koyna
/< 3. Tapti
< 4. Ulhas
Q.24 There are total 200 students in a school, of which %*mboys. Find the number of girls in the school. Question ID - 9888374908
Ans x 1.100 Status : Answered
Chosen Option :3
< 2. 60
V'3 120
X 480
Q25 The Meenakshi Temple is located in - Question ID - 9888374874
Ans “ 1. Tamil Nadu Status : Answered
x 2 Ra_]asthan Chosen Option :1
7< 3. Maharashtra
/< 4. Punjab
Q.26
If 5in x =i= thenSecx+ Tan x= 7 Question ID : 9888374938
5 Status : Answered
Ans B 1.37 /20 Chosen Option : 3

X 2.31/12
33
X 41/3




Q27 Which of the following sports is Iﬁtﬂltbgﬂ#l,éhraq%h jObS 1N Question ID : 9888374861

Ans 1. Football Status : Not Attempted
X 2. Swimming Chosen Option : --
W 3. Weightlifting
/< 4. Archery

Comprehension:

Study the following information carefully and answer the
question given below it:

In a certain town, there are 5000 people. Out of them, 1200 do not
subscribe for any newspaper, 2700 subscribe to ‘The Indian

Express’ and 1800 subscribe to *“The Hindu’.
SubQuestion No : 28

Q2 i : i ; )
. How many subscribe to “The Indian Express’ only? Question ID : 9888374970

Ans x 1.1100 Status : Answered
) Chosen Option : 2
v 22000

< 3.2500
7< 4.1800

Comprehension:

Study the following information carefully and answer the
question given below it:

In a certain town, there are 5000 people. Out of them, 1200 do not
subscribe for any newspaper, 2700 subscribe to ‘The Indian

Express’ and 1800 subscribe to *“The Hindu’.
SubQuestion No : 29

Q2 " )
S How many subscribe to both the newspapers? Question ID : 9888374971

Ans x 1. 3800 Status : Answered
Chosen Option : 3
< 2.1000

' 3.700
< 4.500

Q.30 -
Complete the Analogy : Question ID : 9888374944
When : Where :: Time : ———- Status : Answered

el 69 %4 Chosen Option : 3

YA (PHH : c Ay ————————

Day
r 8 ot

Watch

Kz.ﬁ%

s Place
3.
v
Money

ORI

Ans

&4

Q.31
Question ID : 9888374948




Status
Chosen Option

Ans F%dthe next term of the seneshttps //haryan?JObS in

:Answered
14

GEI
V101Q. SUW, YAC, ——
X 2'EIG

X 3. DBF
W 4 EGI

Q32 Mohiniyattam is a classical dance form of .

Ans 1. Maharashtra
7< 2. Tamil Nadu

Question ID
Status
Chosen Option

19888374886
:Answered
4

/< 3. Rajasthan
v 4 Kerala

Q.33 Mr Sriram mvested Rs.14,000 in FD. How much will he get on maturity, if he invested 1t at 20 %
Question ID

Status
Chosen Option

per annum compound interest for 6 months, compounded quarterly?

7 1. Rs. 15437
X 2. Rs. 15.434

Ans

19888374928
:Answered
4

75 3. Rs. 15436
o 4 Rs. 15435

Q.34 Kyoto Climate Change Conference took place in
Ans X 1. December 1994
' 2 December 1997

Question ID
Status

19888374872
:Not Attempted
Chosen Option :

/< 3. December 2000
/< 4. December 2004

Q35 The mean of the data 8, 0,3,3,1,7,4, 1,4, 41s:
K13
V235

Question ID
Status
Chosen Option

Ans

19888374941
:Answered
12

X 3.375
X 4.325

Q.36 The order of the layers of the atmosphere from the earth’s surface (moving away from the
surface) is -

T- e (NE APSEE IEA FASF W (T-

v

Question ID
Status
Chosen Option

76 T TeHa fow) -

Ans

19888374870
:Answered
1

Troposphere — Stratosphere — Mesosphere — Thermosphere
EenteaE - EEIPEIE - GONFeAE — AeiReaE
52

Mesosphere — Stratosphere — Troposphere — Thermosphere
RS AE - BERSAE - FeNReaE - Ao
X 3.

Stratosphere — Troposphere — Mesosphere — Thermosphere
TEIFSAE - SCIFeIR - GONFeIR — VeI
y 3

Mesosphere — Troposphere — Stratosphere — Thermosphere

GRS - EeNPead - SNEIReIE — Yt

Q.37 Which of the following is the first mammal species to be wiped out by human-induced climate change?
Question ID

Ans
Status

75 1. Ursus maritimus
/< 2. Panthera tigris

19888374902
:Not Attempted
Chosen Option :

+ 3. Bramble Cay melomys
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Q38 By rearranging TUOONRD, what do you get?

Ans

TUOONRD-(F WIfen@ =mafe fF seer?

X 1 Name of a river

96 g =

Name of an animal
AFfe "™F 9™

Name of a flower
aFf6 Hiera
Name of a train

AFG (EFEF aT

&2
& 3.

" ¥y

Question ID :9888374968
Status : Answered
Chosen Option : 4

Q.39 Given below 1s a statement followed by some conclusions. Decide which

of the given conclusions logically follow(s) from the given statements.
Statement:

The best evidence of India’s glorious past 1s the growing popularity

of Ayurvedic medicines in the West.

Conclusions:

I: Ayurvedic medicines are not popular in India.

II: Allopathic medicines are more popular in India.

Question ID : 9888374979
Status : Answered
Chosen Option :1

Ans  of 1. Neither I nor II follow
7< 2. Only conclusion II follows
< 3. Either I or II follows
7% 4. Only conclusion I follows
Q.40 The Andamans and Nicobars are separated by the ., which 1s 150 km wide.
Ans Question ID :9888374906

#< 1. Kardiva Channel

« 2. Ten Degree Channel
/< 3. Nine Degree Channel
/< 4. Mozambique Channel

Status : Answered
Chosen Option :2

Q.41 InMarch 2016, which of the following biosphere reserve was included in UNESCO’s World

Ans

Network of Biosphere Reserves?

« 1. Agasthyamala Biosphere Reserve
/< 2. Nilgiri Biosphere Reserve

7< 3. Nanda Devi Biosphere Reserve
/< 4. Simlipal Biosphere Reserve

Question ID :9888374901
Status : Answered
Chosen Option : 3

Q.42 18 men built a ship model in 7 days. How many days would 1t take for 15 men?

Ans

X187
7285
V384

w, 43
4, —
K4

Question ID : 9888374920
Status : Answered
Chosen Option :3

Q43 What will be the next number in the following series?

Ans

0,2,9,28, 65, ——
< 1,81
v 2126

Question ID : 9888374946
Status : Answered
Chosen Option :4
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Comprehension:

Read the following information carefully and answer the questions
given below it:

(1) Govind is shorter than Ashish but taller than Kamal.

(i1) Naren 15 shorter than Kamal.

(111) Jeyanth 1s taller than Naren.

(1v) Ashish 1s taller than Jeyanth.
SubQuestion No : 44

Q4 Wh 1 2
4 o among them 1s the tallest’ Question ID :9888374963

Ans X 1. Govind Status : Answered
Chosen Option : 4
/< 2. Jeyanth

7< 3. Naren
v 4 Ashish

Comprehension:

Read the following information carefully and answer the questions
given below it:

(1) Govind is shorter than Ashish but taller than Kamal.

(i1) Naren is shorter than Kamal.

(111) Jeyanth 1s taller than Naren.

(1v) Ashish 1s taller than Jeyanth.
SubQuestion No : 45

05-4 Which can be definitely deduced from the data? Question ID - 9838374965

- - Status : Answered
Ans of 1. Kamal is shorter than Govind. U w

Chosen Option : 1
#< 2. Jeyanth is the 2* tallest among the five.

7< 3. Kamal and Jeyanth are of same height.
/< 4. Govind and Jeyanth are of same height.

Comprehension:

Read the following information carefully and answer the questions
given below it:

(1) Govind is shorter than Ashish but taller than Kamal.

(i1) Naren 15 shorter than Kamal.

(111) Jeyanth 1s taller than Naren.

(1v) Ashish 1s taller than Jeyanth.
SubQuestion No : 46

Qé4 Who among them 1s the shortest? Question ID :9888374964

- Status : Answered
Ans X 1. Ashish us -Answ

) Chosen Option : 4
/< 2. Govind

/< 3. Kamal
+ 4. Naren




Q47

Ans

Below are given statements followed bmgol}lylhla an JO b S. | [] Question ID : 9888374967
be

have to take the given statements to be true even if they seem

at variance with the commonly known facts and then decide which

Status : Answered
Chosen Option :1

of the given conclusions logically follow(s) from the given statements.

Statement:

All caps are books. All books are pens.

Conclusions:

I: Some caps are not pens.

II: Some pens are caps.
+ 1. Only conclusion II follows
7% 2. Only conclusion I follows
#< 3. Neither I nor II follows

/< 4. Either I or II follows

Q.48

Ans

Given below 1s a statement followed by some conclusions. Decide
which of the given conclusions logically follow(s) from the given
statements.
Statement:

Question ID : 9888374980
Status : Answered
Chosen Option : 3

Industrial Revolution, which started in Europe first, has brought
about the modern age.

Conclusions:

I: Disparity between rich and poor results in a revolution.

II: Revolution overhauls society.

e a6 e o oF IF FESH Haw @sw;T
@E| AT FFa @ ame Agfesfie @@ fam (o)

EPBreeld SEHaT FAm

fergfs:

frg fAgs, W1 =07 /ETT BF @A, ©F IFEE
IoIE oA FE|

firars:

I: H9] AT WEEA " (SAEHE @ [EF 90

Il: 3 oS S Ao S|

X 1 Either I or II follows
2 | AT 1| SEHET FER

. Neither I nor II follow
“7 B 1A (FIALE ST FaR
~ Oaly conclusion IT follows
e B NE@ | SEyET FAR
Only conclusion I follows

e DY e/ | SEyET FEm

Q.49
Ans

Almatti Dam 1s a hydroelectric project on the river.
' 1. Krishna

/< 2. Yamuna

Question ID : 9888374871
Status : Answered
Chosen Option :3

< 3. Kaveri
< 4. Godavari

Q.50

Question ID :9888374956




If A denotes —, B denotes x, C denchttt-pg qﬁhlae‘ey JObS n Status : Answered
Ans x 1.56 : """ Chosen Option : 4
g4 csD6=
X 263
336
v 453
Q.51 { -
A DVD is an example of Question ID : 9888374892
Ans 5 1. Solid-state storage device Status : Answered
x 2 Dutput device Chosen Option :3
# 3. Hard disk
« 4. Optical disk
Q.52 If the product of two numbers 1s 3360 and their LCM 1s 96, then their HCF 1s:
A Question ID : 9888374916
ns
“ 135 Status : Answered
x 2. 33 Chosen Option : 1
X 334
X 429
Q.53 What is the highest denomination note ever printed by the RBI? i
Question ID : 9888374899
Ans X 1. Rs. 1,00,000 Status : Answered
J 2 Rs. 10,000 Chosen Option : 2
25 3. Rs. 5,000
/< 4. Rs. 1,000
Q.54 T° avoid train accidents in the future, Minister of Railways, Suresh Prabhu launched which of the following?
A Question ID : 9888374895
ns 3 g z 7 @
v 1. Mission ‘Zero Accident Status : Answered
7% 2. Mission “Rail Efficiency’ Chosen Option : 1
7% 3. Mission ‘Unmanned Crossings’
7< 4. Mission ‘Rail Safety’
Q.55 ' i ia’ ission?
Which of the following was India’s first Lunar Mission? Question ID :9888374879
fAEda (FEG SEEd T4 b GRIED. IERCREGH Status : Answered

Ans Aditya

Chosen Option

1

.l .

AVATAR
EEEIE]
Chandrayaan-1
BRI -5
ASTROSAT
SCEFG

& 2.
v
y 3

Comprehension:




Following is a record of the penht:tﬂlse: fic) ap’slyalrt@]@:bglq n

seven tournaments played in a year.

Tournament | Matches | Matches | Total matches
Won Lost played
First 3 8
Second 4 4 8
Third 5 2 7
Fourth 6 3 0
Fifth 4 2 6
Sixth 3 3 6
Seventh 2 4 6

SubQuestion No : 56

Qé5 ‘What percent of the matches did the team win overall?

Ans  of 1.58%
< 2.80%
< 3. 75%
< 4.52%

Comprehension:

Following is a record of the performance of a football team for the

seven tournaments played in a year.

Tournament | Matches | Matches | Total matches
Won Lost played
First 5 3 8
Second 4 4 8
Third 5 2 7
Fourth 6 3 9
Fifth 4 2 6
Sixth 3 3 6
Seventh 2 4 6

SubQuestion No : 57

Q7-5 ‘Which tournament was the best for the team?

Ans o 1. Third
7< 2. First
#< 3. Fifth
/< 4. Fourth

Comprehension:

Question ID : 9888374974
Status : Answered
Chosen Option :1

Question ID : 9888374973
Status : Answered
Chosen Option :1




Tournament | Matches | Matches | Total matches
Won Lost played
First 3 8
Second 4 4 8
Third 5 2 7
Fourth 6 3 0
Fifth 4 2 6
Sixth 3 3 6
Seventh 2 4 6

SubQuestion No : 58

%5 How many matches did the team win during the year?

Ans

SubQuestion No : 59

X< 1.50
<2721
W 329
< 425

Comprehension:

seven tournaments played in a year.

Following is a record of the performance of a football team for the

Tournament | Matches | Matches | Total matches
Won Lost played
First 5 3 8
Second 4 4 8
Third 5 2 7
Fourth 6 3 9
Fifth 4 2 6
Sixth 3 3 6
Seventh 2 4 6

Qg-5 Which tournament was the worst for the team?

Ans

Q.60 If = denotes +, < denotes —_ + denotes +_ # denotes x, — denotes = * denotes > and = denotes

Ans

« . Seventh
#< 2. Second
< 3. Sixth
#< 4. Fifth

<, choose the correct statement from the following:

X 19+9>0=9
K29<T+7=6
K TH#T=T+7=T#7=>1

Following is a record of the penht:tﬂlse: fic) ap’slyalrt@]@:bglq n

seven tournaments played in a year.

Question ID : 9888374975
Status : Answered
Chosen Option : 3

Question ID : 9888374976
Status : Answered
Chosen Option :1

Question ID : 9888374954
Status : Answered
Chosen Option : 4
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Q.61 In which of the following states is the ‘Loscong Festival® annually held?
Question ID :9888374897

Ans x 1. Nagaland Status : Answered
x 2. Uttar Pradesh Chosen Option : 1
v 2 Sikkim

X 4. Uttarakhand

Q.62 -
Complete the Analogy - Question ID : 9888374945
Speaker : Listener :: Film : - Status : Answered

H|Ei“ﬁ'@| ‘E[‘T G Chosen Option :1

FH 2 CMel ¢z e 2 -

Ans Viewer
v
T

Critic
&~ 2
EENGHI%D
Actor

SIfeEel

Broadcaster

53
p

Q.63 Asenvisaged in the Constitution of India, the Vice-President of India is elected by -

e W S, SEen SRS WE wA FEifte TR e - Question ID : 9888374865
Ans The President of India Status : Answered
x 1. Chosen Option : 2
RIEICERGINEIT

W2

The elected members of both Houses of the Parliament
AT TST WuEd [E16E STusysre

X3 The members of Rajya Sabha

drsiHerd HuHTE

The Prime Minister of India

x4'@|ﬁt@aﬂm§’r

Q.64 Mrs. Vijaya takes a total of @ hours 50 minutes in walking a distance and running back to same

place where she started. She could walk both ways in 12 hrs 20 minutes. The time taken by her to Question ID : 9888374924
run both ways is: Status : Answered
Ans X 1.7 hours 45 min Chosen Option :4

75 2. 7 hours 35 min
75 3. 7 hours 15 min
(4- 7 hours 20 min

Q.65 If Diamond is called Gold, Gold is called Silver, Silver is called Emerald and Emerald is called

Ruby, which is the hardest substance? Question ID : 9888374953
Ans x 1. Ruby Status : Answered
Chosen Option :2
v 2 Gold
#< 3. silver
/< 4. Emerald
Q.66 Anwesha Scheme which aims at providing quality education to SC and ST students was launched
by the government. Question ID : 9888374859
Ans X 1. Uttar Pradesh Status : Answered

Chosen Option :1




v 2. Odisha
— 3 E‘;i'];;rashh'a

https://haryanajobs.in

Q.67 Two buses start from a house at an interval of 5 minutes and move with a speed of 10 km/hr in
the same direction. With how much speed (km/hr.) should a woman coming from the opposite
direction towards the house travel, to meet the buses at an interval of 3 minutes?

Question ID :
Status :

9888374923
Answered

Ans x 1. 65 Chosen Option : 4
X26
X 361
3
V62
3
Q.68 : imilari i
Find the similarity among the following dance forms. Question ID - 9888374958
Kathak, Kathakali, Bharathanatyam, Madhubani Status : Answered
_ o Chosen Option : 4
Ans  of 1. There is no similarity at all
7% 2. All these originated in North India
/< 3. All are practiced by female artists only
#< 4. All are South Indian dance forms
Q.69 The House of the People (Lok Sabha) consists of not more than members chosen
by direct election only from territorial constituencies in the States. Question ID : 9888374881
Ans X' 1 550 Status : Answered
Chosen Option :1
X 2518
v 3530
X 4.525
Q.70 The cash difference between the selling price of an article at a profit of 4 % and 8 % 1s Rs. 3. The ]
ratio of two selling prices 1s: Question ID : 9888374931
Ans x 1.95-27 Status : Answered
| Chosen Option : 2
V2 2627
# 32631
X 426229
Q.71 Arrange the given English words in alphabetical order and choose the one that comes first.
Ans Question ID : 9888374949
x 1. Quarry Status : Answered
75 2. Quarter Chosen Option : 4
7< 3. Quarrel
' 4 Qualify
Q.72 As per the Railway Budget 2016, SMART coaches were proposed for more comfortable )
journeys. What does SMART stand for? Question ID : 9888374885
Ans x 1 Status : Answered
. . . . . Chosen Option :1
Scientifically Modified Automatic Refreshing Travel
X 2.
Scientifically Modified Aesthetic Refreshing Travel
X 3.
Specially Modified Automatic Refreshing Travel
« 4. Specially Modified Aesthetic Refreshing Travel
Q.73 Fy -
Find the odd one out: Question ID : 9888374957
faffiesfEm wur (v@ T @@ s Status : Answered




Ans

Tailor

wfd

Carpenter
Bleld

o

Goldsmith

FefFTE

Teacher
v

BRETY

p 0
52
p 3

https://haryanajobs.irgnosen option 4

Q.74 Which of the following countries passed its first Anti-Terrorism law in December 20157

Ans

/< 1. Australia
/< 2. Syria
& 3. India
v 4 China

Question ID
Status

19888374898
:Not Attempted
Chosen Option :

Q.75 Ms Revathi borrowed Rs. 600 at 6% per annum simple interest What amount (in rupees) will

she pay to clear her debt after 4 years? Question ID : 9888374926
Ans x 1. 700 Status : Answered
Chosen Option :3
X 2.150
V' 3 744
X 4144
Q.76 A 1s a piece of software code that can be applied after the software program has been
installed, to correct an issue with that program. Question ID :9888374890
Ans x 1. Tutorial Status : Answered
Chosen Option : 3
< 2. FAQ
v 5 Patch
2 4. Version
Q.77 X s % s
If + means x. + means +, — means +, X means —, then Question ID - 9888374955
(36x4)-8x4 _ Status : Answered
4+8x2+16+1 Chosen Option :2
Ans x 1.8
v2o0
X 31
X 44
Q78 gj o )
Simon Commission of 1927 was boycotted Question ID - 9888374905
lgz?ﬂﬂﬁ qﬁﬁ ﬁ-;'ﬁ aﬁﬂ—lﬁ- ﬁ' I 5{1' %EI — Status : Answered
Ans Chosen Option :2

to protest the arrest of Mahatma Gandhi

R ST (TeelEd afedmm
W2

as Indians were excluded from the Commission

BlFeAME SRME (U@ IW (W8I T
&~ 3

to protest the inclusion of Sir John Simon in the Commission
FRAE WE o9 ARTEAE SReE FAE AeAW
X 4

p O




to protest against the J allianw;hattplgpﬁhzawa n aj obs.in

SEAFSIET 19T Semela Ahedaim

Q.79 Who among the following players was conferred the ‘2015 ICC Emerging Player of the Year” Award?

Ans X 1. Joe Root
v 2. Josh Hazlewood
#< 3. Steve Smith
< 4. Mohammed Shami

Question ID : 9888374862
Status : Answered
Chosen Option :2

Q.80 Mr. Prasad travelled equal distances at speeds of 2 km/hr., 4 km/hr_, and 6 km/hr., and took a

total of 55 minutes to complete. Find the total distance he travelled, in km.

Ans ?(1-2
X 21
X34
3

Question ID : 9888374925
Status : Answered
Chosen Option :4

Q.81 Tustice A P Shah Committee was setup to work on the dispute regarding Oil and Gas blocks in

KG Basin between ONGC and

Ans  of 1 Reliance Industries Ltd

< 2. Essar Oil
/< 3. Hindustan Oil Exploration Company Ltd

/< 4. Bharat Petroleum Corporation Ltd

Question ID : 9888374858
Status : Not Attempted
Chosen Option : --

Q.82 Saha Institute of Nuclear Physics is located in -
Ans X 1. Tamil Nadu

# 2. Delhi

#< 3. Maharashtra

« 4. West Bengal

Question ID : 9888374893
Status : Answered
Chosen Option :4

Q.83 Right to Education became a fundamental right in -
Ans  of 1. April 2010

X 2. April 2004

2 3. April 2008

2 4. April 2012

Question ID : 9888374869
Status : Answered
Chosen Option : 2

Q.84 Which of the following is NOT a Fundamental Duty as per the Constitution of India?

fEs @EG SEted W ARt A%t G Fea T
Ans x 1.

to safeguard public property and to abjure violence

TATHIECE G %1 AT WRTel RS T899 F41

52

to value and preserve the rich heritage of our composite culture

aEeE e gfen wETEr MfenE T S 8 WA FA

53

to cherish and follow the noble ideals which inspired our national struggle for freedom

7% W el afeTE 8 ST FAl, (IS A S SEImE STy

TRAPE ST S

to vote in public elections

v TTETEEE FEE (©% (W

Question ID : 9888374880
Status : Answered
Chosen Option :3

Q.85

Question ID : 9888374883
Status : Answered




Ans

In 2014, the Reserve Bank of India (RBI) adopted the|

inflation.

an14 s IPI (Import Price Index)

et IPI (3A0TTe A3 399(03)

v

AT FAF 5=y

CPI (Consumer Price Index, rural and urban, combined)

CPI (FTHCAF T3 30, Fa9 NS SNFd, Noae )
WPI (Wholesale Price Index)

53

WPI (R 129 2A003)

PPI (Producer Price Index)

xe PPI ((AMTEEHE I39  2A003)

ﬁ‘[tps—f/ﬁ‘éef%ﬁféj () bS i | [§hosen Option :2

Q.86 Find the next term of the series:

3F, 6G, 111, 18L.

Question ID :
Status :

9888374950
Answered

Ans x 1. 25N Chosen Option : 4
X 2. 27N
< 3.25P
v 4 27P
Q.87 g g 2
Simplify:(3y)* +x* - (2pf Question ID 19888374933
Ans x 1. ¢t 8y Status : Answered
Chosen Option :4
X2 x4yt
X3 xi—y?
v x5 yl
Q.88 In January 2016, took charge as the India’s ambassador to Thailand.
Ans ( h ; . . Question ID :9888374877
. Bhagwant Singh B o1 Status : Not Attempted
< 2. Anil Wadhwa Chosen Option : --
/< 3. Pinak Ranjan Chakravarty
/< 4. Harsh Vardhan Shringla
Q.89 A woman invests Rs. 4000 at the start of each year at 5% compound interest per annum. How
much will her investment be at the end of the 2 year? Question ID : 9888374936
Status : Answered
Ans 1. Rs. 8601
x . Chosen Option : 4
X 2. Rs. 8615
3. Rs. 8600
« 4 Rs.8610
Q.90 According to data from NASA's Cassini mission, a “global ocean’ lies beneath the icy crust of
Saturn's moon named Question ID : 9888374894
Ans x 1 Tethys Status : Not Attempted
Chosen Option : --
< 2. Mimas
#< 3. Rhea
v 4 Enceladus
Q91
Question ID : 9888374966
Status : Answered
Chosen Option :4




Below are given statements followed bﬁ@ggzm-map aJ (o) bS . | N

have to take the given statements to be true y see

at variance with the commonly known facts and then decide which
of the given conclusions logically follow(s) from the given
statements.

Statement:

Some ducks are birds. Some birds are cows.

Conclusions:

I: Some ducks are cows.

II: Some cows are ducks.

e FESt {736 o erE F@sb fas e
T SAPES HE e 7@ (T amg fAgfesf ey,
aE T ST TSRS e T¥EE (WS oS W
IR ST T FAE @ @ e EfesfiE @@

far(sfh) I meerm sguas Fam

Rrefe:

Ans _ . Only conclugion IT follows

ﬁ?;_s_sqmﬁ fram 11 SET FAE

s Either I or II follows
Ry | AT ST FAm
1= AT R ORI

x * Only conclusion I follows
3.
DY HmE | SEpTET AR
Neither I nor II follows

Y1 am 1 @R SR FAe Al

Q.92 Mr. Arun borrowed Rs. 6500 at 4% per annum compound interest. The compound interest
Question ID : 9888374927

Status : Answered

compounded annually for 2 years 1s:

Ans  of 1. Rs 5304
< 2. Rs. 73004

Chosen Option :1

/< 3.Rs.503.4
X 4. Rs. 70304

Q.93 Which one of the following has the largest population in a food chain?
Question ID : 9888374888
fraffiealm oy @EE AT TUaE WHEE T & ,
Status : Answered

Ans Secondary Consumers Chosen Option : 4

1.
gely IEA A
X 2 Primary Consumers

Decomposers
3.

ElRISED

Producers

v BRAMS

Q94 1f G = 7, EXCEL = 49, then ACCEPT = - Question ID : 9888374951

Ans x 1.343 Status : Answered
& 249 Chosen Option :3

v 5 48
X 458

Q95 Elephants, Bears and Rhinos are examples of - Question ID ;9888374887




Ans

X 1. Birds https://haryan?jobs.i

\f 2. Mammals

n Status : Answered
Chosen Option : 2

/< 3. Amphibians
75 4. Reptiles

Q96 TNSAT-2E was launched from

Ans

Z 1. India
\’ 2. French Guiana

Question ID :9888374878
Status : Answered
Chosen Option :1

< 3. Peru
/< 4. Mayotte

Q.97 Mr. Rajesh is twice as good a worker as Mr. Vishal and together they finish a piece of work in 28

Ans

days. In how many days will Vishal alone finish the work?

X 156
X 2112

Question ID : 9888374922
Status : Answered
Chosen Option :3

v 5 84
< 4.80

Q.98 What is 15% of 757

Question ID : 9888374934

Ans X 1.115 Status : Answered
x 2.11.75 Chosen Option : 4
X311
v 41125
Q.99 The Organisation for the Prohibition of Chemical Weapons (OPCW) is headquartered in
Question ID : 9888374873
Ans o 1. Netherlands

X 2. Switzerland

Status : Not Attempted
Chosen Option : --

X 3. Sweden
75 4. Denmark

Q.10 In 1930, the first phase of the Civil Disobedience Movement, viz. the Salt Satyagraha, began with

0
Ans

Mahatma Gandhi's marathon march from

\’ 1. Sabarmati
# 2. Dandi

Question ID : 9888374884
Status : Answered
Chosen Option :1

/< 3. Bombay
#< 4. Delhi

Q.10 Dinesh is brother of Rakesh. Renu is sister of Ajith. Rakesh is son of

1

Ans

Renu. How is Dinesh related to Renu?
7< 1. Brother

Question ID : 9888374960
Status : Answered
Chosen Option :2

v 2. Son
< 3. Uncle
/< 4. Father

Q.10 A water tank has two holes. The 1* hole alone empties the tank in 8 minutes and 2" hole alone

2

Ans

empties the tank in 12 minutes. If water leaks out at a constant rate, how many minutes will it

take, if both the holes together empty the tank?

Question ID :9888374921
Status : Answered
Chosen Option : 2

4
1. —
x :
4

2. 42
v :




X 42 https://haryanajobs.in

X 4. 4%

Q.10 Mr Manju sold a bus for Rs 17,000 at a loss of 15%_ At what price should the bus be sold to get
3 aprofit of 15%?

Ans  of 1 Rs.23.000
< 2. Rs. 23,500
7< 3. Rs. 24,000
< 4. Rs. 24,500

Question ID :

Status
Chosen Option

9888374929

:Answered
1

Q.10 Inaclass test astudent scored 21 marks out of 25 marks. The student’s marks in percentage terms is:
4

Ans x 1. 85

Question ID
Status

19888374932
:Answered

Chosen Option :3
X 283
v 3 84
X 486
Q.10 The Geneva IT Conference was a United Nations-backed International peace conference on the
5 future of Question ID :9888374860
Ans x 1. Tran Status : Answered
Chosen Option : 3
< 2. Pakistan
/X 3. Iraq
W 4 Syria
Q.10 ; o
6 How many g1gahj.rtes make teraby‘te_ Question ID : 9888374891
Ans x 1.128 Status : Answered
Chosen Option :4
X216
< 3256
v 41024
Q.10 Inthe Railway Budget 2016, which of the following was NOT mentioned as the pillars of
7 steategy for Indian Railways? Question ID : 9888374900
. Status : Not Attempted
Ans 1. Nav Arjan
x Alj Chosen Option : --
/< 2. Nav Manak
' 3 Nav Nirman
7 4. Nav Sanrachna
Q.10 Ty
8 Find the HCF of 1048 and 1441. Question ID : 9888374915
Ans x 111 Status : Answered
Chosen Option :3
X 2311
Vv 3 131
X 4113
Q.10 .
9 Complt::te the ﬁnalogy ) Question ID : 9888374943
——————————— : Foot :: Hand : Wrist Status : Answered
”i el ﬁ"f P Chosen Option : 2

Ans




https://haryanajobs.in

Q.11 The number of sides of a regular polygon whose exterior angles are each 10° is:

0
Ans

v
X
X

1. 36
2. 63
3. 46

X 4. 38

Question ID
Status
Chosen Option

19888374935
:Answered
1

Q.11 Two numbers are in ratio 1:2 and their HCF 15 16. Their LCM is:

1 Question ID :9888374917
Ans x 1.16 Status : Answered
Chosen Option :3
X223
v 3 32
X 4. 60
Q.11 InDecember 2015, who among the following was appointed as the new Chief Operating Officer
2 (COO) of Apple Inc.? Question ID :9888374903
Ans x 1 Johnj,r Srouji Status : Not Attempted
Chosen Option : --
#< 2. Tim Cook
/< 3. Philip Schiller
W 4. Jeff Williams
Q.11 Arun is the father of Chithra and Dinesh is the son of Bavana. ion D - 9888374961
3 Manish is Arun’s brother. If Chithra is Dinesh’s sister, how is Question ID :
Bavana related to Manish? Status : Answered
S T SA AT AR B e SETE (R Chosen Option :4
e e SFeE e A foar SlEeE @ e, e
O] HH@E (F 2?
Ans X 1 daughter
el
x 2 sister
CIC]
x mother-in-law
3.
TS
v sister-in-law
Q.11 : :
A The median ofthe data 3,3,5,7,8,8,8,9, 11,12, 12 18 Question ID - 9888374942
Ans x 1.9 Status : Answered
Chosen Option : 3
X27
VR
X412
Q1 e surt i £ a sphere with radius 2 cm is: ( Take 7 = >
5 e surface area (in sq.cm.) of a sphere with radius 2 cm 1s: ( Take 7= T) Question ID : 9888374937
Ans Status : Answered




W 1.352/7

o aani
X 3.352/21

X 4.350/7

httpS//haryanélobSIﬁhosen Option :

Q.11 A question and two statements labeled (I), (II) are given. You have to

6 Question ID : 9888374978
decide which statement(s) is/are sufficient to answer the question.
Status : Answered
Chosen Option :2
In a code ‘lee pin tee' means ‘Always keep smiling’. What is the code
for smiling?
1. In the same code, ‘tee lut lee’ means ‘Always Keep left’.
I1. In the same code. ‘dee pin® means “Rose smiling’.
Ans 5 1. Both the statements together are needed.
#< 2. Statement I alone is sufficient.
< 3. Statement II alone is sufficient.
« . Either I or II alone is sufficient.
Q1 _
. For a Computer, BIT stands for Question ID : 9888374889
Ans “ 1 Binarj,r Digit Status : Answered
o Chosen Option :1
/< 2. Built-in Integer
/< 3. Binary Task
/< 4. Binary Integer Transfer
Q11 i =7 indi ; 1
5 Correct expression of 2.56=7 (the bar indicates repeating decimal) Question ID : 9888374912
Ans Status : Answered
< 2% Chosen Option :2
90 osen Option :
( 2. 2%
a9
p 3 2.6
1000
p 3 236
100
Q.11 Pointing to an old man, Malini said, “His son is my son’s maternal )
9 ] o Question ID :9888374959
uncle™. How 1s the old man related to Malim? Status : Answered
Ans ( 1. Father Chosen Option : 1
/< 2. Nephew
#< 3. Grandfather
X 4. Brother
Q.12 Inwhich of the following cases can Total Internal Reflection (when angle of incidence 1s greater
0 than the critical angle) take place? Question ID :9888374866
When light travels from - Status : Answered
Ans X 1. Glass to Diamond Chosen Option :2

\, 2. Diamond to Air
75 3. Air to Water
75 4. Air to Glass
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